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[4764] Ext. - 101

M.Com. (Semester - I) (External)
MANAGEMENTACCOUNTING
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) What does mean by Responsibility Centre? How are they classified? Explain

the utility of these centers to management? [15]
OR

Prepare a Balance Sheet from the particulars furnished hereunder.

a) Inventory Turnover Ratio 6

b)  Gross Profit Margin 20%

c) Capital Turnover Ratio 2

d) Fixed Assets Turnover Ratio (Cost of Sales) 4

e) Debt Collection Period 2 Months

f)  Creditors payment period 73 Days

g) Gross Profit Rs. 3,00,000/-

h) Reserves & Surplus Rs. 1,00,000/-

Excess of Closing Stock over Opening Stock was Rs. 25,000/-

The Entire Sales and Purchases are made on credit basis.

02) What do you mean by analysis of financial statements? Give brief account of
the techniques of finacial statement analysis. [15]

OR

On 1* April 2014, the Board of Directors of Sunshine Ltd. desire to know the
amount of working capital. Productions during the previous year was 30,000

PT.O.



units & it is proposed to maintain the same during the year 2014-15.

The expected ratios of Cost to Selling price are :-

a)
b)

c)

Raw Material 60%
Direct Wages 10%
Overheads 20%

Following further information is available.

a) Raw Materials are expected to remain in stores for an average of two
months whereas Finished Goods will stay in warehouse for three months.

b)  Production process time is of one month

c) Credit given to customers is of three months & allowed by supplier is of
two months.

d) Lag in payment of wages is one and half month.

e) Delay in payment of Overheads is one month.

f)  25% of the output is sold against cash.

g) Cash in hand and at bank is expected to Rs. 1,50,000/-

h)  Selling price is Rs. 250/- per unit.

03) Balance Sheets of Sunita Ltd. as on 31.03.2013 & 31.03.2014.
Liabilities 31.03.2013]31.03.2014| Assets 31.03.2013(31.03.2014
Equity Capital | 12,00,000| 16,00,000| Land & 8,00,000| 6,80,000

Building
8% Preference | 6,00,000( 4,00,000| Plant 3,20,000| 8,00,000
Capital
Share Premium - 80,000 Investment 4,80,000| 4,40,000
General 1,90,000| 2,50,000( Stock 3,08,000| 4,36,000
Reserve
P& L A/c 1,90,000| 2,62,000( S Debtors 6,00,000| 7,12,000
S. Creditors 1,80,000( 2,52,000| Cash & Bank 1,40,000| 1,60,000
Bills Payable 1,20,000| 1,44,000| Preliminary 60,000 40,000
Expenses
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Prov. for Tax 60,000 80,000

Proposed 1,68,000| 2,00,000

Dividend

Total 27,08,000|32,68,000 Total 27,08,000 |32,68,000

Additional Information :-

a) Provide Depreciation on all fixed assets @ 15% p.a.

b) During the year, a machine having written down value Rs. 48,000/- was
sold for Rs. 40,000/-

c) During the year Investmentswere sold @ Rs. 20% premium

d) Provision was made for taxation during the year Rs. 90,000/-

e) Company redeemed its 8% Redeemable Preference Shares at 10% premium.

Prepare Schedule of Changes in Working Capitaland Statement of Sources

and Application of Funds along with necessary workings. [20]

OR

Write Short Notes (Any two)

a)
b)
c)
d)

Advantages and disadvantages of Cash Flow Statement
Scope of Management Accounting.
Distinguish between Cost Accounting and Management Accounting.

Receivable Management.

ARMARM™XR
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Total No. of Questions : 3]

P3398
[4764] Ext. - 101

M.Com. (External)
FINANCIALANALYSISAND CONTROL

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of calculator is allowed.

Q1) Rama Ltd. having the following two proposals of investment. [15]
Particulars Proposal 'A' | Proposal 'B'
Cost of investment () 2,00,000 2,80,000
Life of Assets (Years) 4 5
Scrap Value Nil Nil
Net Income after depreciation and tax :

Year Proposal 'A' | Proposal 'B'
®) )
2009 5000 Nil
2010 20,000 34,000
2011 35,000 34,000
2012 25,000 34,000
2013 - 34,000

It is estimated that each of the project will require an additional working
capital of Rs. 20,000 which will be received back in full after the expiry of
each project life.

Depreciation is to be provided under straight line method. The present value
of X1 to be received at the end of each year at 10% per annum is given below.
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Year Present Value
)
0.91
0.83
0.75
0.68
0.62

N AW N =

You are required to assess the profitability of the projects on the basis of
the following methods.

a) Return on Investment
b) Pay-back period.
c) Discounted pay back period
d) Profitability Index.
OR

Goyal Corporation Ltd. has prepared the following Budget estimates for the
year 2012-2013.

Sales (Units) 15000
)
Fixed Expenses 34,000
Sales value 1,50,000
Variable costs (Per unit) 6

You are required to : -
a) Find the p/v Ratio, break-even point and margin of safety.

b) Calculate the revised p/v Ratio, break-even point and margin of safety in
each of the following cases.

i)  Decrease of 10% in selling price.
i) Increase of 10% variable cost.
iii) Increase of sales volume by 2000 units.

iv) Increase of Rs. 6000 in fixed costs.
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02) A factory is currently working at 60% capacity and produces 1200 units, at a

cost of ¥250 per unit as per details given below : [15]
Particulars Per Unit
3
Direct Material 100
Direct Labour 60
Variable Overheads 30
Fixed Overheads 20
Variable Expenses (Direct) 10
Selling Expenses (20% Fixed) 15
Administration Expenses (90% Fixed) 10
Distribution Expenses (80% Variable) 5
Total 250

The current selling price is ¥ 300 per unit. At 70% capacity working, material
cost per unit increases by 2% and selling price per unit falls by 2%.

At 90% capacity working, material cost per unit increases by 5% and selling
price per unit falls by 5%.

Estimate profits of the factory at 70% and 90% working capacity.
OR

The standard cost of a unit of a product shows the following costs of material
and labour.

Material : 4 pieces @ % 5.00
Labour : 10 hours @ X 1.50

5700 units of the product were manufactured during the month of March
2013. With the following material and labour costs.

Material : 23,000 pieces at ¥ 4.95 each.
Labour : 56,800 hours at ¥ 1.52 each.
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You are required to calculate :

a)
b)
c)
d)
e)
f)

Material Price Variance

Material Usage Variance
Material Cost Variance

Labour Rate Variance

Labour Efficiency Variance, and

Labour Cost Variance

Q3) Write Short Notes (Any Two) :

a)
b)
c)
d)

Measurement of cost of capital
Make or buy decision
Overheads cost Variance

Master budget.
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P3399

[4764] Ext. - 102 [Total No. of Pages : 4
M.Com. (External) (Part-1)
STRATEGIC MANAGEMENT
(2013 Pattern) (Compulsory)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Define the concept of strategic management? Explain strategic management
process. [15]

OR

What do you mean by strategic Implementation? Distinguish between financial
planning & manpower planning.

02) What are the areas/issues in finance where strategic formulation is required?[15]
OR

Define Research & Development strategy? Explain its Need & Formulation.

03) Write Short Notes (Any Four) : [20]
a) Total Quality Management
b) Mergers of companies
c) Business process Reengineering
d) SWOT Analysis
e) Strategic options at company Level

f)  Advantages of strategic planning.

RMARM™XR
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Total No. of Questions : 3]

P3399 [4764] Ext. - 102
M.Com. (External) (Semester - IT)
INDUSTRIAL ECONOMICS
(2013 Pattern) (Compulsory)

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Explain scope and Limitations of Industrial Economics. [15]
OR

State and explain factors influencing on Industrial Location.

02) Define Industrial profitability. Explain measurement of Industrial profitability.[15]
OR

Explain role and problems of small and medium Enterprises (SME)

03) Write Short Notes (Any Two) : [20]
a) Sargent Florence Theory of Location.
b) Industrial Productivity.
c) Role of Private sector Enterprises.

d) Regional Industrial Imbalance.



Total No. of Questions : 3]

P3399

[4764] Ext. - 102
M.Com. (External) (Semester - IT)
INDUSTRIAL ECONOMICS
(2013 Pattern) (Compulsory)

(AT TATR)

e -— 1) @ 97 @islavl Sravad Sigd.

2) ITEIHSIT 3k qul T FIAAT.
3) @ewlardt g A 9T ulAesT g

97 1)

97 2)

97 3)

SAENTeR 19Tl SaTHt SATUT AAieT €U .
e
Sfrenfirer Tum fAfvadier ywE 2reRum |rm 9 g w10,

SR TTHIEA SaEd 2. JEfieh TWSEd= JIa- T8 .

feRan
Y U1 HEAH IUSHATE T 0T THE T8 .

el feut foret (hivrearrdl 2)

) TAFHTHCE TiE TR g
q) 3iEnfies IcarEehdn

F) WIS SUSHAT e

7) R sl smwde

[15]

[15]

[20]



Total No. of Questions : 4] SEAT No. :

P3400 [4764] Ext. - 103 [Total No. of Pages : 7

M.Com. (External) (Semester - II)
BUSINESS STATISTICS
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Use of statistical tables and calculator is allowed.

4) Symbols have their usual meanings.

SECTION -1

Q1) Attempt any two of the following :
a) Consider a random experiment of tossing a die 5 times. Treat success as
3 appears on uppermost face. Write down probability mass function of
number of successes. Also state it's mean and variance. (7]
b) State probability mass functions of Binomial and Poisson distribution.
State probability density function of Normal distribution. Also state

Limiting relations among these distributions. [7]

c) Find mean and variance of a continuous random variable X whose
probability density function is given by : [7]
flx) =12x*(1-x) if0<x<I1

= (0 otherwise.

02) Attempt any two of the following :

a) 1)  The following information is collected on two characters : [4]
Cinegoers Non-cenegoers
Literate &3 57
Illiterate 45 65

Based on this information can you conclude that there is no association
between habits of cinema watching and literacy at 5% level of significance.

Given y? =3.81, y7=5.99, y;=7.81at 5% L.O.S.

i) A sample of 400 people is found to have mean weight of 50.47 kg
Can it be regarded as a sample from large population with mean
weight of 52 kg. at 5% L.O.S. (Given Population Standard deviation
1.2kg.) [3]
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b)

A hospital switchboard receives on an average 4 emergency call in
a 10 minutes interval. What is the probability that there are at least 3

calls in an interval of 10 minutes? (given e*=0.018316) (4]
A random variable X has following probability distribution:  [3]
X 1 2 3 4 5
P(X =x) 5K 8k 15k Tk Sk
Finda) K

b) P(1<X<3)

c) P(X>4)

A production department of a company knows from the past
experience that there is 30% chance of finding defect. If 10 units of
the product are examined, using binomial distribution find probability

that not more than 1 defective product is found. (4]
Let X — B(n,p). If E(X) = 4, Var(X) = 3, find n and p. Also find
P(X = 0). [3]

03) Attempt the following :
If X is a Normal variate with mean 30 and SD 5. Find [7]

a)

b)

Vi)

vii)

P(26 <X <40)
P(X >45)
P(X <25)
P(X >30)
E(2X)
Var (2X)
Var 3X —5)
OR

Following are the average weekly loss of work hours due to accidents in
ten industrial plants before and after safety program was put in to
operation : [7]

Plant No. | 1 213 -4 5 6 7 8 9 10

Before |45 | 73| 46| 124 | 33 | 57 [ & | 34 | 26 | 17

After 36 | 60|44 | 119 [ 35 | 51 (77 | 29 | 24| 11

Test whether the safety program was effective at 5% L.O.S.
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d)

A company wants to decide which of the two types of tyres should be
used for their trucks. Company determined the following information

regarding their lives in miles. [7]
Brand I II

Mean 20,000 25,000
Population s.d 4,000 2,800
Sample size 100 100

Is the difference in their average life significance? Use 5% level of significance.
OR

Marks scored by candidates are normally distributed. 44% of the
candidates obtained marks below 55 and 6% of the candidates scored
marks above 80. Find the mean and variance of marks. [7]

04) Attempt any two of the following :

a)

b)
c)

Explain the concept of parameter and its estimate. Also define unbiased
estimator. [4]

Explain the procedure of T-Test for equality of two population means.[4]

Give two real life situation where normal distribution can be used. Also
write four properties of normal distribution. (4]
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P3400 [4764] Ext. - 103
M.Com. (Part - I) (External)
STRATEGIC MANAGEMENT
(2013 Pattern) (Compulsory)

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Define the concept of strategic management? Explain strategic management
process. [15]

OR

What do you mean by strategic Implementation? Distinguish between financial
planning & manpower planning.

02) What are the areas issues in finance where strategic formulation is required?[15]
OR

Define Research & Development strategy? Explain its Need & Formulation.

03) Write Short Notes (Any Four) : [20]
a) Total Quality management
b) Mergers of companies

c) Business process Reengineering



d) SWOT Analysis
e) Strategic options at company Level

f)  Advantages of strategic planning.
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Total No. of Questions : 3] SEAT No. :

P3401 [4764] Ext. - 104 [Total No. of Pages : 11

M.Com. (Part - I) (External)
ADVANCED ACCOUNTING
Advanced Accounting and Taxation (Group -A)
(2013 Pattern) (Special Paper - I)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3)  Give working notes wherever necessary.

Q1) Explain the concept of Accounting theory. State the accounting principles in detail.[15]
OR
Write short notes (Any two) :
a) Accounting Environment.
b) Role of Accounting Theory.
c) Important steps in Leasing.
d) Types of Leasing.

02) The Balance sheet of ABC manufacturing Co. Ltd. discloses the following

financial positions as on 31% March 2014. [15]
Balance Sheet as on 31% March 2014
Liabilities Rs. Assets Rs.

Paid up capital - 30,000 3,00,000 [ Good will at cost 30,000

Shares of Rs. 10 each fully Land and Buildings  |1,75,000

paid Plant and Machinery 90,000

Capital Reserve 60,000 | Stock at cost 1,15,000

Sundry creditors 71,000 | Book debts - 98,000

Provision for Taxation 55,000 | Less Provision for

Profit & loss A/c 26,000 | doubtful debts - 3,000| 95,000

Other assets 7,000

5,12,000 5,12,000

Your are asked to value the good will of A,B,C manufacturing Co. Ltd. for

which purpose the following information is supplied.

a)  Adequate provision has been made in the accounts for income tax and depreciation.

b) Rate of income tax may be taken at 50%.

c) Theaverage rate of dividend by the company for the past five years was 15%.

d) The reasonable return on capital invested in the class of business done
by the company. - 12%.
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OR
Following was the Trial Balance on 31 March 2014 of Delhi Branch of an

English firm having Head Office in London. [15]
Particulors Rs. Rs.
Stock on - 1.4.2013 12,600 -
Purchases and Sales 75,000 1,12,500
Debtors and Creditors 39,000 26,000
Bills Reveivables and Bills Payables 10,400 9,100
Salaries & Wages 4,800 -
Rent, Rates and Taxes 5,100 -
Furniture 4910 -
Cash at bank 28,990 -
London Account - 33,200
1,80,800 1,80,800

On 31% March 2014 the stock was valued at Rs. 32,500. The debit balance of the
branch account in London books on 31 March 2014 was £ 2,680 and furniture
account appeared at £ 350. on 3 1% March 2014. there was cash. in transit from Delhi
to London amounting to Rs. 2,600. The rate of exchange on 31% March 2013 was
Rs. 14 and on 31% March 2014 was Rs. 13. Average rate of 2014 was Rs. 12.
Prepare the Branch trading and profit and loss Account and Balance sheet in
the Head office.

03) The following are the summerised Balance Sheets of ALtd., B Ltd. and C Ltd. as

on 31 March 2014. [20]
Balance Sheets as on 315 March 2014
Liabilities AlLtd. | BLtd. | CLtd. | Assets AlLtd. | BLtd. | CLtd.
Rs. Rs. Rs. Rs. Rs. Rs.
Share Capital Good will 30,000 - -
Equity shares Fixed Assets 2,00,000 | 3,00,000 {1,80,000
of Rs. 100 each investments
fully paid 5,00,000| 4,00,000 |1,50,000| Aequired on 1*
Profit & loss A/c| 1,20,000 | 1,00,000 | 52,000 | April2013
3,000 Equity
Creditors 20,000 | 25,000 [ 8,000 | SharesinBLtd | 3,50,000
1,200 Equity
Shares in C Ltd. - 1,40,000 -
Stock in trade 50,000 | 40,000 | 20,000
Debtors, Cash
at bank 10,000 | 45,000 | 10,000
6,40,000 | 5,25,000 | 2,10,000 6,40,000 | 5,25,000 {2,10,000
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Further Information

a)

b)

On 1* April 2013, Credit balances in profit and loss Account before
taking into account the proposed dividend

were :

A. Ltd. - Rs. 80,000
B. Ltd. - Rs. 48,000
C. Ltd. - Rs. 3,000

10% dividend was distributed by A. Ltd. for the year 2012-2013 on
30" June 2013.

Proposed dividend for 2013-2014 to be paid wholly from the profits for
that year are :-

A. Ltd. - 10%

B. Ltd. - 5%

C. Ltd. - 10%

Prepare a consolidated Balance Sheet as on 31 March 2014.
OR

Following are the details regarding A. Ltd. which went into voluntary liquidation
as on 31 March 2014. [20]

Liabilities Rs.

3,000 Equity shares of Rs. 100 each. Rs. 80 called and paid 2,40,000
6%, 1,000 preference shares of Rs. 100 each fully paid

Rs. 1,00,000
Less calls in arrears a floating (Expected to be realised
in fully) Rs. 5,000
5% Debentures having Floating charge on the 95,000
assets (Interest paid up to 30.09.2013) 1,00,000
Mortgage on Land and Buildings 80,000
Trade creditors 2,65,000
Wages outstandings 20,000
Secretary's salary of the rate of Rs. 500 p.m. outstanding 3,000
Managing Director's salary @ Rs. 1,500 p.m. outstanding 6,000
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Assets Estimated to | Book valve
Produce Rs. Rs.
Land and Buildings 1,30,000 1,20,000
Plant 1,30,000 2,00,000
Patents 30,000 50,000
Tools 4,000 20,000
Stock 74,000
Accounts receivables 60,000 87,000
Investment (pledged with bank for 90,000
an overdraft of Rs. 1,90,000) 1,70,000 1,80,000

On 31.3.2013 the balance sheet of the company shared a general Reserve of
Rs. 40,000 accompanied by a debit balance of Rs. 25,000, in the profit and
Loss Account. In 2013-2014 the company made a profit of Rs. 40,000 and
declared a dividend of 10% on equity chanes. The company suffered a total
loss of Rs. 1,09,000 besides loss of stock due to fine Rs. 40,000 during
2010-2011, 2011-12, and 2012-13. For 2014 accounts were not made. The

cost of winding up is expected to be Rs. 15,000.

You are required to prepare a statement of affairs and deficiency. Account

of the company as on 31 March 2014.
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M.Com. (Semester - II) (External)

ADVANCED ACCOUNTING & TAXATION (Special Paper - 11I)

Specialised Areas in Accounting (Group-A)
(Credit System) (2013 Pattern)

Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3)  Use of Pocket calculator is allowed.

Q1) Amar Limited agreed to acquire the business of Kumar Limited as on
315t March 2014. The summarized balance sheet of Kumar Ltd. on that date
was as under - [15]
Liabilities Rs. | Assets Rs.
Share Capital in Fully Paid|3,00,000] Goodwill 50,000
Share of Rs. 10 each Land, Building and Machinery |3,20,000
General Reserve 80,000| Stock — in — trade 84,000
Workmen's Compensation| 5,000 Debtors 18,000
Fund Cash and Bank Balance 28,000
Profit & Loss A/C 55,000
6% Debentures 50,000
Creditors 10,000

5,00,000 5,00,000

The Consideration payable by Amar Ltd. was agree as under -

a)
b)

c)

Cash payment equivalent to Rs. 2.50 for every share of Rs. 10 in Kumar Ltd.
Issue of 45,000 Rs. 10 share fully paid, in Amar Ltd. having an agreed
value of Rs. 15 per share.

Issue of such an amount of fully paid 5% debentures of Amar Ltd. at
96% 1is sufficient to discharge the 6% Debentures of Kumar Ltd. at a
Premium 20%.

While arriving at the agree consideration the Director of Amar Ltd. valued
land building and machinery at Rs. 6,00,000 the Stock - in - trade at
Rs.71,000 and the Debtors at their book value subject to an allowance of
5% to cover doubtful debts. The cost of liquidation of Kumar Ltd. was
Rs. 2,500

On the date acquisition, Kumar Ltd. had a liability toward a Workman for
compensation against an injury. The amount was ascertained at Rs. 3,000.
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The Company paid the compensation in cash to the worker.
Amar Ltd. also issued to the Public 5,000 share at Rs. 10 each at Rs. 15
per share. The share. were fully subscribed and paid for.
You are required to draft Journal Entries and Prepare the Ledger accounts in
the book of Kumar Ltd.

OR
From the following prepare Profit and Loss A/c for the year ended 31-03-2014
and Balance Sheet as on that date of Pragati Transport, Pune. [15]
Name of the Account Debit Bal. Rs. | Credit Bal. Rs.
Trade expenses 56,690
Passenger fare 17,50,000
Luggage charges from passengers 60,000
Income from Advertisement 18,000
Repairs and Maintenance 20,400
Salary to Drivers 45,700
Transport Commission 35,160
R.T.O. Tax and Entries 28,000
Servicing charges 2,000
Investments 52,000
Loans (Secured) 30,00,000
Interest on loans 2,80,000
Sundry Creditors 25,000
Sundry Debtors 10,000
Tyres and Tubes expenses 45,000
Insurance 13,800
Automobile Expenses 1,000
Unloading Charges 800
Diesel 30,300
Spare parts 1,600
Grease Oil 1,176
Lubricating Oil 6,324
Cash and Bank Balance 38,000
Cotton waste 900
Distilled water 50
Telephone Bill 10,800
Sale of scrap 9,000
Printing and Stationery 22,300
Vehicles 50,00,000
Furniture 40,000
Capital 8,80,000
57,42,000 57,42,000

Depreciate vehicles by 20% p.a., and Furniture @ 10% p.a., Stock of diesel
was Rs. 2,000/- on 31-03-2014.
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Q2) Following is the Trial balance of Hotel Payal Pune, as on 31 March, 2014
You are required to prepare the profit and loss Account for the year ended
315 March, 2014 and the Balance sheet as on that date. [15]

Trial Balance

As on 31% March 2014

Debit Balance Amount | Credit Balance Amount
Stock 25,000 | Capital 6,00,000
Sundry Debtors 25,000 | Room Charges 2,885,000
Cash in Hand 50,000 | Food and Beverages | 2,15,000
Kitchen Appliances 60,000 | Discounts Received 5,000
Salaries and Wages 50,000 | Sundry Creditors 15,000
Utensils 1,10,000 | Sundry Receipts 94,000
Purchases 1,75,000 |Bank Interest 10,000
Repairs and Renewals 4,000
Telephone Bills 7,000
Furniture 1,75,000
Printing and Stationery 10,000
Power and Fuel 15,000
Advertising 15,000
Drawings 25,000
Bad Debts 5,000
Building 1,70,000
Rates 3,000
Motor Car 2,00,000
Investment 1,00,000
Total 12,24,000 | Total 12,24,000

Prepare the final Accounts after considering the adjustment given below
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a) A sum of Rs. 10,000 representing room charges Rs. 7,500 food and
Beverages Rs. 2,500 to be charged to proprietor of the hotel.

b) A depreciation is to be provided on Buildings @ 10% on Motor Car
@15% on Furniture @5% and Kitchen appliances @20%.

c) Salaries and Wages are outstanding Rs. 2,000.
d) The purchases of Rs. 5,000 remained unrecorded.
Utensils of Rs. 5,000 are to be writtenoff

OR
Following is the Receipt and Payament Account of the Pune Trust Hospital
for the year ended
315t March, 2014
Receipt Rs. Payment Rs.
To Cash in Hand 10,000 By Medicines 1,00,000
To Cash at Bank 20,000 By Wages and Salaries 20,000
To Subscriptions 1,50,000 By Electricity 6,000
To Govt. Subsidy 20,000 By Doctor's Fees 50,000
To Fees received By Surgical Equipments 10,000
from patients 1,00,000 By Insurance Premium 2,000
To Sundries 4,000 By Telephone Bill 4,000
By Printing and Stationery 6,000
By Sundry Expenses 4,000
By Water Charges 6,000
By Cash in Hand 16,000
By Cash at Bank 80,000
3,04,000 3,04,000

You are required to prepare :
a) Income and Expenditure Account for the year ended 3 1% March, 2014.

b) Balance Sheet as on that date after taking into consideration the
following information :

[4764] Ext.-104 8-



03) 2)

b)

Additional Information :

Details

Subscription Receivable
Subscription received in advance
Wages and Salaries outstanding
Stock of medicines

Surgical Equipments

Insurance prepaid

Machines

31/03/2013 | 31/03/2014
10,000 15,000
4,000 10,000
4,000 14,000
40,000 50,000
40,000 46,000

400 200
2,00,000 1,80,000

Sharada took a contract in 2012 for road construction for Rs. 20,00,000
estimating that the cost would be Rs. 18,40,000. At the end of 2009 the
company had received Rs. 7,20,000 being 90% of the work certified. Certain
work, not yet certified had cost Rs. 10,000 Expenditure incurred was : [10]

Particular Amt.
Material 1,00,000
Labour 6,00,000

Plant 40,000

Material Costing Rs. 10,000 were damaged and had to be disposed of for
Rs. 2,000. Plant is considered as having depreciated at 25%. Prepare
Contract Account. Show all the possible figures that can be legitimately
creatively credited to the Profit and Loss Account in respect of the contract.

Write Short Notes (Any Two) :
i)  Service Tax Registration.
i) CENVAT

i) Assessment

iv) Hotel Accounting

[4764] Ext.-104 -9-
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OR

The following is the Balance sheet of weak Ltd. as at 31.3.2014 : [20]
Liabilities Rs. Assest Rs.
Equity Shares Capital 5,00,000| Goodwill 1,50,000
(of Rs. 10 each) Land & Building 3,00,000
General Reserve 1,50,000( Plant 1,50,000
Profit & Loss A/C 1,00,000| Investment 2,00,000
Employee's Accident fund 50,000| Stock 50,000
8% Debenture 3,00,000| Debtors 4,00,000
Provision for Taxation 50,000| Cash 1,00,000
Sundry Creditors 2,50,000| Preliminary Expenses 50,000
14,00,000 14,00,000

Weak Ltd. was absorbed by Strong Ltd. on 1-4-2014 on the following terms.

Strong Ltd. :

a) To acquire all assets except Goodwill, Investment and Cash and
not to assume any liabilities;

b) To discharge 8% Debenture at a premium of 8% by the issue of
10% Debenture in strong Ltd. at a discount of 10%

c) Toissue 5 Share of Rs. 10 each in strong Ltd. charging Rs. 13 each
which was quoted in the market at Rs. 16 each, for every ten share
in Weak Ltd. and

[4764] Ext.-104 -10-



d) To pay Rs. 2 in cash for each Share of Weak Ltd.

Weak Ltd. sold the Investment at a Profit of 20% on sales and
paid - off the Creditors at a discount of 20%. The tax Liabilities
was determined at Rs. 55,000. Before transfer a claim for accident
to an employee was admitted, the amount involved being Rs. 20,000.
The cost of absorption was Rs. 2,000.

Show the important Ledger accounts in the books of Weak Ltd.

[4764] Ext.-104 -11-



Total No. of Questions : 3] SEAT No. :
P3402

[Total No. of Pages : 4
[4764]Ext. - 105
M.Com. (Part - I) (External)
ADVANCED COSTACCOUNTING (Special Paper-1)
Advanced cost Accounting & Cost System

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) Attempt all questions.

2) Figures to the right indicate full marks.
Q1) The following information relates to Asha Builders' Pune for Rs. 10,00,000[15]

2012 2013

(Rs) (Rs)
Materials issued 3,00,000 84,000
Direct wages 2,30,000 1,05,000
Direct expenses 22,000 10,000
Work certified 7,50,000 10,00,000
Work uncertified 8,000 —_—
Materials at site 5,000 7,000
Plant issued 14,000 2,000

Cash received from contractor 6,00,000 10,00,000
The value of plant at the end of 2012 and 2013 was Rs. 7,000 and Rs.5,000
respectively.
Prepare contract Account and contractee account for two years 2012 and
2013.
OR
Moon Engineering co, Pune has A production
Depts —A, A, A, & A, and two service
Depts —Z and Z,
The particulars of expenses of these depts for the period ended 31-3-2013 are

as follows:
(Rs)
Production Depts
A, 1,000
A 900
A, 800
A, 700
Service Depts
Z, 550
V4 380

PTO.



02)

03)

[4764]Ext. - 105

The expenses of service departments are charged out on a percentage basis
given felow:

A, A, A, A, Z, Z,
Service DeptZ, 10% 30% 20% 20% -- 20%
Service Dept Z, 30% 20% 30% 10% 10% --
Apportion the service Depts expenses to various production depts under
repeated distribution method.

a) Explain friefly the principles of remuneration. [5]
b) From the following data compute inventory turnover and state which
material is fast moving [10]
Particulars Material A Material B
Opening stock Rs.1,000 Rs.1,500/-
Purchases Rs.2,000 Rs.2,500/-
Closing stock Rs.500 Rs.1,000/-
OR

a) What is meant by absorption of overheads.
b) Three workers A,B and C work in a factory the following particulars

apply to them

Normal rate per hour = Re. 0.90

Piece rate = Re.0.60 per unit
Standard = 4 units per hour

In a 40 hour week, the production of worker is -
A - 100 units; B - 160 units; C - 240 units.
Calculate earnings of workers as follows

i)  Taylors differential piece rate system

i)  Merrick's differential piece rate system

Write explanatory notes (any two) [20]
a) Cost centre and cost unit

b) Jobevaluation

c) Batch costing

d) Classification of overheads

SISIS



Total No. of Questions : 3]
P3402
[4764]Ext. - 105
M.Com. (External)
ADVANCED COSTACCOUNTINGAND COSTSYSTEMS
Application of Cost Accounting (Group - B) (Special Paper - 111)
(2013 Pattern)

Instructions to the candidates:
1) Attempt all questions.

2) Figures to the right side indicate full marks.
3)  Use of calculator is allowed.

Q1) Prepare areconcitiation statement from the following data: [15]
Z
Net loss as per cost a/c 1,72,400
Net loss as per financial a/c 2,16,045
Works OHS under - recovered in cost a/c 3,120
Depreciation charged in cost a/c 1,300
Administration OHS recovered in excess 1,700
Interest on investment 8,750
Goodwill written off in financial a/c 5,700
Income tax paid 40,300
Stores adjustment (credit in fin. a/c) 475
Depreciation of stock charged in fin. a/c 6,750
OR

From the following figures, prepare a reconciliation statement.
cost book(X)  Financial books (%)
(?

Profit 50,000 :
Marketing overheads 8,000 8,000
Provision for bad - debts -— 5,000
Factory OHS 8,500 7,000
Directors fee -— 2,000
Income tax paid = - 1,5000
Rent of own premises 6,000 -
Depreciation 11,250 12,000
Shore transfer fee(cr.) - 1,000
Admn OHS 5,000 8,000



Q2) 2)
b)

Benefits of product life cycle costing. [5]

Maxwell co. Ltd. provided the following information calculate overhead
rate : [10]

i)  When normal capacity is related to practical capacity.
i)  When normal capacity is related to sales expectancy. &
i) When normal capacity is related to maximum capacity.

Capacity level Maximum Practical ~ Avg. axpated sales
Direct labour 100% 90% 80%
Hours 10,000 9,000 8,000
Budget :
Fixed OHS 20,000 20,000 20,000
Variable OHS 15,000 13,500 12,000

OR

a) Productivity vs. efficiency.

b) Poona industries Ltd. manufacture product 'A' at the rate of 160 pieces
per hour. The company has been producing and selling 3,20,000 units
pa, during the period of 5 years. However during the year 2013, the
company was able to produce 292.000 units only. The companies annual
fixed overhead for 2013 amounted to X. 11,68,000. The company works
on single shift only as 8 hours per day and 6 days a week. The company
had declared 13 days holidays during the year 2013. The repair and
maintenance involved 77 hours. per quorter. Calculate maximum, practical
normal & actual capacities in 2013 in terms of hours.

03) Answer the following questions (any two) : [20]

a) Phases of product life cycle costing

b) Role of management accounting in value chain analysis

c) How does value chain approach help on organisation to assess its
competitive advantages

d) Human aspect of productivity

[4764]Ext. - 105
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Total No. of Questions : 3] SEAT No. :
P3403

[Total No. of Pages : 4
[4764]Ext. - 106
M.Com. (Part - I) (External)
BUSINESS PRACTICES AND ENVIRONMENT
Organized Trades and Markets (Group - C)
(2013 Pattern) (Special Paper - I)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Define the term 'Business'.
"The objective of business is only profit making". Do you agree with the
statement? Justify your answer. [15]
OR

State and explain various types of services.

02) Briefly explain arguments for and against Foreign Direct Investment.  [15]
OR
Narrate the objectives of co - operative management.

03) Write short notes on : (any two) [20]
a) Credit policy
b) Importance of service sector in India
c) Super Markets
d) Direct marketing for farmers

SISIS

PTO.



Total No. of Questions : 3]

P3403

[4764]Ext. - 106
M.Com. (Part - I) (External)
BUSINESS PRACTICES AND ENVIRONMENT
Organized Trades and Markets (Group - C)

(2013 Pattern) (Special Paper - 1)
(ATt TUTAR)
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Total No. of Questions : 3]
P3403
[4764]Ext. - 106
M.Com. (Part - I) (External)
BUSINESS PRACTICES AND ENVIRONMENT
Modern Business Practices (Group - C)
(2013 Pattern) (Special Paper - 111I)

Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Explain the objectives & functions of federation of Indian chamber of
commerce & Industries. [15]
OR

Describe the organisation, functions & policies of Public Enterprises in India.

02) Explain the nature of Indian Agriculture and Agricultural Taxation policy of

Government of India. [15]
OR

Explain the following schemes of support for women Entrepreneur in

Maharashtra.

a) Swayamsidha programme.
b) Rajarshee Shahu Maharaj Swayamrozgar Yojana.

03) Answer the following questions : (any two) [20]
a) Explain the functions of Indian Marchants chamber.
b) Explain the management practices of public enterprises in India.
c) Explain the problems & prospects of agricultural Business in India.
d) Write a note on Swarna Jayanti Gram Swarozgar Yojana.

SISIS
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P3403

[4764]Ext. - 106
M.Com. (Part - I) (External)
BUSINESS PRACTICES AND ENVIRONMENT
Modern Business Practices (Group - C)

(2013 Pattern) (Special Paper - 111I)
(w73t FUTaR)
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Total No. of Questions : 3] SEAT No. :
P3404

[Total No. of Pages : 4
[4764]Ext. - 107

M.Com. (Part - I) (External)
BUSINESS ADMINISTRATION
Production and Operations Management (Group - D)
(2013 Pattern) (Special Paper-1)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to right indicate full marks.

Q1) Define the term ‘plant layout.” Explain its objectives and basic principles of
plant layout. [15]

OR

Explain in detail factors determining the good product design.

02) State & explain the meaning of production planning. Also explain the objectives

of production planning. [15]
OR
Define the term productivity. Explain the role and importance of National
productivity council.
03) Write short notes (any 2): [20]

a) Safety considerations in plant layout.
b) Techniques of product development.
c) Quality circle.

d) Production control.

SISIS
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Total No. of Questions : 3]

P3404 [4764]Ext. - 107
M.Com. (Part - I) (External)
BUSINESS ADMINISTRATION
Production and Operations Management (Group - D)

(2013 Pattern) (Special Paper - 1)
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Total No. of Questions : 3]
P3404
[4764]Ext. - 107
M.Com. (Part - I) (External)
BUSINESS ADMINISTRATION
Business Ethics and Professional Values
(2013 Pattern) (Paper - II1) (Semester - IT)

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) What is social ethics? Discuss the issues related to social ethics. [15]
OR

What is corporate social responsibility? [llustrate with examples the companies
shouldring corporate social responsibilities in India.

02) Explain the Gandhian Approach in Management and Trusteeship. [15]
OR
Explain the Indian Ethical Practices adopted in the field of copy rights and
patents.
03) Write short notes (any 4): [20]

a) Work ethas.

b) Corporate governance.
c) Business ethics.

d) Corporate citizenship.

e) Importance of human values.

SISIS
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3)

[4764]Ext. - 107
M.Com. (Part - I) (External)
BUSINESS ADMINISTRATION
Business Ethics and Professional Values

(2013 Pattern) (Paper - III) (Semester - 1)
(w73t FUTaR)
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Total No. of Questions : 3] SEAT No. :
P3405

[Total No. of Pages : 4
[4764]Ext. - 108
M.Com. (Semester - I) (External)
COMMERCIAL LAWS AND PRACTICES
Information System and E - Commerce Practices (Group - E) (Paper - 1)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to right indicate full marks.

Q1) Explain the four major types of information systems. [15]
OR
Define E - Commerce. Explain the benefits of E - Commerce to Business and
Society.
02) Define internet. Explain the components of Internet. [15]
OR

Explain the sales procedure with reference to E - commerce.

03) Write detailed note on : (any two) [20]
a)  Supply chain management.
b) Advantages of Intranet.
c) B2B & B2C
d) E - Commerce

SISIS

PTO.
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M.Com. (Semester - I) (External)
COMMERCIAL LAWS AND PRACTICES

Information System and E - Commece Practices (Group - E) (Paper-1)

(2013 Pattern)
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Total No. of Questions : 3]
P3405
[4764]Ext. - 108
M.Com. (Semester - II) (External)
COMMERCIAL LAWS AND PRACTICES
E - Security and Cyber Laws (Paper - III) (Group - E)
(2013 Pattern)

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to right indicate full marks.

Q1) Explain the various legal issues in Cyber laws. [15]
OR
What is computer crime? Explain the types of computer crimes.

02) Whatis information system controls? Explain the types of information system
controls. [15]

OR

Explain the provisions relating to offences and punishment (Section 65 to 79)
under information technology Act, 2002.

03) Write detailed note on : (any two) [20]
a) Duties of subscribers
b) Computer frauds
c) Reserve bank of India Act, 1934
d) Hackers and crackers

SISIS
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M.Com. (Semester - II) (External)
COMMERCIALLAWS AND PRACTICES
E - Security and Cyber Laws (Paper - I1I) (Group - E)

(2013 Pattern)
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P3406 [Total No. of Pages : 4
[4764]EXxt.-109
M.Com. (External) (Semester - I)
CO-OPERATION AND RURAL DEVELOPMENT
Co-Operative Movement In India (Group - F)
(2013 Pattern) (Special Paper - I)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Give a brief account of Post-independence Co-operative movement in India.
[15]

OR

Explain in brief the amendments in Maharashtra state co-operative societies
Act, 1960 regarding management of and settlement of disputes in co-operatives.

02) Explain Organisational set up of co-operative department in Maharashtra.[15]
OR
Explain in brief the role of NABARD in agricultural credit since 1991.

03) Write notes (Any Two) : [20]
a) Changing role of co-operatives in global economy.

b) Registration of co-operatives and Maharashtra state co-operative societies
Act, 1960.

c) Duties and responsibilities of District Registrar of co-operatives.

d) Recommendations of Vaidyanathan Committee.

PTO.
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[4764]EXxt.-109
M.Com. (External) (Semester - I)

CO-OPERATION AND RURAL DEVELOPMENT

Co-Operative Movement In India (Group - F)
(2013 Pattern) (Special Paper - I)
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Total No. of Questions : 3]

P3406
[4764]Ext.-109

M.Com. (External) (Semester - 1)
CO-OPERATION AND RURAL DEVELOPMENT
209 : International Co-operative Movement
(2013 Pattern) (Special Paper - III)

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Trace origin and growth of co-operative movement in the world. [15]
OR
Explain development of co-operative movement in Great Britain after industrial
revolution.
02) What role is assigned to co-operatives in a mixed economy? [15]

OR

What is the role of co-operatives in capitalistic economy?

03) Write short notes (Any Two) : [20]
a) Objectives of The International Co-operation Alliance (ICA)
b) Co-operative movement in UK
c) Co-operative movement in USA

d) Impact of globalisation on co-operatives

3 PT.O.
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M.Com. (External) (Semester - 11)
CO-OPERATION AND RURAL DEVELOPMENT
209 : International Co-operative Movement
(2013 Pattern) (Special Paper - III)
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Total No. of Questions : 5] SEAT No. -

P2542 [Total No. of Pages : 4
[4709] Ext. - 11

M.A./M.Sc. (External)
DEFENCEAND STRATEGIC STUDIES
DS-1.1& 2.1: International Relations and Strategic Studies

Time : 3Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate marks.

Q1) Answerany one: [20]
a) Explain nature, scope and purposes of International Relations.

b) Critically evaluate the main features of the New International Economic
Order (NIEO).

Q2) Answer any one: [20]

a) Explain developments of Regionalism in the Third world countries and
its impact on International politics.

b) Describe evolution of US nuclear strategy and policy making since 1990s.

Q3) Answer any one: [20]

a) Evaluate the characteristics and importance of limited war in the nuclear
age.

b) Examine the role of multinational corporations in the contemporary world
system.

P.T.O



Q4) Answer any one: [20]

a) Discuss the problems and prospects of strategic thinking and culture in
India.

b) Describe theories and causes of contemporary warfare.

Q5) Write short notes on any four: [20]
a)  Terrorism.
b) Interstate conflict.
c) Weapons of mass destruction.
d) Nuclear doctrine.
e) Diplomacy.

f)  Military Industrial Complex.

[4709]Ext.-11 2
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Total No. of Questions : 3] SEAT No.

P3407 [Total No. of Pages : 8
[4764]EXxt.-110
M.Com. (External)

ADVANCED BANKING & FINANCE
Legal Framework of Banking
(2013 Pattern) (Special Paper - I)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Account for some of the amendments in the Banking Regulation Act, 1949
since its introduction. [15]

OR

Spell out and explain in detail the powers that Reserve Bank derives from the
Banking Regulation Act, 1949.

02) Define the following as defined under the Negotiable Instruments Act, 1881.
Explain each of them in detail. [15]

a) Holder
b) Holder in due course
c) Payment in due course
d) Endorsement
e) Negotiable Instrument
OR

Explain in detail some of the functions of the Reserve Bank of India as laid
down in the Reserve Bank of India Act, 1934.

PTO.



03) Write notes on (Any Two) : [20]

a) Provisions relating to Authorised Person as per Foreign Exchange
Management Act, 1999.

b) Provisions relating to collection and furnishing of credit information under
RBI Act, 1934.

c) Provisions relating to contravention and penalties as per Foreign Exchange
Management Act, 1999.

d) Enforcement of Security Interest as spelt out in Securitisation Act, 2002.
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P3407

[4764]EXt.-110
M.Com. (External)
ADVANCED BANKING & FINANCE
Legal Framework of Banking
(2013 Pattern) (Special Paper - I)
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Total No. of Questions : 3]

P3407

[4764]EXt.-110
M.Com. (External)
ADVANCED BANKING & FINANCE
Banking Law and Practices (Group - G)
(2013 Pattern) (Special Paper - III)

Instructions to the candidates:

01)

02)

1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Define the following as under the Prevention of Money Laundering Act 2002.
[15]

a) Property
b) Transfer
c) Attachment
OR

Explain the following obligation as under the Prevention of Money Laundering
Act 2002.

a) Banking Companies
b) Financial Institutions

c) Financial Intermediaries

Spell out and Explain in detail the most important assets and liabilities for a
Banking Company. [15]

OR

Explain in detail the conditions under which a banker can not use this right of
set off.

5 PT.O.



Q3) Write notes on (any two) :

a)
b)
c)
d)

The banker’s duty of secrecy of Account.

Different modes of Electronic fund Transfer.

Garnishee order.

The Bank merger and Acquisition.

[4764] Ext.-110 6

[20]



Total No. of Questions : 3]
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[4764]EXt.-110
M.Com. (External)
ADVANCED BANKING & FINANCE
Banking Law and Practices (Group - G)
(2013 Pattern) (Special Paper - III)
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Total No. of Questions : 3] SEAT No.

P3408 [Total No. of Pages : 4
[4764]EXxt.-111
M.Com. (Part - I) (Semester - I) (External)
MARKETING TECHNIQUES
Advanced Marketing (Group - H)
(Special Paper - 1)

Time : 3 Hour] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) What is product Mix? Explain in detail the stages in product life cycle. [15]
OR

Explain recent trends in marketing communication.

02) Explain importance and difficulties in Rural Marketing. [15]
OR

State importance of sales Budgeting.

03) Write short notes (any four) : [20]
a) E-marketing
b) Marketing Audit
c) Qualities of good salemanship
d) Mall shopping
e) Product Testing
f)  Types of New Products

PTO.
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MARKETING TECHNIQUES
Advanced Marketing (Group - H)
(Special Paper - 1)
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Total No. of Questions : 3]

P3408
[4764]Ext.-111

M.Com. (Part - 1) (Semester - 1) (External)
ADVANCED MARKETING (Paper - I1I)
Customer Relationship Management & Retailing
(2013 Pattern)

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Explain the changing Role of CRM in current marketing scenario.

OR
What is e-CRM? Describe applications of e-CRM in marketing.

Q2) Describe latest developments in CRM.
OR

[15]

[15]

What do you mean by customer satisfaction? State its importance with suitable

examples.

03) Write short notes on (any four) :
a) Customer centric organisational structure
b) Factors responsible for growth of CRM
c) Challenges of CRM
d) CRM Cycle
e) CRM Softwares

[20]

PTO.
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M.Com. (Part - I) (Semester - 11)
ADVANCED MARKETING (Paper - I1I)
Customer Relationship Management & Retailing
(2013 Pattern)
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Total No. of Questions : 3] SEAT No.

P3409 [Total No. of Pages : 8
[4764]EXxt.-112
M.Com. (Part - 1) (External)
INCOME TAX
Advanced Accounting & Taxation
(2013 Pattern) (Semester - I)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.

2)  Use of calculator is allowed.
3)  Figures to the right indicate full marks.
Q1) Write short notes on (Any Three) : [15]
a) Person
b) Long Term Capital Gain
c) Deduction U/s. 80C
d) Set off of losses
e) Residential status of Individual
f)  Slab rate of Income Tax for A.y. 15-16

02) A has been employed with PQR LTd. Since 1.5.1999. He retire from his
service w.e.f. 1.12.2014 and received the following from the company. [15]

Rs.

Basic Salary 6000 p.m.
(Since 1.1.2014)

Dearness Allowance ( 60 % is part of salary for retirement benefits) 1000 p.m.

Commission 2000 p.m.

He was provided with rent free accomodation in Delhi by the company

which it had taken on a rent of Rs.6,000/- p.m.. He contributed 15% of his
salary to a recognised providend fund to which his employer contributed an
equal amount.

PTO.



Besides the above, he received Rs. 70,000/- as gratuity, Rs. 24,000/- for
120 days leave standing to his credit and Rs. 1,20,000/- from recognised
providend fund. He was covered under payment of Gratuity Act and was
entitled to 35 days leave for each complited year of service. He was also
entitled to pension of Rs. 3,000/- pm. w.e.f. 1.12.2014. He got 60% of the
pension commuted w.e.f. 1.2.2015 and received a sum of Rs. 1,20,000/- as
commuted pension.

w.e.f. 1.2.2015 he took employment withY Ltd. On the following terms-

Basic Salary 10,000 p.m.
D.A. (not forming part of salary for retirement benefits) 1,000/- p.m.
HRA 4,000/- p.m.

He has been paying rent for his former employer @ Rs. 6,500/- p.m. w.e.f.
1.12.2014 as he did not vacate his house till date.

Compute his income under the head salary for the assessment year 2015-16.
OR

Ravi has a property which consist of three identical flats. Construction of
property started in 1988 and on completion, the property was occupied for
the first time on 5.9.1994. One flat is let -out on Rs. 5,000/- p.m. and the
second for Rs. 6,000/- p.m. the third is occupied by Ravi himself. Other
relevent details are given below.

Rs.
Annual municipal valuation of the property 1,50,000
Annual municipal tax paid 24,000
Ground rent paid 3,000
Insurance premium on property 1,500
Standard rent of the property 1,98,000
Fair rent of the property 2,00,000

Ravi had borrowed Rs. 1,00,000/- against his fixed deposits to repaid the
tenanted portion of the flat which is let out for Rs. 5,000/- p.m. He paid
interest of Rs. 12,000/- on the said loan. He had spent Rs. 4,000/- for collection
of rent. The second unit which was let for Rs. 6,000/- p.m. remained vacant
for a period of 2 months during the year. Compute the income under the head
house property for the A.Y. 2015-16.

[4764] Ext.-112 2



03) Following is the profit & loss account of Rajiv for the year ended 31.03.2015.

[20]
Particular Amount Particular Amount
To Salary 1,05,000 By Gross Profit 3,98,200
To Travelling Expenses 30,000 By Dividend from
Indian Comp. 8,500
To Rent & Taxes 6,000 By Discount 1,500
To Interest on Capital 6,000 By Share of profit
from a Partnership
To Depreciation 30,000 Firm 22,500
To Administrative
Expenses 20,000
To Income Tax 50,000
To Net Profit 1,83,700
TOTAL 4,30,700 TOTAL 4,30,700

The following information is available

i)

Salary include Rs. 15,000/- paid to Mrs. Rajiv as supervisor of quality
control department Till Feb., 2014 she was employed in S Ltd. In similar
post for the last 10 years on a salary of Rs. 1,500/- per month. She does
not have any other income.

Included in the administrative expenses Rs. 2,000/- paid to the trade
association for advertisement in souveir published by it.

Depreciation allowable as per I.T law is Rs. 45,000/-.

Included in the drawings of Mr. Rajiv Rs. 2,000/- interest on loan, paid
to LIC on the security of his Life Insurance Policy. Loan was utilised for
repair of machinery.

Birthday gift received by his minor son include cash Rs. 20,000/- which
was deposited with a nationalised bank. Interest accrued upto 3 1.03.2014
amounted to Rs. 2,500/-.

[4764] Ext.-112 3



vi) During the year ended 3 1.3.2015 Rajiv paid Rs. 10,000/- towards medical
insurance premium on himself, his wife and minor son.

vil) Included in the drawings of Rajiv as goods taken for the business of Rs.
6,000/-, the cost of the goods is Rs. 7,500/- and market price is Rs.
9,000/-.

Compute the taxable income of Mr. Rajiv for the assessement year 2015-16.

OR

R S & G are partners in a firm, shairing profits and losses in the proportion of
3:3:2 respectively. The Profit & Loss Account for the year ended 31.3.2015 is

as follows : [20]
Particular Amount Particular Amount
To sundry trade expenses 2,00,000 | By Gross Profit B/d.| 8,20,000
To Interest on capital@24% By Interest on Govt.
Securities 16,000
R 24,000 (Gross)
S 18,000
G 12,000 54,000
To Rent to S 48,000
To Salary To S 3,45,000
To Commission to G 1,15,000
To Net Profit 74,000
8,36,000 8,36,000

Compute the total income of the firm and the taxable income of the three
partners in the firm S & G are working partners and the remuneration is given
to them as per partnership deed.

[4764] Ext.-112 4



Total No. of Questions : 3]

P3409
[4764]Ext.-112

M.Com. (Part - 1) (External)
ADVANCED ACCOUNTING AND TAXATION
Business Tax Assessment and Planning
(2013 Pattern) (Special Paper - IV) (Semester - I1) (Group - A)

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Working shall be treated as a part of answer.

Q1) Sanket Ltd., a closely-held Indian Company, is engaged in the business of
manufacture of chemical goods (value of plant and machinery owned by the
company is Rs. 55 lakhs). The following informations for the financial year

2014-15 are given : [15]
Particular Rs.

Sale proceeds of goods (domestic sale) 22,23,900
Sale proceeds of goods (export sale) 5,76,100
Amount withdrawn from general reserve 2,00,000
(reserve was created in 1998-99 debiting P&L A/C)
Amount withdrawn from revaluation reserve 1,50,000
Total 31,50,000
Less : Expenses
Depreciation (normal) 6,16,000
Depreciation (extra depreciation because of
revaluation) 2,70,000
Salary and Wages 2,10,000
Wealth tax 10,000
Income tax 3,50,000
Outstanding customs duty (not paid as yet) 17,500



Proposed dividend 60,000

Consultation fees paid to a tax expert 21,000
Other expenses 1,39,000
Net Profit 14,56,500

For the purposes the company wants to claim the following :
- Deduction under section 80 - IB (30 per cent of Rs. 14,56,500).
- Depreciation under section 32 (Rs. 5,36,000).

The company wants to set off the following losses :

Particular For Tax For account
Purposes Purposes

Brought forward loss of 2005-06 14,880,000 4,00,000

Unabsorbed depreciation - 70,000

Compute the net income and tax liability of Sanket Ltd. for the assessment
year 2015-16 assuming that Sanket Ltd. has a (deemed) long-term capital gain
of Rs. 60,000 under provision

)
i)

to section 54D

which is not credited in profit and loss account.
OR

Jai Kisan Co-operative society furnishes the following particulars of'its income
for the year ended 31 March, 2015.

a)
b)

c)

d)

g)

Particulars Rs.
Income from cottage industry. 5,00,000
Income from marketing of agricultural

produce of its members. 1,00,000
Income from purchase of agricultural

implements and supplying them to members. 1,50,000
Income by interest and dividends from

other co-operative societies 1,00,000
Interest on Government securities 20,000
Profits and Gains of Business activities 1,00,000
Income from House Property 50,000

Compute the Income and Tax liability of Co-operative Society for
the A.Y. 2015-16.
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Q2) a)

b)

During the previous year 2014-15, Kamla Charitable Trust derived the

following Income. [10]
Rs.

i)  Voluntary contribution (out of Rs. 20,90,000 is
for specific direction that it shall form part of the
corpus of the trust. 41,10,000

i) Income from property held in trust 2,00,000

i) During the previous year 2014-15 the trust spends Rs. 2,19,610
(it includes a sum of Rs. 10,000 donated to a charitable trust).

iv) Trust sets apart Rs. 7,46,000 for the purpose of construction of a
charitable hospital upto March 31, 2019.
Determine the taxable income of the Trust on the assumption that
out of the accumulated amount of Rs. 7,46,000 the Trust utilises
Rs. 4,65,000 up to March 31, 2020 for the purpose of construction
of charitable hospital. Further out of the accumulated amount of
Rs. 7,46,000 a donation of Rs. 50,000 is given to another trust is
made.

Mr. Gurpreet owns the following assets as on 31 March, 2015. [5]

Particular Rs.

i)  Guest house located beyond 30 k.m. from
municipal limits of Pune 20,00,000

ii) Let out House (vacant for 3 months) at Mumbai  30,00,000

i) Building used for running own business 18,00,000

iv) Car used for exclusively for business use 10,00,000

v)  Commercial building at Bangalore 50,00,000

vi) Cash in hand 60,000

Determine the Net Wealth and Wealth Tax payable by Mr.
Gurpreet for the A.Y. 2015-16.

OR

What is Tax planning and Management? Explain the nature and scope of Tax
Planning and Management.

[4764]Ext.-112 7



03) Answer any two of the following :

a)
b)
c)
d)

Deduction of Tax at source.

Taxable Services under Service Tax Act.

Merits and Demerit of VAT.
Basic of Central Excise Duty.

[4764] Ext.-112 8
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Total No. of Questions : 3] SEAT No.

P3410 [Total No. of Pages : 7
[4764]EXt.-113
M.Com. (Semester - 1) (External)
ADVANCED COST ACCOUNTING AND COST SYSTEMS
Costing Techniques and Responsibility Accounting
(2013 Pattern) (Special Paper - II)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Use of calculator is allowed.

Q1) What is uniform costing? What are requisites of uniform costing? Explain
advantages and limitations of uniform costing. [15]

OR

What do you mean by 'Responsibility Accounting'? Explain different types of
Responsibility centers. Also explain about reporting to different levels of
management.

02) The expenses budgeted for the production of 50% capacity in a factory are

given below. [15]
Material 4 3,00,000
Labour 3 2,00,000
Variable expenses 3 1,00,000
Fixed overheads 3 50,000
Administration expenses 3 70,000

Selling Expenses (30% fixed) 3 1,00,000
Distribution Expenses (20% fixed) X 60,000
Prepare budget for 50%, 75% and 100% capacity.

PTO.



A Ltd. sells two products which are manufactured in one plant. During the

OR

year 2012 it plans to sell the following quantities of each product.

Company plants to sell product I at T 10 unit and product II at I 20 per unit.

Sales Budget (Units)
Product | First Second | Third | Fourth Total
Quarter | Quarter | Quarter | Quarter
I 90,000 |2,30,000 {3,00,000 | 80,000 [ 7,00,000
I 85,000 [ 75,000 [ 55,000 [ 85,000 | 3,00,000

Each of these two products is sold on a seasonal basis. Product I tends
to sell better in summer and product II in winter.

According to past records company has lost about 3% of it's billed
revenue each year because of returns, constituting 2% of loss of revenue,
allowance & bad debts 1% loss prepare a budget incorporating the given

information.

03) 2)

Standard cost specification for a product

time = 10 hours per unit.

Cost =% 5 per hour

Actual performance in a cost period production is 750 units.

Hours taken for production

[4764]Ext.-113

Idle time

7,600 hours
150 hours
7,750 hours




Payment made = 40,300 (Average ¥ 5.20 per hr) you are required to
calculate

i)  Labour Cost Variance
i) Labour Rate Variance
iii) Labour Efficiency Variance
iv) Idle Time Variance
[10]
OR

a) The following data have been extracted from the books of co. Prepare
report on Responsibility centre basis.

Particulars Budget Variance
3 3
Direct Material 5,00,000 10,000 (A)
Direct wages 3,12,000 12,500 (A)
Repair & Maintenance 2,25,000 5,000 (F)
Consumable stores 93,750 1,250 (A)
Tools 31,250 1,250 (A)
Power & fuel 1,87,500 7,500 (F)
Supervision 1,00,000 10,000 (A)
Administration 2,50,000 15,000 (A)
Factory Rent (fixed) 50,000 -
Depreciation (fixed) 1,00,000 -

[4764]Ext.-113 3



b)  Write short notes (any two) : [10]
i)  Interfirm comparison
ii) Key factor
iii) Cash Budget

iv)  Uniform Cost Manual

[4764]Ext.-113 4



Total No. of Questions : 3]

P3410
[4764]Ext.-113

M.Com. (External)
ADVANCED COST ACCOUNTING AND COST SYSTEMS

Cost Control and Cost System
(2013 Pattern) (Special Paper - 1V)

Instructions to the candidates:
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3)  Use of calculator is allowed.

Q1) Suman Ltd. manufactured and Sold 1000 electric Irons last year at a price of

% 800 each. The cost structure of electric Iron is as follows : [15]
Per Unit ()
Materials 200
Labour 100
Variable Cost 50
Marginal Cost g
Factory overhead (Fixed) 200
Total Cost 550
Profit 250
Sale Price W

Due to heavy competition, price has to be reduced to X. 750 for the coming
year. Assuming no change in costs, state the number of Electric Irons that
would have to be sold at the new price to ensure the same amount of total
profits as that of the last year.

5 PT.O.



OR
A factory produces 24000 units. The cost sheet gives the following information.

Per Unit ()
Direct Materials 2,40,000
Direct wages 1,68,000
Variable overheads 96,000
Semi-variable overheads 56,000
Fixed Overheads 1,60,000
7,20,000

The product is sold at I 40 per unit. The management proposes to increase
the production by 3000 units for sale in the foreign market. It is estimated that
the semi-variable overheads will increase by ¥ 2000. But the product will be
sold at ¥ 28 per unit in the foreign market. However, no additional capital
expenditure will be incurred. The management seeks your advice as a cost
accountant. [15]

Q2) a) Valueanalysis. [5]
b) The following are obtained from the record of a faton
Sales (4000 units @ . 25 each) 1,00,000
Variable cost 72,000
Fixed cost 16,800
Calculate
i)  P/vRatio
i) Break Even Sales
i) Margin of safety

iv)  What additional units should be sold to obtain the same amount of
profit if the selling price is reduced to ¥ 20. [10]

[4764]Ext.-113 6



OR

a)  Value Engineering. [5]
b) You are given the following data for the year 2013 of the company. [10]
3
Variable Cost 6,00,000
Fixed Cost 3,00,000
Profit 1,00,000
Sales 10,00,000

Find

i)  P/vRatio

i) BEP Sales

i) MOS

iv) Profit when sales amounted to <. 12,00,000.
v)  Sales required to earn a profit of . 2,00,000.

03) Answer the following questions (any two) : [20]
a) Techniques of cost control.
b) Activity Based Costing.
c) Designing & Installing cost system in computer environment.

d) Features of differential costing.

[4764]Ext.-113 7



Total No. of Questions : 3] SEAT No.

P3411 [Total No. of Pages : 4
[4764]EXxt.-114
M.Com. (Part - I) (External) (Semester - I)
BUSINESS PRACTICES & ENVIRONMENT
Business Environment and Policy
(2013 Pattern) (Paper - II)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Define the term environment. State the impact of educational and technological
environment on business. [15]

OR

What is globalisation? Explain the impact of globalisation on business
environment in 21 century.

02) Explain the growth and economic reforms of Indian economy. [15]
OR

Define the term inflation. State the causes of inflation.

03) Write short notes (any two) : [20]
a) Causes of regional imbalance
b) Types of pollution
c) International business environment

d) Macro environment

PTO.



Total No. of Questions : 3]

P3411

[4764]EXxt.-114
M.Com. (Part - I) (External) (Semester - I)
BUSINESS PRACTICES & ENVIRONMENT
Business Environment and Policy
(2013 Pattern) (Paper - II)

(AT EUTR)

gez : 3 | [ Tgor 7707 : 100
AT -~ 1) @ 997 qisfaor sEar sig.

2) ITHIHEIT SHFE YUT FIAA.
3) deylardl sus oAl qgTe.

797 1)

797 2)

797 3)
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feran
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fren
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fem forr. (et M) [20]
) TR SEHATEAT HROT
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F)  SAAWEE AR UHTER0T
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Total No. of Questions : 3]

P3411
[4764]Ext.-114

M.Com. (External) (Semester - I1)
BUSINESS PRACTICES & ENVIRONMENT

Business Environment Analysis (Group - C)
(Special Paper - 1V)

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) What is Global Environment? Explain the impact of social and cultural
environment on world trade. [15]

OR

What is financial environment of Business? Explain the role of financial
institutions in financial environment of business.

Q2) "Foreign Investment and Technology plays vital role in Industrial Growth" -
Discuss. [15]

OR

State the meaning and importance of Environmental Analysis. Explain Rivalry
amongst existing firms and Bargaining power of suppliers and Buyers.

03) Write notes (any two) : [20]
a) Capital Market in India
b)  Write detail note on Pravin Masale
c) Role of small and cottage industries in Indian economy

d) Role of Cooperative Banks.



Total No. of Questions : 3]

P3411

[4764]EXxt.-114
M.Com. (External) (Semester - 11)
BUSINESS PRACTICES & ENVIRONMENT
Business Environment Analysis (Group - C)
(Special Paper - 1V)

(AT EUTR)

AT .~ 1) G gva ravas Higd.

2) ITHIHEIT 3HF YOI FIAA.

97 1)

97 2)

797 3)
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Total No. of Questions : 3] SEAT No.

P3412 [Total No. of Pages : 4
[4764]EXxt.-115
M.Com. (External)
BUSINESS ADMINISTRATION
Financial Management (Group - D)
(2013 Pattern)

Time : 3 Hour] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Define the term Financial Management. Explain in detail the various goals of
Financial Management. [15]

OR

Explain various Investments Decision Methods.

02) Whatis Financial Statements? Explain various types of Financial Analysis.[15]
OR
What is Working Capital? Explain in detail the significance of Working Capital?

03) Write short notes (any four) : [20]
a) Fund Flow Analysis
b) Role of SEBI
c) Sources of Funds
d) Forms of Balance Sheet
e) Capital Expenditure
f)  Cash Management

PTO.



Total No. of Questions : 3]

P3412

[4764]EXxt.-115
M.Com. (External)
BUSINESS ADMINISTRATION

Financial Management (Group - D)
(2013 Pattern)

(AU TaTR)

gez : 3 | [ Tgor 7707 : 100
e -~ 1) @ 97 Qislavl JEavas g,
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Total No. of Questions : 3]

P3412
[4764]EXxt.-115
M.Com. - | (External)
BUSINESS ADMINISTRATION
Elements of Knowledge Management
(Paper - 1V)

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Explain the evolution and importance of knowledge management. [15]
OR

What do you mean by organizational learning? What are the different levels of
organizational learning?

0Q2) Define knowledge management. Differentiate between knowledge and wisdom.
[15]
OR

What do you mean by knowledge sharing? What are the strategies for
overcoming obstacles in knowledge sharing?

03) Write short notes on (any two) : [20]
a) Reward and recognition
b) Information distribution
c) Organization culture

d) Unlearning
00

3 PT.O.



Total No. of Questions : 3]

P3412

[4764]EXxt.-115
M.Com. - | (External)

ST q9TEA
T SAAEATGATE Herded
(Paper - 1V)
(Tt FUTR)

e -~ 1) @ 97 qislavr JEavas g,

2) ITHIwSIT IHFk TYTE GOl [T FIHAATA.

797 1)

97 2)

197 3)
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Total No. of Questions : 3] SEAT No. -

P3413 [Total No. of Pages : 7
[4764]EXxt.-116

M.Com. (Semester - 1) (External)
COMMERCIAL LAWS & PRACTICES
Intellectual Property Laws (Group - E) (Special Paper - I1)

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Expalin the International Regulatory Regime for Intellectual Property Right
with references to International Legal organisations. [15]

OR

Explain the Procedure for obtaining patents with amendment. Also explain
patents of Additions, surrender & revocation of patents.

Q2) Explainthe Authorities for protection of Biodiversity in detail. [15]
OR

Define the concept of Trade Marks & Explain in detail procedure, duration &
effect of registration of Trade marks with suitable examples.

Q3) Write short Notes. (Any 4) [20]
I)  Types of Intellectual Property Rights.
i) Patentable & Non-Patentable inventions.
i) Infringement & defenses of patents.
Iv) Appellate Board.
v) Infringement of Trade Marks & remedies.
vi) Controller of Patent.

P.T.O.



Total No. of Questions : 3]

P3413
[4764]Ext.-116

TH. Shid. (TH-1)(External)
FHADEA T 3Te Uiagad
(T9TA TR 1)
sifegeh duat gl (T2 - 3)
(2013 Yed)
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Total No. of Questions : 3]

P3413

[4764]Ext.-116

M.Com. (Part - 1) (External) (Special Paper - 1V)

COMMERCIAL LAWS & PRACTICES
Laws Relating to Copyright and Designs
(2013 Pattern)

Instructions to the candidates:

1)
2)

Q1) a)

b)

Q2) a)

b)

All questions are compulsory.
Figures to the right indicate full marks.

What is mean by copyright? Explain the procedure of application for
Registration of Copyright Act per Copyright (Section 44 to 50 A along
with Rule 16 of chapter VI of copyrights rules of 1958). [15]

OR

State provisions regarding Offences and Penalties as per Law relating to
Protection of New Protection of Plant varieties and Farmers Rights Act,
2001.

State the provision of Design Act, 2000 with reference to Infringement
(Piracy) of Registered Design (Sec. 22) and its remedies. [15]

OR

Explain the term *‘Geographical Indications’ who may apply for
Registration of Geographical Indications? State the procedure for and
duration of Registration of Geographical Indications.

-4- PT.O.



Q3) Answer in brief (Any two): [20]

a)

b)

c)

d)

What are the provisions regarding ‘Offence and Penalties’ as per
Copyright act .

Define the term “New Plant Varieties’ State the scope of the Plant Varieties
and Farmers Rights Act, 2001.

Explain Copyright in Registered Designs as per section 11 to 20 of the
Designs Act 2000.

State Infringement and its Remedies as per section 20 to 24 under
Geographical Indications of Goods 1999.

[4764]Ext.-116 -5-



Total No. of Questions : 3]

P3413
[4764]Ext.-116

M.Com. (Part - 1) (External) (Special Paper - 1V)
COMMERCIAL LAWS & PRACTICES
Laws Relating to Copyright and Designs
(2013 Pattern)
(TS FATR)
3e 3] [@ggor 7707 : 50
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2)  IweliehieT aidh TYATR U1 GV,
3) dquiETe o5 St SelAeRT TETal.

Ty 1)31) GEUNTERR TEU 1l ? HEUTTEERRTETE! Jiquit shudTedt Ueadel el (e
%. 44 7 50 a frem 16 e seares VI wmmn) Fuia . [15]
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Total No. of Questions : 3] SEAT No. -

P3414 [Total No. of Pages : 4
[4764]-Ext.-117

M.Com. (Semester - 1) (External)
CO-OPERATION AND RURAL DEVELOPMENT
Organisation of Co-Operative Business (Special Paper - 11)

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain the advantages of integrating the principles of co-operation and
Management. [15]

OR

"Effective communication and leadership is the tool of improving the
performance of co-operatives". Discuss.

Q2) What is co-operative education and training? Comment on the role of
vaikunthbhai Mehata National co-operative Institute in co-operative education
and training. [15]

OR

Discuss the progress and problems of Dairy co-operatives in Maharashtra.
Suggest the measures toimprove their performance.

Q3) Write notes (any two) : [20]
a) Problems in professionalisation of co-operative. Management.
b) Drawbacks of leadership in co-operatives.
c) Importance and problems of job oriented training in India.
d) Present conditions of co-operative sugar factories in Maharashtra.

P.T.O.



Total No. of Questions : 3]

P3414

[4764]-Ext.-117
M.Com. (Semester - 1) (External)

CO-OPERATION AND RURAL DEVELOPMENT
Organisation of Co-Operative Business (Special Paper - 11)

(2013 Pattern)
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Total No. of Questions : 3]

P3414
[4764]-Ext.-117

M.Com. (External)
CO-OPERATION AND RURAL DEVELOPMENT
Management of Co-Operative Business
(2013 Pattern)

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.
Q1) a) Describe the social responsibilities of co-operative Business. [15]
OR

b) Discuss the criteria for appraising performance of the co-operative
Business.

Q2) a) Describe the business policies and practices of Dairy co-operatives.[15]
OR

b) Explain success story of the shamrao vitthal co-operative Bank.

Q3) a) State the problems related to the following co-operatives:
I)  Sugar co-operatives. [10]
i)  Co-operative Banking. [10]
OR
b)  Write short notes:
I)  Agricultural credit co-operatives.

i)  Economic viability of co-operative Business.

-3-



Total No. of Questions : 3]

P3414

[4764]-Ext.-117
M.Com. (External)

CO-OPERATION AND RURAL DEVELOPMENT

Management of Co-Operative Business
(2013 Pattern)

(TS FATR)
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Total No. of Questions : 3] SEAT No. -

P3415 [Total No. of Pages : 4
[4764]EXxt.-118

M.Com. (External) (Part - A)
ADVANCED BANKING AND FINANCE (Special Paper - II)
Central Banking (Paper - Il) (Group - G)

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Explain in detail the function of Reserve Bank of India. [15]
OR
Explain in detail the central Bank is what it performs.

Q2) Spell out in detail the Regulatory frame work for the Non-Bank finance
companies in India? [15]

OR

Explain in detail the RBI Regulations over the Banks relating to the cash
Reserve Ratio and statutory Liquidity Ratio.

Q3) Write Notes (Any two) : [20]
a) Need of a central Bank.
b) Credit Information Bureau of India Limited.
c) Capital Adequacy.
d) Management of public debt.

vV Vv ¥V
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Total No. of Questions : 3]

P3415

[4764]EXxt.-118
M.Com. (External) (Part - A)

ADVANCED BANKING AND FINANCE (Special Paper - 11)

Central Banking (Paper - Il) (Group - G)
(2013 Pattern)

(FET EUTR)
ges 1 3arH| [@egor 707 : 100
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Total No. of Questions : 3]

P3415
[4764]Ext.-118

M.Com. (External)
ADVANCED BANKING AND FINANCE
Monetary Policy (Special Paper - 1V)
(2013 Pattern)

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) What is money supply? Explain the money supply measures of Reserve Bank
of India. [15]

OR

What are quantitative instruments of Monetary Policy? Explain the mechanism
of Variable Reserve Ratio as instrument of Monetary Policy.

Q2) Discuss the Monetary Policy of Reserve Bank of India during the last five
years. [15]

OR
Explain the role of Reserve Bank of India in export finance.

Q3) Write notes on. (any two) [20]
a) Regional Rural Banks
b) High powered money
c) Reserve Bank of India and industrial finance
d) Recommendations of Working Group on Money Supply (1998).



Total No. of Questions : 3]

P3415

[4764]Ext.-118

M.Com. (External)
ADVANCED BANKING AND FINANCE
Monetary Policy (Special Paper - 1V)
(2013 Pattern)

(ATt TUTR)
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e
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Total No. of Questions : 3] SEAT No. -

P3416 [Total No. of Pages : 4
[4764]-Ext.-119

M.Com. (External) (Semester - 1)
ADVANCED MARKETING
Consumer Behaviour (Special Paper - 1)

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Define 'Consumer Behaviour'? Explain Importance of study of consumer

Behaviour in Marketing. [15]
OR

What is motivation? Explain Maslow's need Theory and its application in

marketing.

Q2) State the impact of 'family' on consumer decision making. Give examples.[15]
OR

Explain ‘consumer research process'.

Q3) Write Short Notes (Any 4) : [20]
a) Business Ethics
b) Rural consumer.
c) Role of Indian Govt in consumer protection.
d) Attitude and consumer Behaviour.

e) Women consumer.

P.T.O.



Total No. of Questions : 3]

P3416

des 1 3arH|

[4764]-Ext.-119
M.Com. (External) (Semester - 1)
ADVANCED MARKETING
Consumer Behaviour
(2013 Pattern) (Special Paper - I1)
(TS EUTR)
[egor 7707 : 100

geAr cg 1)  gd 9y el snavasd o

2) ITHIHEA 3ieh qut Ut FIifaard.
3) Hewlaid qw gusit geAatAeH! ugre.

a9 1)

97 2)

797 3)

“YTgeh T’ T SR 20 ? FuuHme: ATger Sd-Tean 1% Heed T . [ 15]
fepan

“SATUTROT TEUTS T ? WA TR forereR faggia @ e fouummeie susien we

.

UTgehTeAT fHUTE UThaeR SgaTal SIUTRT URUTH HRM. 3§TgX0l 2. [15]
feman

ol feun fergt. (STt - m) [20]
A) AEEIES Fdged

q) A IRk

F) gk WU WRA TRt fvrent

g)  orfvgRi onfot IEeh aa A

3) EUARES

vV Vv ¥V



Total No. of Questions : 3]

P3416
[4764]-Ext.-119

M.Com. (Part - 1) (External)
ADVANCED MARKETING
Services Marketing (Group - H)
(Special Paper - 1V)

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) What is 'Service Marketing'? Explain in detail the various classification of
services. [15]
OR

What are the customers expectations in services? Explain how customer's
evaluate service performances.

Q2) Explain in detail the concept 'price mix and services marketing. [15]
OR
What is 'physical evidence'? Explain nature & importance of 'physical
evidence'.
Q3) Answer the following questions (Any two): [20]

a) Explain the importance of service Leadership
b) Explain in detail the concept 'Listening to customers through Research.

c) What are the Recent service initiatives taken by Hospitality Industry to
serve customers?

d) What are the customer service initiatives taken by aviation sector?



Total No. of Questions : 3]

P3416

[4764]-Ext.-119
M.Com. (Part - 1) (External)
ADVANCED MARKETING

Services Marketing (Group - H)
(Special Paper - 1V)
(TS FATR)
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Total No. of Questions : 5] SEAT No. -

P2543 [Total No. of Pages : 4
[4709] Ext. - 12

M.A./M.Sc. (part - 1) (External)
DEFENCEAND STRATEGIC STUDIES
DS - 1.2 : Geo-Politics & Military Geography and
DS 2.2 : Defence Organisation of India

Time : 3Hours] [Max. Marks : 100
Instructions to the candidates:

1)  All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) “There is no war policy without testing the geo-political factors” Explain the
scope and importance of Geo-Politics in this context. [20]

OR
Examine Mahan’s concept of Sea Power in the Present Context.
Q2) Discuss the geopolitical concepts of Mackinder and present their limitations”.
[20]
OR
Write the role of Geography in Land Warfare.
Q3) Do you think that the Defence Technology Council is applying indigenous
technology tio India’s defence requirements? Give your opinion. [20]
OR

Explain the functions of Department of Defence Production.

P.T.O



Q4) What are the recommendations o Kargil Review Committee? [20]

OR

How well the Ex-Service men can be rehabilited? Discuss your plan and
suggestions.

Q5) Write short notes on any four: [4 x5 =20]
a) Defence Procurement Board.
b) Defence research and development Board.
¢) Indo-Tibetan Border Police.
d) Features of Desert warfare.
e) Problems of India’s Maritime Security.
f)  Transportation and Communication as a factor in war.
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Total No. of Questions : 5]

P2543 [4709] Ext.-12
M.A./M.Sc. (part - 1) (External)
TRIUT STMUT TATHRRITTE
fewm. 7. 1.2 WUt oTfor TSRl SFTet Aot
fRoum. 4. 2.2 vrar e gusn
(w3t suTar)
3% : 3 ] [wegot 7701 : 100
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Total No. of Questions : 5] SEAT No. :

P2544 [Total No. of Pages : 4
[4709] Ext. - 13

M.A./M.Sc. (Part - 1) (External)
DEFENCEAND STRATEGIC STUDIES

DS - 1.3 & 2.3 : National Security : Key Concepts & Indian
National Security

Time : 3Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain in detail what is meant by Potential, Actual and Available power of a
nation. [20]

OR

Explain the factors that testify the relevance and existence of balance of power
even today.

Q2) Discuss the strategic importance of India on the world map having in view the
developments in Afghanistan and Gulf Region. [20]

OR
Do you think that India’s foreign policy is still non-aligned? Give reasons in
support of your answer.
Q3) Explain the role of United Nations in the pacific settlement of disputes. [20]
OR

Explain the difficulties and obstacles in the way of arms control and
disarmament.

P.T.O



Q4) Discuss about India’s nuclear policy. [20]
OR

Explain about the issues of disputes between India and China and suggest
measure to normalize their bilateral relations.

Q5) Write short notes on any four: [4 x5 =20]
a) Comprehensive Security.
b) Collective Security.
c) Functions of Diplomacy.
d) Common Security.
e) National Interest.

f)  Indo-Pak wars on Kashmir.

[4709] Ext.-13 2



Total No. of Questions : 5]

P 2544

[4709] Ext.-13
M.A./M.Sc. (Part - I) (External)
TRRIUT 3ATUT ATFNRITTE

fewm. 7. 1.3 snfor 2.3 : Ui GREN-TE Hehe Ul 0T HRATE TEE—TReT

(A3 vaTaER)

3% : 3 ] [wegot 7701 : 100
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Total No. of Questions : 5] SEAT No. -

P2546 [Total No. of Pages : 4
[4709] Ext. - 14
M.A./M.Sc. (External)
DEFENCEAND STRATEGIC STUDIES
DS-1.4 & 2.4 : Indian Military History & Peace and Conflict Studies
(2013 Pattern)

Time : 3Hours] [Max. Marks : 100
Instructions to the candidates:

1)  All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Describe in detail third battle of Panipat. [20]
OR

Describe philosophy of war during ancient India.

Q2) Explainthe Military system of Turkish. [20]
OR

Explain command structure of British Indian Army.

Q3) Discuss various methods of conflict management. [20]
OR

State the UN role for maintaining international peace and security.
Q4) State the various methods of Pacific Settlement of Disputs. [20]

OR

Explain the nature and scope of conflict studies.

P.T.O



Q5) Write short notes on (any Four):

3)
b)
c)
d)
e)
f)

Confidence Building Measures.
Obstacle of Disarmament.

Human security problems in India.
Military History.

111" Anglo-Maratha War.

Revolt of 1857.

%

\
12
\, 4
2N}
A\, 4
28
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Total No. of Questions : 5]

P2546 [4709] Ext.-14
M.A./M.Sc. (External)
DEFENCEAND STRATEGIC STUDIES

DS-1.4 & 2.4 : Indian Military History & Peace and Conflict Studies

(2013 Pattern)
(Adt BataR)

9% : 3 ] [wegot 7701 : 100
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Total No. of Questions : 3] SEAT No. -

P3417 [Total No. of Pages : 4
[4764]EXxt.-201

M.Com. (Part - Il) (External)
BUSINESS FINANCE

(2013 Pattern)

Time : 3Hours] [Max. Marks : 100
Instructions to the candidates:

1)  All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Write the meaning of Business Finance. Discuss the nature and objectives of
Business Finance. [15]

OR
Explain how the calculation of Future value of Money is done.

Q2) What is Strategic Financial Planning? Write the steps in Financial Planning.[15]
OR

Explain the meaning of Debentures. Write the characteristics and classification
of debentures.

Q3) Write short notes on (any two) : [20]
a) Advantages of Equity Shares.
b) Estimated Financial Requirements.
c) Characteristics of Short Term Financing.
d) Measures of Dividend Policy.

P.T.O.



Total No. of Questions : 3]

[4764]Ext.-201

P3417
M.Com. (Part - Il) (External)
BUSINESS FINANCE
(2013 Pattern)
(TSt EUTR)
3e 3] [ @egor 7707 : 100
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Total No. of Questions : 3]

P3417
[4764]Ext.-201

M.Com. (Part - Il) (External)
201 : CAPITAL MARKET AND FINANCIAL SERVICES
(2013 Pattern) (Compulsory Paper) (Section - B)

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) What is capital market? Analyse in detail the various instruments in capital
market. [15]

OR

Explain in detail the structure and functions of capital market.

Q2) What is the meaning of Primary market? Describe in detail the functions and
participants of Primary market. [15]

OR

Write a detail note on Bombay Stock Exchange and National Stock Exchange.

Q3) Write short notes on (any two): [20]
a) Portfolio management.
b) Credit Rating.
c) Establishment of SEBI.
d) Functions of SEBI.



Total No. of Questions : 3]
P3417
[4764]EXxt.-201
M.Com. (Part - Il) (External)
201 : CAPITAL MARKET AND FINANCIAL SERVICES
(2013 Pattern) (Compulsory Paper) (Section - B)

(ATt TUTR)
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Total No. of Questions : 3] SEAT No.

P3418 [Total No. of Pages : 4
[4764]-Ext. - 202
M. COM. (Part- 1) (External)
RESEARCH METHODOLOGY FOR BUSINESS (Section - A)
(2013 Pattern)

Time : 3Hour] [Max. Marks : 100

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

3) Important section- A and section-B should be written in separate answer
books.

Q1) What is 'Business Research'? Explain the Need, objectives & nature of Business
Research. [15]

OR
Define the term' Hypothesis'. Explain the features & types of good hypothesis.

Q2) What is 'Primary Data'. Explain the methods and merit & demerits of Primary
Data. [15]

OR

Define the term 'Research Report'. Explain the importance & Structure or
Layout of Research Report.

Q3) Write short notes (Any Two): [20]
a) Steps in Research.
b) Research problem.
c) Classification & Tabulation.
d) Footnote.

Q00O
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Total No. of Questions : 3]

P3418

[4764]-Ext. - 202
M. COM. (Part- I1) (External)
RESEARCH METHODOLOGY FOR BUSINESS (Section - A)
(2013 Pattern)

(ATt TUTR)

ge : 3 amd| [egor 7707 : 100
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Total No. of Questions : 3]

P3418
[4764]-Ext.-202

M.Com. (Part - 11) (External)
INDUSTRIAL ECONOMIC ENVIRONMENT
(2013 Patten) (Compulsory Paper)

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Whatis industrial finance? Explain the External sources of industrial finance.[15]
OR

What is multinational corporations? Explain the problems of multinational
corporations.

Q2) Define privatization. Explain the effects of Privatization on Indian Industry.[15]
OR

Explain the Environmental problems in Indian Industrial Development.

Q3) Write short answers any two: [20]
a) Special Economiczones.
b) Concept of Liberlization.
c) Future of IT Industry.
d) Industrial Disputes.

Q00O
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Total No. of Questions : 3]

P3418

[4764]-Ext.-202
M.Com. (Part - 11) (External)

INDUSTRIAL ECONOMIC ENVIRONMENT

(2013 Patten) (Compulsory Paper)
(TS FATR)
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Total No. of Questions : 4] SEAT No.
P3419

[Total No. of Pages : 7

[4764]Ext. - 203
M.Com. (Part - 1) (External) (Semester - 1V)
MATHEMATICS
402 - B : Operations Research
(2013 Pattern) (Choice Based Credit System)
Time : 3Hours] [Max Marks :100
Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

3) Use of statistical tables and calculator is allowed.
4)  Symbols have their usual meanings.

Q1) Attemptany two of the following:

a)  Solve the following game using dominance principle. [7]

player A
Player B

D

Player A

IV

N O W R
o A W N
O ~N FP N W
R 00 o N~ O

w o o1 N

b) (i) obtain the saddle point for the following game. [3]
Player B

P.T.O.




i)  Solve the following L.P.P. by graphical method [4]
Min Z = 5x, + 8X,
Subject to

c) Show that the following L.P.P. has unbounded solution. [7]
Maximize Z = 3x_+ 2x, +4x,+ 5X,

subject to

8XHABX, + BX, < 00 > —20

B2 H24x<16) < 10
& Px, < 20
Q2) Attempt any two of the following: B9 93 108X, <
%1 %, X.0%,0> 0
a) Slove the following L.P.P using simplex method. [7]

Maximize Z = 2x_ + 3x, + 7X,

Subject to

b) Obtain the initial basic feasible solution using North West corner Method
for the following transportation problem. [7]

[4764]Ext.-203 -2-



Jo—>

From V W1 W?2 W3 |W4 [Supply

F1 100
F2 250
F3 150
Demand | 90 160 | 200 |50

Also find the corresponding transportation cost
c) Following is the initial basic feasible solution of the transportation problem.

Is the solution optimal? If not, find the optimal solution. [7]

¢ |@
©2

@

Q3) Attempt any two of the following:

a) Determine the shortest route from node 1 to node 6 in the following
network, where the distances are shown in kilometers. [7]

[4764]Ext.-203 -3-



b) Pay-offs of three acts A, A, and A, and states of nature X,Y and Z are
given below: [7]

Acts

—

States A, A A

of nature

X 25 -10 -125

Y 400 440 400

Z 650 740 750

The probabilities of the states of nature are respectively 0.1, 0.7 and 0.2
Calculate the Expected Monetary value (EMV) for the above data and

select the best act.

c) Solve the following assignment problem for minimization. [7]

ABCDE
12301

ii2 1 257
iil8 910 1 2
i3 4 5 1 2

Q4) Attempt any two of the following:
a)  Explainany four points on relationship between primal and dual problems[4]

b) Discuss the various steps involved in the application of PERT and CPM.

[4]

[4764]Ext.-203 -4-



c) Explain the following terms with reference to transportation problem.[4]
) Balanced T.P.
i)  Optimal solution.
i)  Dummy source.

Iv) Degenerated basic Feasible solution.

Q00O
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Total No. of Questions : 3]

P3419
[4764]EXxt. - 203
M. COM. (Part- 1) (External)
RESEARCH METHODOLOGY FOR BUSINESS (Section - A)
(2013 Pattern)

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.
3) section- A and section-B should be written in separate answer books.

Q1) What is 'Business Research'? Explain the Need, objectives & nature of Business
Research. [15]

OR
Define the term' Hypothesis'. Explain the features & types of good hypothesis.

Q2) What is 'Primary Data'. Explain the methods and merit & demerits of Primary
Data. [15]

OR

Define the term 'Research Report'. Explain the importance & Structure or
Layout of Research Report.

Q3) Write short notes (Any Two): [20]
a) Steps in Research.
b) Research problem.
c) Classification & Tabulation.
d) Foot note.

Q00



Total No. of Questions : 3]

P3419

[4764]EXxt. - 203
M. COM. (Part- I1) (External)

RESEARCH METHODOLOGY FOR BUSINESS (Section - A)

(2013 Pattern)
(TSt EUTR)
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Total No. of Questions : 3] SEAT No.
P3420

[Total No. of Pages : 2
[4764]EXxt. - 204
M.Com. (External)
ADVANCED ACCOUNTING & TAXATION
Advanced Auditing (Paper -V)

(Credit System) (2013 Pattern)

Time : 3Hours] [Max Marks :100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) What is Corporate Governance? As an Auditor how would you verify
Compliance of Corporate Governance? [15]

OR
Distinguish between Vouching and Verification? How would you verify-
I)  Debtors and Creditors;
i) Cash and Bank Balances?

Q2) Define Internal Control. Explain significance and procedures of Internal
Control. [15]

OR

Determine special aspects of Computer Information System (CIS)
Environment and effects of Computer Information System (CIS) Environment
on Audit.

Q3) Write Short Notes: (Any Four) [20]
a)  Audit Report with special reference to CARO, 2003.
b) Flow Chart.
c) Computerized Audit Programme.
d) Powers of Audit Committee.
e) Overview of Standards on Auditing.
f)  Role of Auditing and Assurance Standard Board in India.

Q00O
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Total No. of Questions : 4]

P3420

[4764]EXxt. - 204
M.Com. (Part - I1) (External)

ADVANCED ACCOUNTING & TAXATION (Paper - VI1)
Recent Advances in Accounting, Taxation & Auditing

(Credit System) (2013 Pattern) (Group - A)

Instructions to the candidates:

1)
2)

Attempt all. questions.

Figures to the right indicate full marks.

Q1) Define Human Resources Accounting? Explain historical development and
advantages of Human Resources Accounting. [14]

Q2)

Q3)

Q4)

OR

What do you mean by 'Transfer Pricing': Explain the different Methods of
Transfer pricing. State its advantages & disadvantages.

a)  Explain the different valuation approaches you may suggest for valuing
intellectual property for its inclusion in balance sheet. [14]
OR
b) What is meant by Carbon credit & trading of carbon credit? Explain the
accounting & Taxation aspect of carbon credit
a) State difference between traditional Accouting & Lean Accounting. [7]
b) Taxation aspect of KPO & BPO. [7]
OR
a)  State recent trends in disclosure of accounting policies.
b) State approaches regarding grant received to NGO.
Write Short Notes: (Any Two) [8]
a) Creative Accounting.
b) Employees stock option accounting.
c) Accounting for Retirement benefits.
d) Basic of forensic accounting.

Q00O
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Total No. of Questions : 3] SEAT No.
P3421

[Total No. of Pages : 3
[4764]Ext. - 205
M.Com. (Part - 1) (External)
ADVANCED COSTACCOUNTING & COST SYSTEM
(203 A) : Cost Audit

(2013 Pattern)

Time : 3Hours] [Max Marks :100
Instructions to the candidates:

1) Attempt all questions.

2) Q.1 and Q.2 carries 15 marks each and Q.3 carries 20 marks.

Q1) Describe the provisions of The Companies Act, 2013 regarding:
a)  Applicability of Cost Audit.
b) Maintenance of Cost Records.
c) Liabilities of Cost Auditor.
OR
Explain the scope of Cost Audit with respect to any manufacturing covered
under Cost Audit as per Companies (cost records and audit) Rules, 2014.

Q2) Explain various stages in the process of Planning of Cost Audit assignment.
OR

The Income Statement of ABC Manufacturing Ltd. for the year ended 31%
March, 2015 is given below:

Particulars Rs. in lakhs Rs.in lakhs
Gross Sales 1,786.25

Less: Returns 103.23

Net Sales 1,683.02
Less:

Direct Material Consumption 830.76

Direct Wages 35.46

Production Overheads 124.68

Admn. Overheads 84.98

Selling & Distribution Expenses 12.45

Finance Cost 24.67

Total Cost 1,113.00
Net Profit 570.02

P.T.O.



The Cost Data revealed the following facts:

)

b)
c)

d)

All direct costs were recorded as per the same figure as recorded in
Financial Accounts.

Production Overheads as per cost records Rs.134.78

Administration Overheads recorded in Cost Records were 10% less
than those recorded in Financial Record.

Selling and Distribution Expenses as per Financial Record were the same
as recorded in Cost Record.

Finance Cost was not recorded in Cost Records.
Required:

I)  Prepare Costing Profit & Loss Account and find out profit/loss as
per Cost Record; and

i)  Statement of Reconciliation of Financial Profit with profit/loss as
per Cost Record.

Q3) Write short notes (Any TWO):

a)
b)
c)
d)

Social Audit.
CRAI
EDP Based Cost Audit.

Inventory Valuation Methods.

Q00O
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Total No. of Questions : 3]

P3421 [4764]EXt. - 205
M.Com. (Part - I1) (External)
ADVANCED COSTACCOUNTING AND COST SYSTEM
Recent Advances in Cost Auditing and Cost System (Paper - V1)

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate marks.

Q1) What is VAT Audit. Explain the methods, applications and scope of VAT audit.
[15]

OR
Describe in brief the nature and objectives of CAS - 8 to CAS - 12.

Q2) What do you understand by the term Productivity Audit. State the important
elements of Productivity Audit. [15]

OR

Write details about the article published in the journal management Accountant
on "The present environmental crisis: A holistic perspective".

Q3) Write short notes. (Any Four) [20]
a) Scope of excise Audit.
b)  Utility of six sigma.

c) E- Costing.
d) Features of ERP.
e) CAS- 13.

f)  Objectives of generally accepted cost accounting principles.

Q00O



Total No. of Questions : 4] SEAT No.

P3422 [Total No. of Pages : 4
[4764]EXt. - 206
M. COM. (Part- I1) (Semester - I11) (External)
BUSINESS PRACTICESAND ENVIRONMENT (Special Paper - V)
Entrepreneurial Behaviour (Group - C)
(2013 Pattern)

Time : 3Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) State and explain personal qualities of a successful cntrepreneur. [14]
OR
What are the sources of development of achievement motivation?

Q2) Enumerate the need and importance of trainer-motivation. [14]
OR
What do you mean by business opportunity guidance? Explain its
Importance.
Q3) Enumerate various entrepreneurship problems. [14]
OR

Describe the development inputs for trainer-motivator.

Q4) Write short notes (Any Two): [8]
a) Tools of behavioural tests.
b) New trends in the service sector.
c) Need of market survey.
d) Importance of entrepreneurship training.

Q00
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Total No. of Questions : 4]

P3422

[4764]EXxt. - 206
M. COM. (Part - Il) (Semester - 111) (External)
BUSINESS PRACTICES AND ENVIRONMENT (Special Paper - V)
Entrepreneurial Behaviour (Group - C)
(2013 Pattern)
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Total No. of Questions : 4]

P3422
[4764]EXxt.-206
M.Com. (Part - 11) (External)
RECENT ADVANCES IN BUSINESS PRACTICES AND ENVIRONMENT

Business practices and environment (Special Paper - VII)
(Cource Code - 203 C)

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Critically examine Retail Policy of Government of Maharashtra. [14]
OR

a) State the importance of cluster Approach for development. [7]

b)  Write detail note on textile policy. [7]

Q2) State objectives and features of development scheme of small and medium

enterpries. [14]
OR

a)  Write detail note on waking of Gram Udyog Vasahet. [7]

b)  Write note on corporate Discloser. [7]

Q3) What do you mean by Environmental Audit & corporate Govarance? Explain
interrelationship between Environmental Audit & corporate govarance. [14]

OR
a)  Write detial note on Transperancy. [7]
b) Types of Environment Audit. [7]
Q4) Write short notes (Any Two) : [8]

a) Agro Tourism.

b) Urban Haat.

¢) Importance of Environment Audit.
d) Labour Market information cell

QOO0

3 P.T.O.



Total No. of Questions : 4]

P3422

[4764]EXt.-206
M.Com. (Part - 11) (External)

RECENT ADVANCES IN BUSINESS PRACTICES

AND ENVIRONMENT

Business practices and environment (Spl Paper - VII)

(Cource Code - 203 C)
(TSt EUTR)
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Total No. of Questions : 4] SEAT No.

P3423 [Total No. of Pages : 4
[4764]EXxt.-207
M.Com. (Part - I1) (Semester - I11) (External)
BUSINESS ADMINISTRATION (Special Paper - V)
Human Resource Management (Group - D)
(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define concept of Human Resource Management. Explain in detail the functions
of Human Resource Management. [14]

OR

Explain the term ‘Contract Labour’ Explain the problems of female employees.

02) Explain the term ‘Manpower Planning’ Give detail training procedure of
employees. [14]

OR

Explain the steps in selection process of employees.

03) What is Performance Appraisal? Explain ethics in Performance Appraisal.[14]
OR

Explain the ‘Merit rating’ and Promotions policy in various companies.

04) Write short notes (Any Two) : [8]
a) Kinds of Retirement.
b) Human Resource Audit.

c) Dismissal of employee.
d) Lay off.

PTO.



Total No. of Questions : 4]

P3423

[4764]EXxt.-207
M.Com. (Part - Il) (Semester - I111) (External)
BUSINESS ADMINISTRATION (Special Paper - V)

Human Resource Management (Group - D)
(2013 Pattern) (Credit System)
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Total No. of Questions : 3]

P3423
[4764]EXxt.-207
M.Com. (Part - 1) (Semester - 1V) (External)
BUSINESS ADMINISTRATION
Recent Advances in Business Administration
(Special Paper - VII) - (Group - D)
(2013 Pattern)

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Whatis Change Management? Explain the significance of Change Management.

[15]
OR
Explain the features and utility of Six Sigma Technique.
02) Whatis Cross Cultural Management? Explain its significance. [15]
OR
What is turnaround management? Explain the pre-requisites of turnaround
management.
03) Write short notes on : (Any Two) [20]

a) Concept of Innovation.

b) Current trends in Merger.

c) Total Quality Management (TQM)
d) Managing Change.



Total No. of Questions : 3]

P3423

[4764]EXxt.-207
M.Com. (Part - I1) (Semester - V) (External)
BUSINESS ADMINISTRATION
Recent Advances in Business Administration
(Special Paper - VII) - (Group - D)
(2013 Pattern)
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Total No. of Questions : 3] SEAT No.

P3424 [Total No. of Pages : 3
[4764]EXxt.-208
M.Com. (Part - I1) (Semester - I11) (External)

COMMERCIAL LAWS AND PRACTICES
Laws Relating to International Business

(2013 Pattern) (Special Paper - V) (Group - B)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the rights of trans-national corporations under International law. [15]
OR

Explain the Heckscher Ohlin’s theory of International trade.

Q2) State the provision regarding imports and exports under India’s foreign trade
policy. [15]

OR

Explain enforcement of foreign awards in India.

03) Write short notes on (Any two) : [20]
a) Carbon Credit.
b) International court.
c) Problems of International trade.

d) Charter on economic rights and duties of states (ERDS).

PTO.



Total No. of Questions : 3]

P3424

[4764]EXt.-208
M.Com. (Part - Il) (Semester - I111) (External)
COMMERCIAL LAWS AND PRACTICES
Laws Relating to International Business
(2013 Pattern) (Special Paper - V) (Group - B)
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Total No. of Questions : 3]

P3424
[4764]EXxt.-208
M.Com. (External) (Semester - 1V)
COMMERCIAL LAWS AND PRACTICES (Special Paper - VII)

Recent Advances in Commercial Laws and Practices
(2013 Pattern) (Group - E)

Instructions to the candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Explain an “Anti-Competitive Agreement” and what are the orders the
commission can pass in case of anti-competitive agreements and abuse of
dominance under Competition Act. [15]

OR
Define “Authorized officer”, Demand notice, “Approved valuer” under
Securitization and Reconstruction of Financial Assets and Enforcement of
Security Interest Act”

02) Define “Limited Liability Partnership” and its nature under Limited Liability
Partnership Act. [15]
OR
State the provisions for making an appeal to an Appellate Tribunal having
jurisdiction in the matter prescribed under the Recovery of Debts Due to Banks
and Financial Institutions Act.

03) Write short notes on (Any four) : [20]
a) Combinations under Competition Act.
b) Procedure for recovery debt.
c) Enforcement of security interest.
d) Dissolution of limited liability partnership.
e) Central registry.
f)  Establishment of tribunal under the Recovery of Debts Due to Banks and
Financial Institutions Act.

OO0
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Total No. of Questions : 4] SEAT No. :
P3864

[Total No. of Pages : 4
[4764]Ext. - 209

M.Com. (External)
CO-OPERATION AND RURAL DEVELOPMENT
Co-Operative Credit System (Special Paper - V)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) What is credit? State the importance of Agricultural credit. [14]
OR

Explain different types of Agricultural credit in India.

02) Define the structure of credit co-operations. [14]
OR
State the need of primary Agriculture credit co-operative societies.

03) State the need and functions of regional Rural Banks. [14]

OR
Critically evaluate the performance of regional rural Banks.

04) Write short notes: (any two) [8]
a) Limitations of credit system
b) District central co-operative bank
c) Non-Agricultural credit societies

d) Importances of long term credit

SISIS

PTO.



Total No. of Questions : 4]

P3864

[4764]Ext. - 209
M.Com. (External)

CO-OPERATIONAND RURAL DEVELOPMENT
Co-Operative Credit System (Special Paper - V)

(2013 Pattern)
(w3t FuTar)
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Total No. of Questions : 5]
P3864
[4764]Ext. - 209
M.Com. (External)
CO-OPERATIONAND RURALDEVELOPMENT
Recent Trends in Co-Operation and Rural Development
(2013 Pattern) (Special Paper - VII)

Instructions to the candidates:
1) All questions are compulsory.
2) All questions carry equal marks.

Q1) What is the philosophy behind co-operative principles?
OR
Do the co-operatives fulfill their social responsibilities today?

02) What has been the impact of globalisation on the co-operatives?
OR

Which new management technologies should co-operatives adopt to meet
global challenges?

03) How have the self-help groups helped the rural women and artisans?
OR
What are the problems of marketing self-help group products?

04) Describe the various causes of farmer's suicides in India.
OR

Explain the short and long term measures undertaken by the government to
solve rural problems.

05) Write short notes: (any two)
a) Co-operative leadership
b) Sixsigmatechnique
c) Organisation of self-help group
d) Self- sustaining rural developmet

SISIS

PTO.



Total No. of Questions : 5]

P3864 [4764]|Ext. - 209
M.Com. (External)
CO-OPERATIONAND RURALDEVELOPMENT
Recent Trends in Co-Operation and Rural Development

(2013 Pattern) (Special Paper - VII)
(w73t FUTaR)
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Total No. of Questions : 3] SEAT No. :

P3865 [4764] Ext. - 210 [Total No. of Pages : 4
M.Com. (External)
ADVANCED BANKING AND FINANCE (Section -A)
Foreign Exchange

(2013 Pattern) (Special Paper - I11)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to right indicate full marks for the question.

3) Section - A & Section - B Should be written in separate answer books.

Q1) Explain the meaning of forward market? How is the forward exchange rate

determined? [15]
OR

Elaborate on the FEMA 2000 act. How does it influence the inflow and outflow

of foreign exchange?

02) Trace the developments of the foreign Exchange market in India post 1991.[15]
OR

Explain the working of letter of credit in foreign trade. What is the meaning of
the following terms?

® Back to back letter of credit.
® Revolving letter of credit.

® Anticipatory letter of credit.

03) Write short notes on any two [20]
a) Factors influencing Speculation in the Foreign exchange market.
b) Types of accounts held by NRI.
c) Pre shipment Credit.
d) Eftect of Trade deficit on foreign exchange rate.

RMARM™XR

PT.O.



Total No. of Questions : 3]

P3865

[4764] Ext. - 210
M.Com. (External)
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Total No. of Questions : 3]

P3865 [4764] Ext. - 210
M.Com. (Part - IT) (Semester - IV) (External)
ADVANCED BANKING AND FINANCE
Recent Advances in Banking and Finance (Section - B)
(2013 Pattern) (Special Paper - VII) (Group - G)

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Explain financial inclusion with reference to the following. [15]

a) The concept
b) It's link with economic growth
c) Benefits

OR

Explain in detail the various modes of transferring money electronically.

02) Explain in detail the recent developments in the Indian money market with
reference to [15]

a) Collateralised borrowing and lending obligations.
b) Money market derivatives
OR

Explain in detail the process of listing of securities on the stock exchanges.

03) Write Short Notes (Any Two) : [20]
a) Capital adequacy
b) Tele and mobile banking
c) Notice and term money market

d) Interconnected stock exchange of India

RMARM™XR
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Total No. of Questions : 3]

P3865 [4764] Ext. - 210
M.Com. (Part - IT) (Semester - IV) (External)
ADVANCED BANKING AND FINANCE
Recent Advances in Banking and Finance (Section - B)
(2013 Pattern) (Special Paper - VII) (Group - G)
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Total No. of Questions : 3] SEAT No.

P3425 [Total No. of Pages : 4
[4764]EXxt.-211
M.Com (Part - 1) (External)
ADVANCED MARKETING (Paper - V)
International Marketing
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.
Important : Section A and section B should be written inseparate answer books.

Q1) What do you mean by International Marketing? Describe the challenges and
opportunities in International Marketing. [15]

OR

Discuss the economic and political factors affecting International Marketing.

02) Define International Marketing Mix. Explain the factors to be considered in
pricing for International markets. [15]

OR

Explain the reasons for entry in international marketing.

03) Write short notes (Any Two) : [20]
a) GATT.
b) Letter of credit to exporters.
c) Marine Insurance.

d) Functions of world trade organisation (WTO).

PTO.



Total No. of Questions : 3]

P3425

[4764]EXxt.-211
M.Com (Part - Il) (External)
ADVANCED MARKETING (Paper - V)

International Marketing
(2013 Pattern)
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Total No. of Questions : 3]

P3425
[4764]Ext.-211

M.Com (Part - 1) (External)
ADVANCED MARKETING

Recent Advances in Marketing (Special Paper - VII)
(Group - H) (2013 Pattern)

Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the elements of Marketing Strategy. [15]
OR

Explain the ethical issues related to Sustainable Marketing.

02) Explain the relevance of study of Digital marketing in Modern times. [15]

OR
Explain the history of Foreign Direct Investment (FDI) in Multi-Brand retail in
India.
03) Write short notes on : (Any Two) [20]

a) Advertising and Media Planning.
b) Electronic payment system.
c) Importance of Retailing.

d) Corporate Sustainability.



Total No. of Questions : 3]

P3425
[4764]Ext.-211

M.Com (Part - 1) (External)
ADVANCED MARKETING

Recent Advances in Marketing (Special Paper - VII)
(Group - H) (2013 Pattern)
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Total No. of Questions : 3] SEAT No. -

P3426 [Total No. of Pages : 3
[4764]EXxt.-212

M.Com. (Semester - 111) (External)
ADVANCED ACCOUNTING AND TAXATION
Specialised Auditing (Special Paper - VI) (Group - A)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.
Q1) Explain legal provisions U/S 44 AB of Income Tax Act, 1961 relating to Tax
Audit. [15]
OR
Explain the Audit procedure of Excise Audit 2000.

02) What is Internal Audit? Explain the area of Internal Audit. [15]
OR

What are the steps involved in bank audit?

03) Write short notes (Any four) : [20]
a) Audit of Hotel.
b) Government Audit.
c) Audit of Local Bodies.
d) Audit of Sanctions.

e) Public Account Committee.

f)  Audit under VAT Law.



Total No. of Questions : 3]

P3426

[4764]EXt.-212
M.Com. (External)

ADVANCED ACCOUNTING AND TAXATION (Optional)

Case Studies in Accounting New
(2013 Pattern) (Special Paper - VIII)

Instructions to the candidates:

1)
2)
3)
4)

01) a)

b)

Attempt any two questions.

All questions carry equal marks.

Figures to the right indicate full marks.

Use of non-programmable calculator is allowed.

Comment on the following cases, referring necessary sections of relevant
law, case laws and any other supporting evidence and calculations, if any.
[25]

‘Max Co. Ltd’ incurred ¥. 2 lakhs towards replacement of worn out part
of Machinery, which is debited to the account “Repairs to plant and
machinery”. How do you deal with the issue.

Mr. Shyam prasad khanna has earned net agricultural income from land in
Srilanka ¥. 20 lakhs. He States that the income from agricultural land is
exempt U/S. 10 (1). Explain whether it is taxable or not.

Advise ‘X Ltd’ about the treatment of the following in the final statement
of accounts for the year ended 31.3.2014.

“A claim lodged with Railways in March, 2012 for loss of goods of ¥.5
lakhs had been passed for payment in March, 2014 for ¥. 4 lakhs. No

entry was passed in the books of the company, when the claim was
lodged”.

2 PT.O.



Q2) Discuss the following cases :

a) Raw materials purchased at ¥. 10 per kg. price of materials is on the
decline. The finished goods in which the raw material is incorporated are
expated to be sold at below cost. 1,000 kgs of raw material is in stock at
the year end. Replacement cost is ¥. 8 per kg. How will you value the
inventory? [8]

b) A Ltd. agreed to purchase business of a sole trader. For that purpose,
goodwill is to be valued at 3 years. Purchase of the average profits of last
5 years Profit for these years are 2014 ¥. 40,000, 2013 - ¥. 45000,
2012 -%.46000,2011 - %.36,000 & T.2010 - 50,000. [9]

c) Comment as an Auditor, “How will expenditure on advertisement in
souvenirs of political parties be death with, in computing in come from
business”. [8]

03) Following financial data are given : [25]

Sales 2,00,000

Stock 1,00,000

Credit Sales 150,000

Debtors 75,000

Total Assets 3,00,000

Share capital 1,00,000

(10,000 shares of .10 each)

Net profit 50,000

Market price per share ¥. 20

From the above information compute :

a)
b)
c)
d)

Stock Turnover Ratio.
Debtors Turnover Ratio
P|E ratio

EPS.

Give your opinion on each ratio in two or three sentences. Assume Tax is 50%

OO0
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P3427 [Total No. of Pages : 4
[4764]EXxt.-213

M.Com. (Part - I1) (Semester - I11) (External)
ADVANCED COST ACCOUNTING AND COST SYSTEM
Management Audit (Special Paper - VI)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What is Management Audit? Distinguish between Financial Audit and
Management Audit. [15]

OR
Explain the procedure of Management Audit.

02) Describe different Areas of Management Audit. [15]
OR

State the meaning, objectives and approaches of operational Audit.

03) Write short notes on (Any four) : [20]
a) CPM.
b) Corporate Image.
c) Types of Audit.
d) Cost Benefit Analysis.
e) Corporate culture.
f)  PERT.

OO NO NS
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[4764]Ext.-213

M.Com. (Part - 1) (Semester - IV) (CBCS) (External)

ADVANCED COST AND WORKS ACCOUNTING

Case Studies (Paper - VIII)
(2013 Pattern)

Instructions to the candidates:

1) Attempt any two cases from the following.

2)
3)

Figures to the right indicate full marks.

Use of calculator is allowed.

Q1) Case No 1.

a)

b)

A truck starts with a load of 10 tonnes of goods from station P. It unloads
4 tonnes at station Q and rest of the goods at station R. It reaches back
directly to station P after getting reloaded with 8 tonnes of goods at
station R. The distance between P to Q, Q to R, and the from R top are
40 kms, 60 kms and 80 kms respectively.

As a costing expert in service costing your company has asked you to
compute ‘Absolute tonne kms’. [10]

Aneesh transport company, Dhule runs four buses between two towns
which are 50 kms, apart. The seating capacity of each bus is 50 passengers
and actual passengers carried are 80% of the seating capacity. All the 4
buses run on 25 Days in a month and each bus makes one round trip per
day.

As a costing consultant, Aneesh transport company want from you the
report on passenger kilometers per month [15]



02) Case No 2:

The budget results of Mahesh Ltd. includes the following : [25]
Product Sales Variable cost
(Rsinlakhs) as % of sales
A 50 60%
B 40 50%
C 80 65%
D 30 80%
E 44 75 %

Fixed overheads for the period are Rs. 90 lakhs. Management of Mahesh Ltd.
wants to change the product mix by dropping only one product and increasing
the sale of only one product.

As a costing expert suggest the change in product mix.

03) Case No 3 :

a) You are expert in the field of overhead costing. Raj Ltd. has approached
you. Raj Ltd. has several departments. What bases would you recommend
for apportioning the following items of expenses of its departments.[10]

i)  Fire Insurance of Building.

i) Rent.

ii) Delivery expenses.

iv) Purchase department expenses.
v)  Credit department expenses.

vi) Administration expenses.

vil) Advertisement.

viil) Salesman salary.

ix) Personnel department expenses.

x)  Sales commission.



b) “High wages do not necessarily mean high labour cost”. Explain and
describe this statement from various angles pertaining to labour cost
accounting. [15]

04) Case No 4 :

a) ‘“Variance Analysis is an integral part of cost control and cost reduction”.

As a costing expert are you agree with this statement. Justify your answer.
[10]

b) “A Budget is a means and budgetory control is the end result”.
What is your opinion? Explain. [15]

OO NO NS



Total No. of Questions : 3] SEAT No. -

P3428 [Total No. of Pages : 8
[4764]EXxt.-214

M.Com. (Semester - III) (External)
BUSINESS PRACTICESS & ENVIRONMENT (Special Paper - VI)

Entrepreneurship Development Pattern
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:-
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the role of Government in entrepreneurship development. [15]
OR

State the role of specialised institutions in entrepreneurship development.

02) Explain the importance of 'Project Design' in developing new business. [15]
OR

State the important issues in Project Management.

03) Write short notes (Any Two) : [20]
a) Project evaluation review technique [PERT].
b) Venture capital
c) Problems in entrepreneurship development.

d) Project cost evaluation.

PTO.
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Total No. of Questions : 3]

P3428 [4764] Ext.-214
M. Com.(Part - 1I) (External)
CASE STUDIES IN BUSINESS PRACTICES
(2013 Pattern)

Instructions :-
1) Attempt any Two cases from following.
2)  All questions carry equal marks.
3)  Figures to the right indicate full marks.

Q1) For several months, the supervisors of a large corporation have been very
dissatisfied with the new division head . Before the arrival of the new division
head, the department had functioned as a cohesive effective unit combining
hard work with equal amount of leisure. The new division head has very
strong ideas about the type of environment his employees should have. As
one supervisor puts it, it resembles a full scale military operation. No longer
are employees allowed to place personal belonging, on the walls of their offices
or have occasional informal gathering during office hours. The bottom line
has become productivity first, with the employees feelings being considered
as an after thought. Grassroot employees as well as supervisory personnel are
very upset about the changes in structure and their dissatisfaction is beginning
to show up in their performances. Because of the decreased productivity
levels, the supervisors have been informed that if they do not shape up their
subordinates "the axe will fall on several hands". The frustration and anger is
now beginning to come to a full boil and the supervisors have decided to meet
to discuss the situation.

Questions :- [25]

a) Identify the leadership style of the Division Head from the Angle of
Managerial Grid.

b) From the view point of Theory X and Y. What assumptions did the new
Head make about the way in which people work more effectively?



02) Bharat Products Ltd. is a big factory with a turnover of Rs. 10 crore and with
400 workers. You have been in the office of its Factory Manager, Mr. Kaushik,
for nearly 40 minutes. During this short period you have found that your
conversation with him has been interrupted several times. First , it was the
office Manager who rang him to get his approval for samples of office stationery.
Mr. Kaushik sends for the samples. Then comes the ring from a supplier who
informs Mr. Kaushik that a perticular part of machinery, which is otherwise
not available in the market, can be had from him. Mr. Kaushik rings the
storekeeper to purchase Manager might have placed. Then there is a ring from
a customer requesting Kaushik to allow a higher percentage of discount than
that promised by the Company's Sales Manager.

Kaushik not only turns down the request but also expresses his surprise
at the high percentage already allowed by the Sales Manager. Finally a foreman
enters and complains that a certain part of one machine is broken and it not
being available in the stock, the production may sutter. Mr. Kaushik asks the
foreman to tell the Purchase Manager to order the part immediately.

Questions :- [25]
a) Is Mr. Kaushik performing the job of a Manager?
b) According to your opinion what will be the role of Factory Manager?

c) What are your suggestions to improve the managerial style.

03) A subsidiary company of a large industrial group was not doing well. And
everybody including Directors of the subsidiary as well as the parent company,
was dissatisfied but ther was considerable amount of fault-finding in 'post
mortem' discussion, rather than constructive decision-making.

The Directors of the subsidiary company took some outside advice and
the working of the company was analysed. It was found that the responsibility
for a substantial part of areas of dissatisfaction was primarily with the parent
company and its management and the quality of decision making at the policy
level of the subsidiary also was poor. In general, this diagnosis was found to
be true for the working of the parent company, itself and was reflected in the
image of the company and the management before the shareholders, the
Government and the public circle in general. The chairman of subsidiary
company was pleased with the diagnosis and took-up the matter with the
parent company.

[4764]Ext.-214 4



However, the discussions at the policy level of the parent company did
not bear fruit and the issue was 'settled' merely by a general indication that the
subsidiary company, it necessary, may be disposed off or handed over to
another group for running. This put the subsidiary Board and Management or
the defensive. The chairman resumed his original fault finding habit with
executive Director the manager etc and which in turn, caused a considerable
amount of frustration and setback to progress and arthusiasms generated by
analysis of the responsibilities and the remedial measures evolved which were
largely agreed upon before taking up matters with the parent company.

Questions :- [25]
a) What was background of the case?
b) Do you agree with responsibility should be followed by an authority?

c) Give suggesions to solve the problem.

[4764]Ext.-214 5
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gl DB TEHR, FAal 9 HIIRKTARR HUATel o sgazmg=rt g
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M. Com. (Semester - III) (External)
BUSINESS ADMINISTRATION

Organisational Behaviour (Special Paper - VI)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What is 'Organisational Behaviour'? State the goals of Organisational

Behaviour. [15]
OR
What is 'Organisational Culture'? State the characteristics of organisational
culture.
02) State the types of Motives. [15]
OR

Explain the meaning of 'stress'. State the Causes of stress.

03) Write notes (Any Two) : [20]
a) Informal Groups.
b) Job satisfaction.
c) Emotional intelligence.

d) Models of organisational behaviour.

PT.O.
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M. Com. - II (External)
CASE STUDIES IN BUSINESS ADMINISTRATION
(2013 Pattern)

Instructions to the candidates :
1) Attempt any Two question.
2) Each question carry equal marks.

Q1) Mr. Prakash is very senior employee of Dynamic Machines Ltd. He has
become a senior machinist and is at the top of the promotion ladder in the
unionised graders. He is also the highest paid unionised employee and his next
promotion would place him in the supervisory category.

About five years ago the employee were organized into a union, but Prakash
did not take any active part either in organising the union or in the union
activities. About a year ago, Prakash developed an illness that was difficult to
diagnose. He lost strength and energy, but was able to work. Because of his
good record and attitude, the company decided to accommodate him and
kept on giving him light work and protected his wages till he was able to regain
his health.

Just recently, the workmen in the machine shop where Prakash worked suddenly
struck work. They did not have any authorisation of the union, the workmen in
the other departments continued to work normally. The workmen in the machine
shop claimed that their earnings have fallen down in comparison to the workmen
in the other departments due to their not being able to get any overtime.
Much to surprise and disappointment of the machine shop supervisor and the
management Prakash not only participated in this strike but was found to be
instrumental in organising the same and appeared to be one of the leaders.

Questions :-
a) Does Prakash’s action seem reasonable in the light of the consideration
extended to him by the management during his illness?
b) What should the supervisor do now with Prakash?
c) What is your reaction to the complaint of the workmen of the machine
shop?



02) M/s Rasayani Chemicals is a well-established Private Ltd. Company, situated
at Pirangut Industrial Estate, around 40 km from Pune. Mrs. Patil is a young
Managing Director of this company. Mrs. Patil became M.D. just 2 years ago
and took the charge from her father Mr. Jayant, who happened to be CMD
then.

There are two registered unions in this company. One is that of workers viz.
Rasayan Chemical Workers Union having about 400 members (almost all
workers are union members), and the other is that of staff members viz. Rasayan
Chemical Staff Association, almost all chemists are members of this association,
(about 100 numbers). These two unions separately negotiate with the
management regarding the wage/salary increase and other service conditions.

The period of the last agreements with these unions got over in June 2014.
There were couple of rounds of negotiations with both the unions separately,
but nothing positive came out of these discussions. The agreement issues
have been pending over for the last 10 months. Internal situation in the company
is not at all conductive and healthy. The workers and staff members have
already started showing their ‘anger’ through slogans shooting, gate meetings
and go slow tactics.

Very recently, the personnel manager Mr. Bal was asked by management to
out up a notice regarding withdrawal of L.T.A benefits and reduction of bonus
percentage i.e. from 20% to 8.33%, with immediate effect. Mr. Bal informed
management about repercussions of the notice and also gave reference of
Section 9 of [.D. Act, 1947. Management did not listen to Mr. Bal and he was
compelled to put up the notice.

The situation in the company went out of control and workers and staff members
started serious agitations. They even started shouting slogans inside the factory
premises during Lunch break. Go slow on the plant was made more severe.
They also resorted gheraos.

Questions :-
a) Analyse the case.
b) Comment on the action of management, justify your answer.
c) Comment on the union's approach.

d) Give your constructive suggestions to improve the situation.

[4764]Ext.-215 4



03) Mr. Kishor Kumar was working with Biscuit and Chocolate Company in
Maharashtra. The company had started with small business covering one or
two main places in Maharashtra. The company acquired new machinery and
know - how and expanded considerably in last three years. Mr. Kumar was
working in this company since last 10 years and has done an excellent work
and improved sales.

As the company expanded they had created a new post of Market Research
Officer under Marketing Manager. This new market Research Officer had to
help in sales promotion methods by him and has to submit a report weekly to
Sales Manager.

Mr. Kumar was recommended for the job and was accepted by the Sales
Manager. Mr. Kumar obtained a Diploma in Business Management from
unrecognised institution. Mr. Kumar was advised to take up this job on
promotion and reported to Sales Manager, He missed his old routine job.

The new job had only mainly a desk job and not travelling. After a week when
he submitted the report to Sales Manager, his department head suggested
some changes and encouraged him by saying that he will have to learn much
more about report writing in this new job.

Mr. Kumar thought that he had not done a good job and would be buffer off
in this old job. If he tells this to management he thought that management may
feel that he is a failure. Therefore he kept quiet.

Reply to the following questions :-
a) Analyse the dilemma of Mr. Kishor Kumar.
b) Comment on promotion and pasting policy of organisation.

c) Asapersonal Manager what advise will you offer to the Sales Manager
and Mr. Kishor Kumar.

d) Ifyou are Mr. Kishor Kumar what steps you will take for future career.

[4764]Ext.-215 5
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AT THR S7h hedTd d 7edl USTeR U9 3T o161 SHaeAT-Te aust

q9qd: -

#) off. AR e WER U= glage favewor w.
¥) HUAAl UGl STaaean TR Squil .

%) TS SHAEATYE A1 ATcAT grEl Tkl saeeAas a oft. FER AT
HIVTT AZT TTA ?

g) R gEEl oft. FUR O W qEE qESAT WISl hRIhGISTad ShivTd
TR ST ?
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Total No. of Questions : 4] SEAT No.

P3866 [Total No. of Pages : 8
[4764]EXt.-216
M.Com. (Part - I1) (External)
COMMERCIAL LAWS & PRACTICES
204 - E : World Trade Organization - Norms & Practices
(2013 Pattern) (Special Paper - VI) (Section - A)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.
Q1) What is World Trade Organization? Explain the working of WTO. [14]
OR

Explain GATT Tariff Negotiations from Geneva to Doha and beyond.

02) State the Agreement on Textile and Clothing (Art-V). [14]
OR
Explain the meaning and procedure of WTO related to Dispute Settlement
System.
03) a) Discuss the role of WTO in respect of Agriculture Trade. [7]

b) State the special provisions relating to most favoured nation treatment
(Art-I) and schedule of concession (Art-II) as per GATT - 1994.  [7]

OR
a) Explain the Protectionism and formation of GATT.
b) Discuss the basic Principles of WTO.

PTO.



04) Short Notes (Any Two) : [8]
a) International Trade Organization.
b) WTO & Global Economic Policy.
c) Developing countries and WTO.
d) The establishment of panel as per WTO Dispute Settlement Mechanism.
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Total No. of Questions : 4]

P3866

[4764]EXt.-216
M.Com. (Part - 1) (External)
COMMERCIAL LAWS & PRACTICES
204 - E : World Trade Organization - Norms & Practices
(2013 Pattern) (Special Paper - VI) (Section - A)

(FUS EUTR)

gez : 3 | [ Tgor 7707 : 100

AT -~ 1) @ 997 qisfaor sEar sig.

2) ITHIHSIT IHFk TvATE GOl T FIHAATA.
3) e TgEievOnErdl sUS 9av g,

797 1)

97 2)

797 3)

SARTIAeh SATIR HEEAT U i ? SIRTieh SATIUR Hee-<t shraaeadt favrg wa.[14]
fhen
Tie HEEAIAR SAUR g ffHeg o et 9 e Yo e &,

IS 3107 hiuSTen SAUR (TRFE ar=r) Trared=n sia |, [14]
fhen
HANdeh SATAR TEEATAT Shelg HARUT Ueaden 212f 311Ut shriugad U8 &,

) ARk SHTUR el It faue s YEeht et &, [7]

q) e AT 1994 SiaTia STHA IV HeHTd (el Ueh) ST Tarerda aRfvre
(SFeTH ) THTOT STEUT=a for9Te ol |, [7]

feman
) e (GATT) =it Ffeidt @ griaraan wag wa.
F) NIk SATUR Heet Hedaw aat .



w7d) R for (o gm)
) AW SR G
q)  ANTfieh SATAR HEeAT SAT0T et STl
%) Tomremofict qur enfon STTes SaTaR Hee
g) NI SATUR Hee-al Hhelg Rl UEdifaR U-eTel TTIHT

[4764]Ext.-216 4

[8]



Total No. of Questions : 4]

P3866
[4764]Ext.-216

M.Com. (Part - I1) (External)
204 - E : CASE STUDIES IN COMMERCIAL LAWS &
PRACTICES
(2013 Pattern) (Semester - I'V)

Instructions to the candidates:
1)  Question No. 1 is compulsory.
2)  Solve any two questions from other three questions.

Q1) Write short notes (any two) : [10]
a) Objectives of case study method.
b) Use of computer In research.

c) Registration of Trademark.

02) Rajaram Shinde wrote a novel named 'India in 21% Century'. The novel was
published in the year 2011. Atmaram released a film named 'Mera Hindustan'
in the year 2013. However Rajaram Shinde file a case in court of law stating
that 'Mera Hindustan' was totally based on the novel 'India in 21* Century'.
Rajaram also demanded to ban the release of the film. However Atmaram
argued that his film 'Mera Hindustan' is totally based on his own story. And
some of the events in the film may be identical to the novel of the Rajaram
Shinde is merely a coincidance. Analyse the case and state the possible outcome
of the Judgement by the court with reasons. [20]

03) In an E-Trade agreement, signature is based exclusively on asymmetric
methods. It has been described as a special door, which can be opened with
four keys. The two keys on every side of the door and each of these keys
belong to a single party. Both the parties stand respectively on each side of
the door and both of them have different keys. One of them is Co-incidental



with the key possessed by the other party, since they have agreed on the
shape and notches in the key (public key). However the other party is not, and
none of the parties knows exactly. What kind of notches other key will have.
One thing is sure that the door can only be opened when the four keys are in
it. Once both the parties have locked the keys into the door it is possible to
open it and for the parties to be sure that, they can negotiate through that open
door safely without fear that an outsider might interfere in their business.

Discuss with reference to the authentication of electronic records using digital
signatures. [20]

04) World Trade Organisation was described as among Trade Organisation. The
same feeling was demonstrated by many organizations particularly labour
organizations. It is said that it is wrong trade organization because it involved
in itself with trade which spoils the environment and promoted unacceptable
working conditions for the labourers in the poor countries. It is felt that,
WTO causes greater damage to the global environment. The main claim of
the demonstration at Scattle was W.T.O. is not doing anything to ensure that
the product produced in adverse working conditions in different countries do
not enter into stream of globally traded items. The question is whether it is the
business of WTO to do so is it that the W.T.O. should act involved itself with
labour and environment aspects of production & Trade? There are some who
argue that the effort to involve W.T.O. with labour & environmental aspects
of trade and production is actually a part of larger effort made by some
developed countries. The obvious reason is that the poor countries have
lower production cost because of cheap labour and not very high working
conditions. This enables the poor countries to lead the global Market over the
rich countries. If both these claims are said to be correct, then WTO is deemed
to be influenced and controlled by wrong people. [20]

Discuss in detail,
a) The limitations of W.T.O.
b) To what extent W.T.O. should & can interfere with working conditions.

c) Isit fair to call W.T.O. as wrong trade organisation.
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Total No. of Questions : 4]

P3866

[4764]EXt.-216
M.Com. (Part - 1) (External)

204 - E : CASE STUDIES IN COMMERCIAL LAWS &

PRACTICES
(2013 Pattern) (Semester - IV)

(AU TaTR)

geAr .~ 1) Tv7 gigern siAard.

2) IERT TeAIGT HIVIAG FH T9T FITAT.

97 1)

797 2)

197 3)

fem formr. (wioreadt 39) [10]
H) T AV UL 39

)  GYNYATHED TUTSHTEN ST

%) oS A Aiguit (Registration of Trade marks)

2011 wea forga, wemmofia heft. sit. AR At A fggrem” Aremen fmmn 2013
e Taefia shett, W TR fI1e il e STET Sl SREAT Shedl <hl B
T ferdictoan weer snenia 31 S19ht it Aigett wrel geameia ara g1 fFeaes
TR AT T hHiH AR,

TR HEe v A, ETerEiia ReRerel wRuERa ST . [20]

3—SATIUR HIRT ST Tner g herd THIUTEEE Ueae fehal dolter staeie o1, Ot
et € fovie gXaTen TEum TUE uaT et SR At RaTT U Seign SaSel
ST ITehall. T SRATSATEA G-l STST8 Teiehl 21 TTe1 SIRTATA. ST &1 &1 wreident
Uk Tt TSkl ULITe UTeTehiell 316, SRETaTedl Uedeh sIefent alel ugl fem—fom
AT AT FHAH IW TEATA. T TEATURT ThT U1 AreaTd ARTERTH et qetret
el I R, i TIGR N AT SRR 31U Wren Heeia wretean o,



97 4)

(SR =TEl) I TR AT, Ui GEAT SR ST IVt UETenl ge=al areitett
TRIUTET SRR Wl 37Ted € Wifed 9d. qenty @ = fAfvaa ome &, St wdia ava e
TR AT SAITEA HeAUTEA! ATGEHN SAUTR ATEHd, A U SUaTstl STSel S0TR AT,
TEheT Sl U8t MUSTUEHT TSl RASATel Hequtell ol dl SaSell Wige el
Y UiferT, TR o e Gifer Snfur shiuTetdl sy SugvaEeie
el ST, =T TR T SIcTUiTea SIeEmrEITd STe SeriIen geaaid shidl J5et.
. [20]

AH Aeh WIfdeh SATIR HUeAEl IZW Tgaeh A%l gehiel SAUR FHeAT
(Wrong Trade Organisation) stem si¥ard. & gehiei SaTaR HeeT g 376 Tged
A HRUT YITERUITRR g1 ST SATURT cAHed qHE9 3. enfur fom i
ymmeier aftreRTadt s i vdifeerd fAufor et 31, o/ aHe S 6, wrTfaes
SR FHEAT ANk GITERUTAT WR HigT &iemt i wia smga. fmmea Jefie
Frestamrh gftem ot gt 6 fafae v uftge wruiferdqa s
AT TE T9T FRTHh UTdesiar goT=n & fafshean waremed gig = amdt
TTT{ieh SR HeeAT highal hid ATEl. T9- 3@ g Al g i SNTdes SR
U AR A ? WNTdeh AR oA+ Icqled o saOuei g SR g
TSRO TY-TER T8l AT i ?
THIEN JerATg ST 31T i, TRTTdeh SATUR HEeHAT SR ST Seargment e
HTHMR F THTRUTAT T Al JIevaE W U1, ¢ arEdfaeh qigdl higl
Tt TvT=an SATUh TETE Ueh W 3ATe. ATl ShiRUT TUE 3T <hl TS Q9nHed
T Tl iUt 3= giten hrel ufferdten 1w oiR. ae Aot W i oM.
2 T8l TG SRIER ATRd 378 TEeed™ WRTideh SAUR HHe-eR ehteal ciehrel
a9 T TR o AT AR, [20]
Al =t &,
) NI STUR HFEA<al AYd Haiel.
d)  HEUNETE HeHTd SRTTdeh SR Tue- fhdud ey shetl Uifast ATt
TE IThA.
F) SNTieh SATUR 9ol 3@ gehtel SATIR el iUl TgaRilch 3T i ?
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Total No. of Questions : 4] SEAT No. -

P3430 [Total No. of Pages : 8
[4764]EXxt. - 217
M. Com. (Part - II) (External)
204 F : CO-OPERATION & RURAL DEVELOPMENT
Co-operatives & Rural Banking System (Special Paper - VI)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:-

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the progress of Loan operations under Kisan Credit Card. [14]
OR
Evaluate the effectiveness of advances given under priority sector schemes.

02) Describe the functions and working of MSC Bank. [14]
OR
Explain the role of MSC Bank in the development of Co-operative movement
in Maharashtra.
03) a) Explain the historical background of NABARD. [7]
OR

Comment on organisational set-up of NABARD.

b) Explain the role of NABARD in rural development. [7]
OR
State the norms of refinance of NABARD.

04) Write short notes (Any Two) : [8]
a) NORMS of NPA
b) Role of RBI in Co-operative credit
c) Role of National Federation of state co-operative Banks.
d) Objectives of National Federation of Agricultural and Rural development.

PT.O.



Total No. of Questions : 4]

P3430

[4764]EXxt. - 217
M. Com. (Part - II) (External)

204 F : CO-OPERATION & RURAL DEVELOPMENT
Co-operatives & Rural Banking System (Special Paper - VI)

(2013 Pattern)
(WY ®|UTAR)

ge : 3 amd]
[ogor 7o7 - 100
ger .~ 1) &d gvq @isfan snavas siEa.
2) IwEleEier g quf qur Fifamra.
3) @gurArs? g@ U FITUlAHT TgTa.
g7 1) Torom hfge w1 simia &t sHagRi=h Wit Tuse . [14]

797 2)

97 3)

97 4)

feren

TETIRA 81 AISHT STaid QUaTd AU AP URUTHeRReRde HoaHTaA ol

HENTSE TST UEhRI Shedl HIFid 9 HIHAULEdre quiA . [14]

feran

HERILTAA Tgehil Teaeed forehemdicl TerTe IS Tgehil sihell YfHeR Ta .

) TArarSeh vfagiies urvdyt Tase .
feRan

q) wiu fowTETde TEEs i Tuee w6,
feRan

rETETAl YAfdT YIEGTTE! IR §I.

ofsaTa 1T foTgr. (SIveaTd giF)
H) fafsra aom<=t qmoes

) UEHN UaUESATdil WA fersg sht gt

F) TS WgHT Shred Ui gt Yt

g) Wt g urfio e Sewien U wurh s,

2

[7]

[7]

[8]



Total No. of Questions : 3]

P3430 [4764] Ext.- 217
M. Com.(Semester - IV) (External)
CO-OPERATION AND RURALDEVELOPMENT

Case Studies in Co-operation and Rural Development
(2013 Pattern)

Instructions to the candidates :-
1) Attempt any Two questions.
2)  All questions carry equal marks.

Q1) Analyse the following case and express your views about related issues.

A Small Scale Agro - Industrial cooperative Society was established in 1990
with initial investment of Rs. 1 crore to manufacture jam, squash, fruit juice,
biscuits etc. The society grew over the years and its turnover at the end of
2014 -15 was Rs. 80 crores. It also performed very well against large scale
competition from Parle, Pepsi, Britannia mainly due to quality products which
was the Prime consideration. It was, however, noticed that the society has yet
to accept concept of Professional Management. It can even do better than
what it has been doing at Present if adequate Marketing Research and

Development and Product - Mix strategies are adopted.

Mr. Deshpande, the Managing Director of the cooperative society, was thinking
of making a leig entry in the Market for Soft-drinks. He in consultation with
the R and D Manager, has decided to manufacture Product and pack it in
plastic containers of 1 Litre, 500 ml packs against glass bottles which cause

heavy loss due to breakage.

Analyse this case

a) Discuss the methodology of testing acceptability of the New Product.

b) How would you Position new Product in the Market?
c) Do you think that the new Product will reduce cost?

d) How to implement concept of Professionalisation?



Q2) Mr. Shinde was an operator in a Bajarang cooperative sugar factory. He was
in the sugar factory for more than 10 years. A matriculate, fair complexion,
good height and physique, soft-spoken, always putting on a smile are some
of the personal details of Mr. Shinde. He was drawing Rs. 8000 P.M. When
he was recruted in 2001 and by the dixt of hardwork, sincerity and honesty he
got quick Promotions. In January 2015, his Pay was Rs. 21,485 P.M. He was
placed in highly skilled category.

On 20 Feb. 2015, which he was working in first shift, He committed a mistake
which involved a netproduction loss of Rs. 5,00,000 to the factory. The
Production Manager held him responsible for the loss and asked Personnel
officer what action should be taken. Personnel Manager said 'we will dismiss
him'. Production Manager said, 'No', he is very good at work, very sincere.
This was the only mistake done by him. I do not know how it could happen.

Personnel Manager called Shri Shinde and asked him questions. Shri Shinde
admitted his mistake in writing and requested Management not to terminate
his services but to excuse him.

The personnel Manager dismissed him from the services. Shri Shinde appealed
directly to the chairman of the factory.

Give your decision on the appeal with reasons assuming that you are the
chairman.

Analyse this case and express your views about the following.
a) Decision of the Personnel Manager.

b) His promotions.

c) Opinion of the Production Manager.

d) Probable decision of the chairman.

03) A weel reputed Food Processing cooperative Industry was working in Nasik
District for about three dicades. The Board of Directors of cooperative
Industry has recently decided to expand its production. It was decided to
shift industry to a new location about 30 km away from its present site. For
want of experienced hands some of the workers were transferred to the new
site. As the workers transferred to the new site were living in town the Union
demanded increase of Rs. 600 in their salary. But the chairman of cooperative

[4764]Ext.-217 4



Industry offered to give Rs. 500 only to cover transport cost.

When the plant was being shifted to the new site negotiations went uniterrupted
between the Management and the Union of the issue. However, both the Parties
could not come to a settlement even after 2 months.

The management was firm on their decision even though the union indicated
some flexibility. The Union refused to compromise fully on the issue. They
adopted go slow tactics to pressurise Management. The Production went
down drastically but still the management was firm on their stand. In the mean
time the management charge sheeted some of the trade Union leaders and
suspended them and the enquiry was pending. Make detailed analysis of the
case on the legal and other grounds and also discuss about the following
questions.

a) Do you justify Management decision. If Yes / No why?
b)  Are the workers right in their approach? Comment.

c) Whether the Management decision is right or wrong. Comment.

[4764]Ext.-217 5



Total No. of Questions : 3]

P3430

[4764] Ext.- 217
M. Com.(Semester - 1V) (External)
CO-OPERATION AND RURAL DEVELOPMENT

Case Studies in Co-operation and Rural Development

(2013 Pattern)
(A3t | ATAR)

gear .~ 1)  Fl@gl 17 g97 @iear.
2) @ TAIAT GHIA U7 STEA.
g7 1) ad 1990 AeA FHt AT UG Uh o7 IATMN TR qearer LTI

TS, a1 WEAT GEardrdl qaaus ®. 1 &It gidl. JUdr, Heiud qabar
*helel U, TesTen W, fafene 3. TRl Scated g% el O WEeRl TR 9re
3 T 2014 -15 7ed uehut €.80 it = SATGTA ATl giell. LR JeareAren
Il UgeaTel WA ks guiedl YR uRA, v, faefrEn son ygw
WS ITNMEANT AT THR Tt hefl. 3@ @A adt Iy wed
TG SHEEATIATE TlehR helell Hegal, SR AT ARUST™ 9vned o
faerma sufor v Seutes - fay Feftn sradia e W R e Tt
HURA HIAT A3,

Y. UL 3 A TEHEN TEAD FHERR T 3. e Ua armaed
T TAYT FROATAT Hged=l (Ui Sdell. o=l g9ng o1for faeema dasr g
HEATTR Il SRIER Tl hed ITdel U SedTed s ora 1 &ffer @ 500 3™
Il TEEUTd HTATAT AEeANTS ! wiitew fUvreamed dhin wwara s,
FHAed qTeeAl FEudr THIUT HAfh Eea JHEA ga gid. AHS uEi
THteesh Uk At fagen g

FHEY YT U 9 YEre TeAIaeEas gee "a |,
) T ScuteATeAn TR daTEa adt HA.
¥) A FNRUST gEE TRIEE I 3TEHA ?
®) TR Ul IUTEH WEid U hict 38 qETell ared i ?
) CSATIATHHIUMEN HheUAT AcAATd HIM T AT ?
6



777 2)

T TERN AR HREFameR oft e 2 a9 arefauarean (iiier) s
gd. I TgHil AR wrREramed 10 auiven Sifies wredEd o wrE
AT, AFATER Tad A @ e sFfFaia Atfgat g, @4 2003 #ea
T U SATell cAaed e gwgl Wik ®. 8000 saeht gl ®oR uism,
YTHTIUTRYUT TS SeATaR. Tl JAASTdIR ga@dt fesa feft, 1 Smardt 2015
HEY AT R TR &. 21,485 3kt il @ 3= HITA HUAN 1 T (RTHES
TS THTAT AT HATAT.

T FERN TRER FREFIHS TUH Ut (B1we) 7edl v witd Sreain
20 wgatdt 2015 TS e gh U I et 9 @ ®. 5,00,000 3ok
T TR eIl e 6t e o fawse Hiord sreE s,
IR SHAEUTIHTEAT H TTEAT HIHTERE higd TR, Ui 3cdTed SATEATIehIH
e TR e, e wd oft. e st sifdvE wmTen @ ' "M ST,
TS HHTTEA Higd IR 4. & ATt ufgetia I T & rearenga ol
gk T FATS Tl Wget ATEL.

ofi. B ot snuelt g forelia Tawu™ 7 Felt i saaemuaR e
HIE HEA HEEET Ul H& T2 90 fo=dt He.

FHTR FTEATIERT ofi. PR T FmEEs wH wat. oft. e a= =
feriuTa Ti@ ATER RGN ASAT AOwS YA Het. g HIinEet. Tl
ST SAETE W [E g6 ae AUATER FRUTHEREA Aol . a1 ke
faveiuor € ydia ameiaEa gue 7d TEviA .

) HIWAR et g
q) oft. BR =v=h F=d
&) ScUTeH STEEATIeRT W

T) AREA A wHred ot
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777 3)

YR egema 3 IIRTUITEgA 31 UThaT hUTRT U U@l i@l 3. a1
FHRETATAT AR HSM IcuTed arerauaren [Huia aaen 3. g wREEn
wegred aeeA 30 foh . R emciean el SR Teaia svaran o
AT FRETATIA HTE ATHAT KT T R Fgeil HuaTd
TR ®. 600 Faeht d1@ HIATH AT / HETON hefl. WA dgehRn afshan
TEATIT ASAAA T @Y FgU[A *ae ®. 500 Akl e JuITEEd qaand
Toifrell. SHEUTTA U7 HTHTR TSI TRARIEEde! 8 <<l HREET
TR TR Fuda We] Uieell. oiq 3 ufe I A e Il
fvtaga s AT,

U WHAT SaaEATIATEl fuia quid: FEeRUAE qaR Togdl. STt
TETE AU THeA W T i Hudren i adqer. «me Scared
T HH ATA AN AU e uiaEEa o™ e, A= S
fefaa @, @ a@a diwI e R, aid hE™ ®1Ee 9 A vl
foramma aFa favawn wa anfor wrefier agAT=iE == w0,

N) goxugETe Futarsft gt weHa g w™ e srwea™ fRan THea™
H?

q) HTHEINET UfET I AR HE? ITarEd Jd |l

&) cgaeArgEren fui iR s fhen At - wa wevia wa.
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Total No. of Questions : 3] SEAT No. :
P3431

[Total No. of Pages : 6
[4764]Ext. - 218

M.Com. (Semester - I1I) (External)
ADVANCED BANKING AND FINANCE
International Finance (Group - G) (Special Paper - VI)
(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain the different types of International Banking Offices. [15]
OR
What are Euro Markets? Explain the developments of Euro Dollar Market.

02) a) Explain the types bonds in the International Debt Market. [8]
b) What is Convertible and Non-convertible Currency? [7]
OR

Explain the objectives and operations of International Bank for
Reconstruction and Development.

03) Write notes on (any two) [20]
a) Currency Pegging
b) Bank for International Settlements
c) International Finance Corporation
d) Floating Exchange Rate System

SISIS

PTO.



Total No. of Questions : 3]

P3431 [4764]Ext. - 218
M.Com. (Semester - III) (External)
ADVANCED BANKING AND FINANCE
International Finance (Group - G) (Special Paper - VI)

(2013 Pattern) (Credit System)

(A3t wataR)
9% ; 3 | [wegor 701 : 100
AT
1) @& 9y Arefau Ay .
2) STAIHEA 3k TS YT UT T,
3) HeWiEdl Yo U woa ufrent ugTe.

o7 1) TR AR HEATAAT AT THhR TUCE . [15]
e
U AR TFUS & ? U SToR ATARIAA TSHIS FAE 0.
o7 2) ) AT el SR Sgdd JehR TaS . [8]
¥) uftEadd™ g uiEdHa ae= Tgursl i ? [7]
e
HTAWTET YT o T aehel 3fevesl ATMUT h1d TUSE .
yy7 3) feur forgr. (Fvreard gm) [20]
) aeH Ut

q) AL CAUCH e
®) T fom wETiEs
¥) wEerdl X Ueed



Total No. of Questions : 3]

P3431

[4764]Ext. - 218
M.Com. (Part II) (Semester - IV) (External)
ADVANCED BANKINGAND FINANCE
Case Studies in Banking and Finance
(2013 Pattern) (Group - G) (Special Paper - VIII)

Instructions to the candidates:
1) Solve any two cases from the following given three cases.
2) All cases carry equal marks.
3) Figures to the right indicate full marks.

Q1) Discuss the following: [25]

a)

b)

A is the holder of Bill of Exchange against consideration. He endorses to
B without considerations. At the time of maturity the bill of exchange is
dishonour. Wheather B will successied if he files a suit against A.

A cheque payble to My. Nitin or order it is stolen and the theif forgets
Mr. Nitin signature and presents it to the banker who makes payment in
due course. Can Mr. Nitin recover the amount of cheque from banker?

What are K.Y.C. Norms?

A bill of Exchange dated 25th January 2015 payble 3 months after the
date. What is the due date for this bill.

A customer presented a cheque in bank dated 15th April 2015 on 2nd
April 2015.

02) Mr. Sunil wants to take a loun from dena bank. Denabank asks him to provide
security against the loan. In this referance explain the following situations.[25]

a)

b)
c)
d)
e)

Mr. Sunil provides fixed deposit receipts issued to him by Dena bank as
a security.

Mr. Sunil provides gold jewellary owned by him as a security.
Mr. Sunil provides his life insurance policy as a security.
Mr. Sunil provides company's share certificates as a security.

Give two reasons for providing security against loans extended by banks.



03) Mr. Raj is a businessman. He has proprietory firm: He maintains an account
with central bank in this context the relationship between Mr. Raj and central
Bank is that of creditors and debtor. After five years of opening the account,
the relationship between the customer and the bank is terminated. with referance
to closure of account of customer, explain the following situations. [25]
a)  When the bank decide to close the account, what should she do?

b) Central bank gets information about Mr. Raj insolvency.
c) Mr. Raj firm goes into liquidation.

d) Central bank gets information about insanity of Mr. Raj.
e) Explain the meaning of creditor and debtor relationship.

SISIS

[4764]Ext. - 218 4



Total No. of Questions : 3]

P3431 [4764]Ext. - 218
M.Com. (PartII) (Semester - IV) (External)
ADVANCED BANKING AND FINANCE
Case Studies in Banking and Finance

(2013 Pattern) (Group - G) (Special Paper - VIII)
(w73t FUTaR)
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Total No. of Questions : 3] SEAT No. :
P3432

[Total No. of Pages : 7
[4764]Ext. - 219

M.Com. (External)
ADVANCED MARKETING
Marketing Research (Group - H)
(2013 Pattern) (Special Paper - VI)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) What mean by Cluster - Analysis? How Cluster Analysis is useful for identyfying
market - segment; Explain? [15]

OR

Define Marketing Research? Enumerate in detail Marketing Research - Process.

02) What do you know about MDSS? (Marketing Decision Support System),

Explain the characteristics of a good MDSS. [15]
OR
Distinguish between Industrial Marketing Research and Consumer Marketing
Research.
03) Write short notes on (any four): [20]

a)  Multi - dimensional scaling.
b) Marketing - mix.

c) Ethicsin Marketing Research.
d) Sales - forecasting.

e) Readership Survey.

f)  Advertising Research.

SISIS
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Total No. of Questions : 3]

P3432 [4764]Ext. - 219
M.Com. (External)
ADVANCED MARKETING
Marketing Research (Group - H)
(2013 Pattern) (Special Paper - VI)
(A3t TUTAR)
9% ;3 A [wegut 701 : 100
AT
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Total No. of Questions : 3]

P3432
[4764]Ext. - 219

M.Com. (Part - II) (External)
ADVANCED MARKETING

Case Studies in Advanced Marketing
(2013 Pattern) (Special Paper - VIII) (CBCS)

Instructions to the candidates:
1) Attempt any two cases from the following.

2) Each case carry 25 marks.

Q1) Case No. 1
You are recently appointed as a marketing executive by a company
manufacturing.
a) Ayurvedic cream.
b) Ayurvedic toothpaste.
c) Zerochemical hair oil.
d) Ayurvedic soft drink.
A company want to know their market position in a states of Maharashtra and
Gujrath.
You are expected to carry out market survey. How will you proceed? Give

your plan for each of the above product.

02) Case No. 2
Amol Tope was a graduate with innovative mind and abilities. He had developed
a detergent which could wash cloths better and was less harmful to fabric.

The detergent was developed in two colours. The blue shade costing Rs 50
per kg and the white shade costing Rs. 40 per kg to Amol. Both these varieties
were absolutely identical in properties except the shades.

Amol was ready to offer 20% commission to wholesalers on the selling price.

Rs. 70 is a selling price of blue shade and Rs. 60 is a selling price of white
shade.



Completing brands of reputed multinationals were sold to the consumer in the
range of Rs. 80 to Rs. 85 per kg and 10% commission was offered to
wholesalers on these prices. Amol wanted to approach a marketing consultant
to advice him on the following questions.

a)  What should be advertising and promotional campaign for this product?
b) How should the product be distributed?

c)  Whether test marketing should be undertaken.

d) Whether detergent cake also should be introduced.

e) What should be the name of the product and the packing of the product.

If you are appointed as consultant by Amol what will be your advice? Why?

03) Case No. 3
Vijaya bank has two senior marketing personnel, with widely different
views as to the future. Mr Sudhir believes that a bank is basically a ‘retail
outlet’. He says. "You go to cloth shop to buy cloth on the same you go to a
bank to buy financial survices". On the other hand, his colleague Miss Pradnya,
believes that his approach is futile and of no use. The essence of successful

marketing. She says " is the relationship, we built up with customers.

In your opinion, whose view point is appropriate ? Why so? Does it

mean that other view point is wrong?

SISIS
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Total No. of Questions : 3]

P3432 [4764]Ext. - 219

M.Com. (Part-II) (External)
ADVANCED MARKETING
Case Studies in Advanced Marketing

(2013 Pattern) (Special Paper - VIII) (CBCS)
(ATt TUTAR)
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Total No. of Questions : 5] SEAT No. :

P853 [4763] Ext.-251 [Total No. of Pages : 2

S.Y. B.Com. (External)
BUSINESS COMMUNICATION

(2013 Pattern)
yIime : 3 Hours| [Max. Marks :100
Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Whatis Written Communication? Explain Their Merits and Demerits of Written

Communication [20]
OR
Define Communication. Explain in detail nature and principles of effective
communication.
02) What is soft skill? Explain in detail elements of soft skill. [20]

OR

What is Business letter? Explain in Importance and functions of Business
letter.

03) a) Write Complaint letter to The Sales Officer Of Saurabh General Stores,
Patna for sending wrong goods [10]

OR

Write Circular letter to their clients from M/S Ashok and Company, Dhule
for shifting office in new place.

b) Draft a sales letter to promote the sale of New Television set introduced
in market [10]

OR

Draft a Memos to Shri Ganapati Sawant, Shaniwar Peth, Shrirampur.
from The Manager Swastic paper Ltd. Aurangabad, regarding
unsatisfactory in their work

PTO.



04) Whatis Social Media networks? Explain Merits and Limitations each type of
Social Media Network. [20]

OR

What is office order? Explain essential points while drafting office order.[20]

05) Write Short note (Any Four) [20]
a) Barriers to effective communication.
b) Status Enquiry letter
c) Websites.
d) Electronic clearing system
e) Group discussion

f)  Upward communication

1777
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Total No. of Questions : 4] SEAT No. :

P854

[4763]Ext 252 [Total No. of Pages : 8

S.Y. B.Com. (External)
CORPORATEACCOUNTING

(2013 Pattern)

yTIime : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3)  Use of calculator is allowed.

Q1) A) Fillinthe blanks (Any Five) [5]
i)  Accounting standard board was formed in the year

i)  Purchasing company is also called as company.

i) Capital reduction account is prepared in reconstruction.
iv) EPS stands for

v) In absorption, there is one liquidation and formation.

vi) Intrinsic value of shares = capital employed

B) State whether following statements are true or false (Any five) [5]

i)  Market price of equity share is always greater or lesser than intrinsic
value.

i)  Share of holding company in capital profit is deducted from cost
of control.

i) Merger and absorption are different concepts .
iv) Payroll accounting deals with payment of salaries.
v)  Vendee company pays purchase consideration
vi) Stock is current asset

C) Match the following [5]
i)  Securities premium a) Absorption
i)  Purchase consideration b) Consolidated financial statement
i) As-21 c) Capital profit
iv) Intrinsic value d) Net asset per share
v)  One dissolution and one e) Lumpsum method
formation

f)  External Reconstruction

PTO.



D) Write short notes on (any 3)
i)  Accounting standard 14

i)  Yield basis method of valuation of shares

i) Payroll system

iv) Difference between external and internal reconstruction

v) Liquidator.

[15]

02) Following balance are extracted from the books of Anagha Industries Ltd.

Satara as at 315 March 2014. [20]
Particulars Debit (X) Credit (X)
Sales - 27,60,000
Purchase of material 12,18,000 -
Share Capital - 1,00,000
Land purchased in the year as stock 73,000 -
Lease hold premises (lease premium paid) 42,000 -
Creditors - 4,63,000
Debtors 7,35,000 -
Director’s Salaries 39,000 -
Wages 1,11,000
Work in progress on 1% April 2013 2,10,000 -
Sub contractors cost 8,94,000 -
Equipment fixtures & fittings at cost on -
18t April 2013 2,64,000
Stock on 1% April 2013 59,000 -
Profit & Loss Account - 1,28,000
Secured loan - 1,12,000
Bank Overdraft - 1,05,000
Interest on loan and overdraft 22,000 -
Depreciation fund on equipments till
1 April 2013 - 1,64,000
Administration Expenses 1,47,000 -
Office Salaries 18,000 -
38,32,000 38,32,000

[4763]Ext.-252 -2-



Additional Information

i)  On 31 March, stock on hand including the land acquired during the year
is valued at X1,42,000 , Work in progress at that date is valued at X1,40,000

i)  On 1* October company moved to new premises, taken on lease and the
lease premium paid X42,000. Contract labour (included in sub contractor
cost) 40,000 and material of X38,000 (included in purchase of material)
were used to refurnish the said premises. These are to be added in the
cost of lease hold premises.

iii) R.D.D is to be provided at 2% on debtors and bad debts of X35,000.

iv) Depreciation to be provided on lease hold premises and equipments,
fixtures & fittings is provided @15% on the opening balance of the year.

v) Directors proposed dividend @25%.
vi) 20,000 to be provided for audit fees.
vil) Income tax to be provided at 50% on profit .

You are required to prepare companies financial statement for the
year ended 31% March 2014 as per the schedule VI of companies Act.
Prepare the required notes to Accounts.

OR

A) Manumai Ltd. Purchased a machine costing X5,00,000 for its
manufacturing concern and paid shipping charges of X30,000. Company
spent an additional X 20,000 testing of machine, the use of machinery
started after successful testing. Calculate the cost of machine and explain
the same according to the provisions of relevant accounting standard.[10]

B) 1)  YashodhanAgro Ltd. hasalive stock of X7,00,000 and they purchased
additional dog at 50,000 on 1* July in the financial year 2013-14,
company decided to depreciate the live stock at 20% p.a.

Comment with explanation of relevant accounting standard.  [5]

ii)  Gajanan purchased a machine of X2,50,000 as on 31* Jan. 2012,
spent X40,000 on transportation and erection charges amounted to
%10,000. The scrap value was estimated to be realised X15,000.

The estimated life of the asset was 15 years. Calculate the

amount of depreciation under the provisions of relevant accounting
standard. [5]

[4763]Ext.-252 -3-



03) A) Sulakshna Ltd. went into voluntary liquidation on 3 1% March 2014 when
it’s Balance Sheet was as follows -

Balance Sheet

Liabilities Rs. Assets Rs.
9400 Equity shares of Goodwill 20,000
Rs. 10 each fully paid | 94,000 | Leasehold property | 27,000

Machinery 76,000

Vehicles 15,000
Bank overdraft
(unsecured) 45,000

Stock 41,000
Sundry Creditors. Debtors 37,000
*Preferential 3,700 | Cash in hand 7,000
*Partly secured 30,400 | Profit & loss A/C 21,000
*Unsecured 70,900

2,44,000 2,44,000

The liquidator realised the assets as follows-

) Leasehold property was used to pay partly secured creditors
realised Rs. 22,000, Machinery Rs. 64,000, Vehicles Rs. 10,000,
Stock Rs. 60,000 and debtors Rs. 35,000.

i) The expenses of liquidation amounted to Rs. 1,900.

i) Liquidator’s remuneration was fixed at 3% on the assets realised excluding
cash and 10% on the amount returned to equity shareholders.

You are required to prepare liquidator’s final statement of accounts.[15]

4763]Ext.-252 -4-
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B)

Following is the Balance sheet of ‘H’ Ltd and ‘S’ Ltd as on 31 March 2014.

Balance Sheetason 31 -3-2014

Liabilities ‘H> Ltd | ‘S’ Ltd | Assets ‘H> Ltd ‘S’Ltd
Shares of Rs. Fixed assets | 5,85,000 |3,45,000
10 each 11,00,000( 4,00,000 | Stock 2,00,000 {1,35,000
Share Sundry
Premium 1,30,000 | - Debtors 2,85,000 [1,55,000
Investments:
General 36,000 shares
Reserve - 1,00,000 | in ‘S’Ltd. at
cost 3,90,000 -
Profit and
Loss account| 1,40,000 | 30,000 Cash at bank] 5,000 45,000
Creditors 95,000 | 1,50,000
14,65,000( 6,80,000 14,65,000(6,80,000

‘H’ Ltd acquired the shares of ‘S’ Ltd on 1-4-2013.

On 1-4-2013, ‘S’ Ltd had a General Reserve of Rs.25,000 and a credit
balance of Profit and Loss account of Rs. 5,000.

‘S’ Ltd purchased goods from ‘H’ Ltd worth Rs. 70,000 on which, ‘H’

Ltd made a profit of cost plus 25%.

You are required to prepare consolidated Balance Sheet as on 31-3-2014
along with related workings.

[4763]Ext.-252
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04) Following was the Balance Sheet of Asha Ltd. as on 31 March 2014. [20]

Balance Sheet of Asha Ltd.

Liabilities Rs. Assets Rs.
Share capital Land & Building 70,000
1000 shares of Plant & Machinery 55,000
Rs. 100 each 1,00,000 Stock 49,000
(—)callsin
arrears 1,000 [ 99,000 | Debtors 21,000
General Reserve 32,000

Cash in hand 7,200
Profit & Loss A/c 30,000
Bills payable 21,200 | Advertising suspense
Alc 15,000
Creditors 35,000
2,17,200 2,17,200

Asha Ltd. was absorbed by Pushpa Ltd. on the following terms.

i)  Asha Ltd. agreed to write off advertising suspense account against its
own reserves.

i)  Out of the unpaid calls, Asha Ltd. received Rs. 400 and remaining calls
of Rs. 600 were proved irrecoverable.

iii) Pushpa Ltd. revalued the assets of Asha Ltd as under

Land & Building Rs. 75,000, Plant & machinery Rs. 52,000, Stock
Rs. 60,000 and Debtors at book value.

iv) Pushpa Ltd. took over the business of Asha Ltd. and agreed to discharge
the purchase consideration into 1300 shares of Rs. 100 each at Rs. 110
per share and the balance in cash.

[4763]Ext.-252 -6-



v) Asha Ltd. paid its liquidation expenses of Rs. 2,000. Prepare realisation
A/c . Pushpa Ltd. A/c, Cash A/c and Share holders A/c in the books of
Asha Ltd. and pass journal entries in the books of Pushpa Ltd.

OR

A) Laxmi Ltd. Delhi, issued 50,000 equity shares of Rs. 10 each fully called
up and paid up respectively. The company has earned sizable amount of

net profit during the last five years which were as follows. [10]
Year Net Profit (in Rs.)
2009 55,390
2010 57,820
2011 60,140
2012 61,280
2013 65,370

of the profits 50, earned 20% was transferred to General Reserve, this proportion
being considered reasonable in the manufacturing industry in which the company
is engaged and where a fair investment return may be taken at 10%.

You are required to compute the value of company’s equity share in the
yield basis method under dividend basis and profit basis separately

B) TheBalance Sheet of Anant Co. Ltd. as on 3 1% March 2014 was as follows.[10]

Liabilities Rs. Assets. Rs.
Share capital Goodwill 15,000
2000 preference shares Freehold properties | 2,00,000
of Rs. 100 each 2,00,000

Plant & Machinery | 3,00,000
4000 Equity shares
of Rs. 100 each 4,00,000| Stock in trade 50,000
5% mortgage Debtors 40,000
Debentures 1,00,000

Profit & Loss A/c 2,45,000
Bank Overdraft 50,000
Creditors 1,00,000

8,50,000 8,50,000

4763]Ext.-252 -7-
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The company got the following scheme of capital reduction approved by the
court.

i)  The preference shares to be reduced to Rs. 75 per share and equity
shares to Rs. 37.50 paid up.

i) The debenture holders took over the stock in trade and the book debts
in full satisfaction of the amount due to them.

iii) The good will Account to be eliminated.
iv) The freehold properties to be depreciated by 50% .
v)  The value of plant & machinery to be increased by Rs. 50,000.

Pass the journal entries required to record the effect of the order of the
court and draw up revised Balance Sheet.

1177
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Total No. of Questions : 8] SEAT No.

P855 [Total No. of Pages : 4
[4763]EXxt.-253
S.Y. B.Com External
BUSINESS ECONOMICS - 11 (Macro)
(2013 Pattern)

Time : 3 Hours] [Maximum Marks : 100

Instructions to the candidates:
1)  Question No - 1 is compulsory.
2) Attempt any FIVE from question No. 2 to 8.
3)  Figures to the right indicate full marks.
4) Draw neat diagrams wherever necessary.

Q1) Define the Macro Economics . Explain the nature scope and limitation of
Macro - Economics. [20]

02) What is the National Income? Explain the difficulties in measuring national
income. [16]

Q3) Whatis credit control? Explain the quantitative and qualitative credit controls

of central bank. [16]
04) Explain the Fisher’s Quantity Theory of Money. [16]
05) Define trade cycle. Describe the phases of trade cycle. [16]
06) Answer in brief. [16]

a)  What are the effects of Inflation?

b) Explain Dr. Daltan’s “principle of maximum social advantage.”

PT.O.



07) Explain the Keynesian theory of employment in detail. [16]

08) Write short notes. [16]

a) Nature and scope of public finance.

b) philips curve.

1747
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Total No. of Questions : 8]

P855
[4763]-Ext-253
S.Y. B.Com External
BUSINESS ECONOMICS (Macro)
(2013 Pattern)
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Total No. of Questions : 5] SEAT No. -

P856 [Total No. of Pages : 4

[4763]Ext.-254
S.Y. B.Com. (External)
BUSINESS MANAGEMENT
(2013 Pattern)

Time : 3Hours] [Max. Marks : 100
Instructions to the candidates:

1) Allquestions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define Organisation. Explain the various principles of organisation?  [20]
OR

Define Staffing ? What are the Nature and Importance of staffing ?

Q2) Define Business Ethics ? Explain the details scope and principles of business
ethics ? [20]

OR

Define Motivation ? Explain characteristics and importance of Motivation ?

Q3) What do you mean by management ? Explain the characteristics of Professional
Management ? [20]

OR

Define planning ? Explain types of planning and the steps in planning process.

Q4) What do you mean by direction ? What are the details in techniques of direction ?
[20]

OR

What do you mean by leadership ? Describe various leadership qualities ?

P.T.O.



Q5) Write short notes (any four) :

3)
b)
c)
d)
€)
f)

Features of delegation of Authority.

Levels of planning.

Steps in controlling.
Techniques of Co-ordination.
Importance of control.

Needs of Co-ordination.

Bee
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Total No. of Questions : 5]

P856

[4763]Ext.-254

S.Y. B.Com. (External)
BUSINESS MANAGEMENT
(2013 Pattern)
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Total No. of Questions : 5] SEAT No. -

P857 [Total No. of Pages : 4

[4763]EXxt.-255
S.Y. B.Com. (External)
BUSINESSADMINISTRATION
(2013 Pattern) (Paper - I)

Time : 3Hours] [Max. Marks : 100
Instructions to the candidates:

1) Allquestions are compulsory.

2)  All questions carry equal marks.

Q1) Define Sole Proprietorship. Explain the merits and demerits of Sole
Proprietorship [20]

OR
Define Management. Explain the principles of Management.

Q2) Explain the factors affecting the size of a business unit. [20]
OR

What is Social Responsibility ? State arguments in favour and against social
responsibility.

Q3) a) State the advantages and limitations of Legal Process Outsourcing.[10]
b) State the consequences of Privatisation. [10]
OR
a) Explain the documents required for incorporation of a company
b) Explain the procedure for registration of a company.

Q4) Define Productivity. Explain the factors affecting Productivity. [20]

OR
What are the consequences of Industrial sickness ?

P.T.O.



Q5) Write Short notes on : (Any four) [20]
a) Knowledge Process Outsourcing (KPO)
b) Administration
c) Social Environment
d) Quality Circles
e) Liberalisation

f)  Special Economic Zone (SEZ)

Bee

[4763]Ext.-255 2



Total No. of Questions : 5]

P857

[4763]EXxt.-255
S.Y. B.Com. (External)
BUSINESSADMINISTRATION
(2013 Pattern) (Paper - I)
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Total No. of Questions : 5] SEAT No. -

P858 [Total No. of Pages : 2

[4763]-Ext.-256
S.Y. B.Com. (External)
BANKINGAND FINANCE
Indian Banking System - |
(2013 Pattern) (Special Paper - 1)
Time : 3Hours] [Max. Marks : 100
Instructions to the candidates:

1) Allquestions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Explain in detail the structure of banking system in India. [20]
Q2) Explain the Functions and Progress of the State Bank of India. [20]
OR

Explain in detail the function and performance of Foreign Banks.

Q3) a) State the functions of NABARD. [10]
b) State the performance of Regional Rural Banks. [10]
OR

a)  State the functions of District Co-operative Banks.
b) State the recommendation of Narshimhan Committee - 1 (1991).

Q4) Explain in detail methods of credit control of Reserve Bank of India.  [20]

Q5) Write the Short notes on : (any two) [20]
a) State Co-operative Banks.
b) Scheduled and Non-Scheduled Banks.
c) Debt Recovery Tribunal.
d) Role of Micro Finance.

P.T.O.



Total No. of Questions : 5]

P858

[4763]-Ext.-256
S.Y. B.Com. (External)
BANKINGAND FINANCE
Indian Banking System - |
(2013 Pattern) (Special Paper - 1)
(VS FUTR)
d% . 3| [gegor o7 : 100
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Total No. of Questions : 5] SEAT No. -

P859 [Total No. of Pages : 4

[4763]EXt.-257
S.Y. B.Com. (External)
BUSINESS LAWSAND PRACTICES
(2013 Pattern) (Special Paper - 1)

Time : 3Hours] [Max. Marks : 100
Instructions to the candidates:

1) Allquestions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the following Terms under the maharashtra Agricultural produce
marketing (Regulation) Act, 1963. [20]

a)  Agriculturist.
b) MarketArea
c) Broker.
d) Coolee.

Q2) Explain the term Life Insurance policy. Describe the types of Life Insurance

policy. [20]
OR

Explain the term fire Insurance. Discribe the settlement of claims of fire

Insurance.

Q3) a) Describe the difference between life Insurance and other Insurance. [10]

b) Explain the concept of Insurance policy. and state importance of
Insurance. [10]

OR

a)  Explainthe provisions of Industrial Dispute Act, 1947 as regards 'lay - off'
and 'Retrenchment’.

b) State the registration & formation procedure of partnership firms.

P.T.O.



Q4) Explain the Definition of co-operative society. Describe various Types of
co-operative socities. [20]
Q5) Write Short notes on : (Any two) [20]
a) Personal Accident Insurance.
b) Bye Laws and Amendments of bye-laws.
c) Dissolution of partnership firm.

d) Closure and Re - Starting of undertaking.

Bee
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Total No. of Questions : 5]

P859
[4763]EXxt.-257
S.Y. B.Com. (External)
BUSINESS LAWSAND PRACTICES
(2013 Pattern) (Special Paper - 1)
(TSt FATR)
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Total No. of Questions : 5] SEAT No. :

P852 [4701]-Ext.35 [Total No. of Pages :4

EF.Y. B.A (External)
MATHEMATICS (General)
MG -1 : Algebra and Geometry

(2013 Pattern) (Paper - I)

yIime : 3 Hours| [Max. Marks :100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt each of the following: [20]
a) Ifa/b and b/c then show that a/c.
b) Find all pairsiandj such thati.j=1iin Z,

c) Use factor theorem to determine whether ¢ (X)= X+3 is a factor of

f(x)=3x"-4x+2.

2 4
d) Find the eigen values of the matrix A = { 0 3}.

2 4
e) Reduce the matrix A= {3 6} to row echelon form.

f)  Determine the nature of conic x* +2xy + y* —6x—2y+4=0.
g) Find the distance of a point P(4,3,1) from the plane 2x—y +2z+1=0.
h)  Find the equation of a line joining two points (—2,1, 3) and (3,1, —2).

i)  Find the equation of a tangent plane at the point (3,2,-2).

j)  Define cone.

PTO.



02) Attempt any four of the following: [20]

a)

b)

Using principle of mathematical induction prove that for every positive

integer n,n® —n is divisible by 3.
If a=b(modn)and ¢c=(d (mod n) then show that
) a+c=(b+d) (modn)

i) ac=bd (modn)

Let z be the set of integers. Given a,be Z define g[J b if a—b is an
even integer. Show that | is an equivalence relation.

State and prove remainder theorem for polynomials.

Determine the values of j so that the system of linear equations,

X+y+z=6
X+2y+3z=10
X+2y+Az=9

has 1)  no solution

i)  unique solution

2 2 1

For the matrix A=|1 3 1| find the eigen values of
1 2 2

) A

i A

i) A

[4701]-Ext.-35 -2-



03) Attempt any two of the following: [20]

a)
b)

04) a)

b)

d)

State and prove division algorithm for integers.
i)  Listall integers x in the range 1 < x <100 that satisfy x = 7(mod 17).

ii) Ifaisany integer then prove that
a2 =0 (mod 4)
a? =1 (mod 4) depending on whether a is even or odd respectively.
i)  Solve the system,
X+2y+2=3
2x+3y+3z=10
3X—-y+2z=13

ii)  Solve 8x* —36x? + 46x —15=0; given that the two roots are in A.P.

Derive equation of plane in intercept form. [20]

x—1:y+6:z—2 andx—1:y—3:z—5
-1 -5 -1 -1 4 2

Show that the lines

intersect

Find the condition under which the plane X+ my+nz = p is a tangent

plane to the standard sphere x*+ y*+z°=a’. Also find the point of
contact.

X=1 y+2 7+5
-2 3 4

Show that the line lies on the plane x+2y -z =0.

[4701]-Ext.-35 -3-



e) If under rotation of axes, without shifting the origin the expression

ax® + 2hxy + by? is transformed to a’x’? + 2h’x’y’ + b’y’? then show that
a+b=a'+b"

f)  Find the equation of the cone whose vertex is (1,1,2) and guiding curve

2 2

. . X y
the ell —+-—=1, z=0.
is the ellipse 275
05) Attempt any two of the following: [20]

a) Reduce the equation 5x* + 6xy + 5y* —10x -6y —3=0 to the standard

form and name the conic.

b) 1)  Suppose U=0 and V=0 are intersecting planes. Show that for all
values of 4 equation U + AV = Qrepresents a plane passing through
the line of inter section of planes =0 and \V =0.

i) Find the equation of the sphere through the circle
X*+y>+2°+6x-4y—-62-14=0, X+y+z=0 and passing
through the point (1,1,-1).

c) Find the angle between two lines whose direction cosines are I,m,n and
I’m’,n’. Also find the condition of perpendicularity.

1777
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Total No. of Questions : 5] SEAT No.

P815 [Total No. of Pages : 4
[4701]EXxt.-537
S.Y. B.A. (External)
ANTHROPOLOGY
G-II:Indian Tribes and Tribal Development

Time : 3 Hours] [Maximum Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Explain the difference between Caste and Tribe [20]
OR

Explain the policy of protective discrimination for tribal development.

02) Explain the structure and functions of youth dormitories. [20]
OR

Describe various approached of Tribal Development.

03) Describe the causes of Tribal Movements in India. [20]
OR
Explain the different problems of Tribes.

04) Explain the various types of Interviews. [20]
OR

Give geographical classification of Indian Tribes.

PTO.



05) Answer any two - in brief-

a)
b)
c)
d)

What is report writing?
What is Non-Participant Observation?
Integrated Tribal development programme : Elaborate

Explain the nature of youth dormitories among tribes.

1747
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Total No. of Questions : 5]
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[4701]EXxt.-537
S.Y. B.A. (External)
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Total No. of Questions : 5] SEAT No. -

P831

[Total No. of Pages : 8
[4701]Ext.-569
S.Y. B.A. (External)
LOGICAND METHODOLOGY OF SCIENCE
G - 111 : Formal and Relational Logic
(2013 Pattern)

Time : 3 Hours] [Maximum Marks : 100

Instructions to the candidates:

1)
2)

0l) a)
b)

b)

All questions are compulsory.
Figures to the right indicate full marks.

Discuss in details the essential characters of Axiomatic system.
Prove the following theorems with the help of the axioms given below

D (pvag)op

i) p>(pvaq)

i) (pva)>(avp)

iv) [pv(qu)]:[qv(pvr)]
v) (@or)o[(pva)o(pvr)]

Theorems

1) (p20q)>(q20 p)

2) [p:(q:r)]:[q:(p:r)]
[20]
OR

Explain the need of predicate logic and difference in approach between
Traditional logic and Predicate logic.

Symbolise the following general propositions with the help of the symbols
in brackets.

i)  Notall men are mortals.
(Mx-x is men, Rx - x is mortal)

i)  None but the brave deserve the fair.
(Bx : x is brave, Dx : x deserve the fair)

PTO.



Q2) a)
b)

b)

03) 2)

b)

iii) Children are present.

(Cx : xisachild, Px : x is present)
iv) Gentle horses have all been well trained.

(Hx : x is horse, Gx : x is gentle, Tx : x has been well trained)
v)  All that glitters is not gold.

(Gx : x glitters, Ax : x is gold.

Explain in details the need for quantification rules.
Prove the validity of following argument.

1) (@)(CXTX)

2)  (x)(Tx2AX)/ .. (3x)(Cx.AX)
i) 1) (x)(Vx>O Dx)

2)  (x)(Sx>Vx)

3)  (x)(Px>Sx)/ .. (x)(Px >0 Dx)
[20]
OR

Explain in details the basis for demonstrating the invalidity of invalid
arguments.

Prove invalidity of each of the following arguments.

D 1) (x)(HxD Mx)

N—

2)  (X)(AxD Mx)/ ... (x)(Mx D Ax)
i) 1) (x)(Wx>DHx)
2

p——

(3x)(Ex.Hx)/ . (x)(Wx D Ex)

State the nature of multiply general propositions and explain the difference
between multiply general propositions and general propositions.

Symbolise the following propositions using symbols given in brackets.
i)  Allyellow bananas are ripe.

(Yx: Yellow, Bx : Banana, Rx : x is ripe)
i)  If something is wrong it should be rectified.

(Wx . x is wrong, Rx . x is rectified)

[4701]Ext.-569 -2-



b)

04) a)
b)

b)

iii) Ifsomething is wrong then something will be rejected.

(Wx : x is wrong, Rx : x is rejected)
iv) If something is damaged someone will be blamed.

(Dx : x 1s damaged, Px : P is person, Bx . x will be blamed)
v) Ifsomeone is beautiful, everyone will be unhappy

(Px : x is person, Bx : x is beautiful , Ux : x will be unhappy)

[20]
OR

Explain in details the need for revising the preliminary quantification rules.
Prove the validity of the following arguments.

D ([Gxo(y)(Hyoly) |/ -.(x)(Tx2(y))(Hy o ly)
i) (3x)Ix D (Iy)Ky/ . (IX) x> (Ty)Ky |

Explain in details the nature and kinds of relational propositions.
Prove the validity of the following arguments

D (@) Mx(y)(My D Dyx)]/ . (3x)(Mx.Dxx)

i) (3x)(y) (3z)Ayz 2 Ayx | (y)(3z)Ayz/ . (3x)(y ) Ayx
[20]
OR
Explain in details the properties of triadic relations.
Symbolise the following propositions using symbols given in brackets.
i)  Aattracts everything.
(Ax-A Axx - x attracts x)
i) Bad men never have friends
(Bx - bad man, fxy - x has y friend)
i) Lakes are smaller than river.
(Lx-x is lake, Rx -x is river, Sxy - x is smaller than y)
iv) Every thing is attracted by all magnets.
(Mx - x 1s magnet, Axy x is attracted by y)
v) Dead men tell no tales.
(Dx - x 1s dead, Mx- x is a man, Tx - x is a tale, Txy - x tells y)

[4701]Ext.-569 -3-



05) Write short notes on any four of the following:

a)
b)
c)
d)
e)
f)

Logical syntax.

Instantiation.

Quantification rules (Revised).
Invalid argument in predicate logic.
Diadic relations.

Identity as a relation.

1747
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Total No. of Questions : 5]

P831

[4701]EXxt.-569
S.Y. B.A.
LOGICAND METHODOLOGY OF SCIENCE
G -I1I1 : Formal and Relational Logic
(2013 Pattern)
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D (pva)op
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fehan
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197 3)

97 4)
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i) (3x)(y) (Fz)Ayz 2 Ayx | (y)(3z)Ayz/ . (3x)(y ) Ayx
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Total No. of Questions : 5] SEAT No. -

P832 [Total No. of Pages : 8
[4701]-Ext.-570
S.Y. B.A. (External)

SOCIOLOGY
(Group A) G -2 : Population and Society
OR
Group B (G-2) : Introduction to social welfare and social Legislation
in India
(2013 Pattern)
Time : 3 Hours] [Maximum Marks : 100

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.
3) Attempt Group ‘A’ or Group ‘B’

Group A (G-2) - Population and Society

Q1) Attempt Any One of the following questions: [20]
a) Define population studies. Explain the scope of Population Studies.

b) Give briefreview of family planning programme in India.

02) Attempt Any One of the following questions: [20]
a) Explain the Malthusian theory of population growth.

b) Give brief review of Indian population policy after Independence.

03) Attempt Any One of the following questions: [20]

a) Define census. Explain the importance of census.

b) Describe the nature and characteristics of Indian population.

PTO.



04) Attempt Any One of the following questions: [20]

a) Define mortality. Describe the factors of affecting on mortality.

b) Discuss the concept and objectives of population education.

05) Write short notes (Any Two) [20]
a) AIDS awareness.
b) Economical factors affecting on fertility.
c) Marxist Perspective of Population growth.

d) Relationship between population and poverty.

1747
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Total No. of Questions : 5]

P832 [4701]-Ext.-570
S.Y. B.A. (External)
SOCIOLOGY
(Group B) G-2 : Social Welfare and Social Legislation in India

(2013 Pattern)
Time : 3 Hours] [Maximum Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.
3) Attempt Group ‘A’ or Group ‘B’

Group B - Social Welfare and Social Legislation in India

Q1) Attempt Any One of the following questions: [20]

a)  Whatis social welfare? Elaborate the historical review of social welfare
programme.

b) Explain the fundamental rights and fundamental duties.

02) Attempt Any One of the following questions: [20]
a) Explain the various legislation for women welfare.

b) What is the mid day meal scheme? Discuss the impact of mid day meal
scheme on children.

03) Attempt Any One of the following questions: [20]
a) Discuss the various issues of dalits in India.

b) Describe the constitutional provisions to safeguard the interests of
scheduled tribes.



04) Attempt Any One of the following questions: [20]

a) Discuss the problems of people with disabilities.
b) State the meaning of civil society explain the importance of civil society
for social welfare with marginalized groups.
05) Write Short notes (Any Two) [20]
a) Concept of Social Development and Human rights.
b) Juvenile Justice Act 2011.
c) The Rehabilitation Council of India Act 1992.
d) Role of Media in Social Welfare.
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Total No. of Questions : 5]

P832

[4701]-Ext.-570
S.Y. B.A. (External)
SOCIOLOGY

(Group A) G -2 : Population and Society
OR

Group B (G-2) : Introduction to social welfare and social Legislation

in India
(2013 YY)
(AT EUTR)

ge :3 @@ | [ T 707 : 100

1) & g97 @islav smavas g,

2) ITHIFSIT Ik TvTE QUI T FIHAATA.
3) W & fFar T yvTulAeT isard
4) @eutardt gor 3TA TIIalAST TgTel.

97 1)

97 2)

97 3)

Group A (G-2) - Population and Society
WA SHIVTCTE Teht ToAT= I forat. [20]
)  ARETET FTATETH SATEAT RN, RO ST SaTH T8 .
q) HRATHA $hed AT ShIHshHTE ATSHIT SATET gl

WIAeTdeh! ShIVTCTE Uhl T9-TS TR foTal. [20]
HA) AREE TR HIeYHEaTd! fgea T .
q) TR HRAT AREEAT ST 2SI STETET =T,

WTATcTdeh! ShIUTEATS! UehT T9AT= IR forgn. [20]
A) TEUERE SRS gl SREE AE T .
) R AREEE TR 9 s v w0,

-5



T974) WIATAdh! HIUTETE Tehl T9ATE IR fotal.
HA) AN SHTEA TR, Aedaett THIfEd SFRUT=an Ueehiel 9uid .

d)  AREEH OTIUT HeheuAT AT ST == .

g7 5) & fer. (R )
) uSH AiE At
q)  SATER URUTH SHUTR 3T Teeh.
®) CAREEH dTE "I R,
B) TAREGAT ST SNGA AT He.
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Total No. of Questions : 5]

P832 [4701]-Ext-570
S.Y. B.A. (External)
SOCIOLOGY
(Group B) G -2 : Social Welfare and Social Legislation in India

(2013 Ye)
(AU TaTR)
gz :3 @ | [ T 707 : 100
g ;1) @ g7 @islavl siravasds Sigd.
2) ITHIHSIT JE TS GUT OT FVHEATA.
3) we 3 fFar T uyIaAsT @igErEt
4) TeHIarst g s TIAIEABT TETE.

Group B - Social Welfare and Social Legislation in India

g7 1)  WIciiciaehl HIVITE! Ukt U9 3R forar. [20]
)  TETS FHoATUT TZUTS Thid ? AT THTS heT0T ShIEishHT UfdgiHeh STaTa
forg .

q)  HAYA TH o HAA Hd TE .

go72) WU HIUTETE Tehl U9 IR foral. [20]
H) Wigen HeAUTESEA fafay T T &

F)  HEATE WIS AT U h1d ? AEATE WIS A=< HeATaR g1 TROTHI
== .

g973)  WIcAlcTUeh! ShIUTATE Tehl U9 IR foTat. [20]
) WRATHA giotdren fafay Jeaer == .
F)  AfCAT gehTeAT TRETUTHTS! SrHuT=n fafay eyt aRgare JuiH .



T974)  ETElTaht HIVETE TeRt T9H ST forar. [20]
1) o saehicen awEn ==l .

F) AW T 1Y foter. Hiideh SrgTean HIHTTeh ShedTuTaTst AN HHIST
Rt T wA.

7g75) & forl. (RO g) [20]
) EHITh SR Tehe Ul o AIHET gehiel HehouT.
q) o A gk wraar 2011.
) WRAE g sEe 1992,
T) I hodTuTHEd HITTH QiHeRT.
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Total No. of Questions : 5] SEAT No.

P833 [Total No. of Pages : 4

[4701]EXxt.-571
S.Y. B.A. (External)
SOCIOLOGY

Foundations of Sociological Thought
(2013 Pattern) (Special Paper - I)

Time : 3 Hours] [Maximum Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Attempt Any One of the following questions:

a) Explain the law of three stages by comte.

b)  What is class struggle? Explain the theory of class struggle.

02) Attempt Any One of the following questions:
a) Discuss the theory of social Action.

b) Explain the Development of Sociology in India.

03) Attempt Any One of the following questions:
a) Discuss the theory of caste by G.S.Ghurye.

b) Explain the concept of Sanskritization.

[20]

[20]

[20]

PTO.



04) Attempt Any One of the following questions: [20]

a) Explain the social Background of Indian Nationalism.

b) Explain the theory of origin of caste by Dr. B.R. Ambedkar.

035) Write short notes (Any Two) [20]
a) French Revolution.
b) Historical Materialism.
c) Dominant caste.

d) Concept of Religion.

1747
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Total No. of Questions : 5]

P833

[4701]EXxt.-571
S.Y. B.A. (External)
SOCIOLOGY

Foundations of Sociological Thought
(2013 Pattern) (Special Paper - I)

(AU EUTR)

g :3 @@ |

L

1) & yv7 @isfavl snavaew g
2) IS AF  TIHIR QUi JUT AT,
3) TgYuiard? gw sa<t TvTqlAT UgTaEl.

[ T&vr 71 - 100

97 1)

97 2)

g97 3)

WTeAicTteh! ShIUTeATE! Tehl T 37 forgt.
A) HIFE T A i A= Fam s 1.

) o - T U T ? S —EEuien Mg T8 .

WIclieTueht SHIVTETE Ueht T IR fora.
) EINTR Helledl HLgareR Tt &

q) HRAA qETSTETen o 9 w4

WTeAIcTUeh! ShHITTATE Teht T9T IR foTgl.
) .UE. GH A AR ST fHEgTarer = .

F) EEHARUTEl Heheul TUEE .

[20]

[20]

[20]



g974) WieAcieh! ShIvTeTg! Ueht Tl TR forgt.

) HREAE TSI AT TI9Asl T8 .
d) o of.2IR. SR T AR SATedT Scaxien [Hedid T8 .

yp75) & foran (wiorear 3F)
A) TR USRI,
F) Ui Hifdware.
®)  THTE .

) AT Eeheudl.
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Total No. of Questions : 5] SEAT No.

P834 [Total No. of Pages : 4
[4701]EXxt.-572
S.Y. B.A. (External)
SOCIOLOGY

S -2 : Indian Society : Issues and Problems
(2013 Pattern) (Special Paper -2)

Time : 3 Hours] [Maximum Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Attempt Any One of the following questions: [20]

a) Elucidate the interactionist and conflict theoretical approaches no study
the social problems.

b) Define poverty. Explain the causes of rural and urban poverty.

02) Attempt Any One of the following questions: [20]

a) State the meaning of religious minorities. Explain the problems of religious
minorities.

b) What is gender?? Discuss the economic and cultural factors of gender
discrimination.

03) Attempt Any One of the following questions: [20]

a) Explain the causes of regional imbalance.

b) Discuss the nature of caste and community related crimes.

PTO.



04) Attempt Any One of'the following: [20]
a) Elaborate the problems of aging.

b) Discuss the role of state dealing with social problems.

05) Write short notes (Any Two) [20]
a) Causes of social problems.
b) Nature of religious fundamentalism.
c) Cyber crime.

d) Problems of Youth.

1747
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Total No. of Questions : 5]

P834

[4701]EXt.-572
S.Y. B.A. (External)
SOCIOLOGY

S -2 : Indian Society Issues and Problems
(2013 Pattern) (Special Paper - 2)

(AT EUTR)

ge :3 @@ | [ T 707 : 100

L

1) & gy @isfavl snasaew g
2) IS HFE TIATA QU JOT AT,
3) TRYIEIST @& 3T TIAqIAHET TgTa.

97 1)

97 2)

g97 3)

WTeiIcTdeh! ShIUTEATE! UehT T9ATR 37 foral. [20]
) IR TR FETTTEAT ATAHATHE o HEHTcHeh gIYehHTl foraut &hl.

q) Qg saren fegt. aror 9 wigh gl wRu T9E .

WTiIcTUeh! ShIUTATE! UehT T9ATE 37 forl. [20]
A) enfdes AeuEETn e forg. enfieh SrcueeaTehl THEn T8 &,

F) TomwE Tgu w7 forra famwdean onfes & Wikehides geshi Tl .

WTiIcTdeh! ShIUTEATE! UehT T9ATR 37 foral. [20]
3) TR SEHATE! ROl T .

q)  ATCH ST ST AT Halea Treiiean TerEuTe Te .



To74) TEICIAdeh! ShivTcaTE! Ueht T9-Tel 37 foTar.
H)  FeRTERIT (FegTeA) THE 9T .
q) ETHIRh T EATeuTt ST TSaTe iHen favre .

gg75) & forgr. (howErdt gm)
1) WIS YA (FTREITR) RO,

q) i JeaagTe e,
®) HER T (TR TR)
g) gashra Uy (TWEE)
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Total No. of Questions : 5] SEAT No.

P835 [Total No. of Pages : 4
[4701]EXxt.-573
S.Y. B.A. (External)
ANCIENT INDIAN HISTORY, CULTUREAND ARCHAEOLOGY

G - II : Outline of Political , Social and Economic Institutions of
Ancient India (600 B.C. to 1200 A.D.)

(2013 Pattern)
Time : 3 Hours] [Maximum Marks : 100

Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer any one of the following questions: [20]

a) Explain the Archaeological sources of the Political, Social and Economic
Institutions of Ancient India.

OR
b) Discuss the different types of State.

02) Answer any one of the following questions: [20]

a) Discuss the nature and function of ‘Sabha’ and ‘Samiti’ as public
institutions in Ancient India.

OR
b)  Which were the different types of courts in Ancient India?

03) Answer any one of the following questions: [20]
a) Describe the varna system in Ancient India.

OR

b) Take areview of the position of women in Ancient India.

PTO.



04) Answer any one of the following questions:

a)

b)

Explain the various industries in Ancient India.

OR

Give a detailed account of Ancient Indian foreign trade.

05) Write short notes (any two):

a)
b)
c)
d)

Features of Ganarajyas (Republics).
Saptanga Theory.
Ancient Indian Universities.

Ancient measurements.

1747

[4701]Ext.-573

[20]

[20]



Total No. of Questions : 5]

P835

[4701]EXt.-573
S.Y. B.A. (External)

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY

G - II : Outline of Political , Social and Economic Institutions of

Ancient India (600 B.C. to 1200 A.D.)
(2013 Pattern)

(TS TATaR)
ge :3 @@ | [ T 707 : 100
geEr ;1) @ 99T AIEvaes g,
2) ITeiwSier siw FvAre quf ot FviEEr.
gp7 1) Wil ShivedTdl Ueht T e ot [20]
) A WRARE USTehid, WG 3 ST STl Siagrret Juaweia diem
WE .
fekan
F) e fafay TwRi T o,
Ty72) W HUETE T TYe I R [20]
) A HRATAE FIehEwel TEU 9T 9 AiHd e Ty 3 SEifawdt o 4.
fekan
d) U WRAE e TehR ShivTd gid ?
g973) WA HIVETE Tkt 99 ST forgt. [20]
) T WRATH SUIsTarEerel qui ol
fekan

F) WA WRAE S ferden steren .
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T974) @A hivTeATE Ukl U9 IR fotgl.
HA) RN WRATE f&fay samee T &,
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F) RN AR TS SR it g g

775) & for. (S 9)
H) TR ST
o)  wwm R
W) WA 9RdE e
¥) UNH AW,
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Total No. of Questions : 5] SEAT No. :

P836 [4701]Ext.-575 [Total No. of Pages : 4

S.Y. B.A. (External)
STATISTICS (General - I)
Sampling Techniques and Statistical Process Control

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3)  Use of calculator and statistical table is allowed.

4) Symbols and abbreviations have their usual meanings.

Q1) Attempt each of the following:
a) State whether each of the following statement is true or false: [1 each]

i)  Probability that the unit is selected at first draw is same for SRSWOR
and SRSWR

i) The assignable causes in the manufacture can be discovered &
corrected.

i) Pareto diagram is a simple bar diagram of causes.

iv) The control chart is usually maintained for averages and not for
individual components.

v)  Systematic sampling is always precise than simple random sampling.
b) Ineach of the following cases, choose the correct alternative: [leach]
i) TheCL&LCLonan X chartare respectively a & b. Hence the
UCL on the chartis
a) 2atb b) atb

c) 2a-b d) a-b
ii)  Natural tolerance band is always
a) 30 b) 60
c) O d) None of these

PTO.



iii) When lot accepted on the basis of second sample in double sampling
plan the total inspection is

a) n b) n

1

c) nstn, d) N

2

iv) In stratified random sampling with k strata the size of subsample
(n,) from i stratum using proportional allocation is

a) n a NS b) naN
¢c) n a NC d) None of these

v) Let the population is S={a,b,c,d} and sample size is 2, then the
probability that a specified unit is included in the sample is

L Lol
2 o3
o 3 )
c) Answer in brief: [2 each]

i)  Write down the control limits based on average sample size for p-chart
ii)  State merits of systematic sampling.

iii) State an unbiased estimator of population total in stratified random
sampling.

iv) Explain the factors to be considered for basis of subgrouping.

v)  Explain the working plan of single sampling plan.

02) Attempt any four of the following o [4%x5=20]
a)  Write note on SRSWR and SRSWOR.
b) Describe in brief the construction of control chart.

c) Consider a single sampling plan N=400, n=50,c=1. Find probability of
acceptance for incoming lot quality 0.01. Also find the corresponding
ATI.

[4701]Ext.-575 -2-



d) Distinguish between chance causes and assignable causes of variation.
e) Incase of SRSWOR derive an expression for the probability of including
a specified unit of the population in the sample.
f)  State various criterions for detecting lack of control.
03) Attempt any four of the following: [4%x5=20]
a) Discuss the methods to control non-sampling errors.
b) Obtain var (Y_n) in SRSWR case.
c) Explain the procedure of double sampling plan and also write down the
advantages of double sampling plan over single sampling plan.
d) Define following terms
i) AQL
i) LTPD
i)  ATI
iv) Consumer’s Risk
e) Construct appropriate control chart for the following data.
SampleNo. |1 [2 (3 (4 |5 |6 |7 |8 (9 [10
No.of Defects|3 |4 [4 |5 |1 |3 |4 |2 [4 |5
f)  Explain the purpose and use of SPC.
04) Attempt any two of the following;: [2%10=20]
a) Define the following terms.
i)  Specification Limits
ii)  Natural Tolerance Limits
iii) Probability Limits
Also compare natural tolerance limits and specification limits.
b) Describe all process capability indices for a stable process.

[4701]Ext.-575 -3-



c) The values {(X,Y))i=1,2,3,4,5} in a sample of size five are as follows:
X112 12 |3 |4 |4

1

Y [4]5 [6 [8 10

The population total of 50 observation of X is known to be 100. Obtain
the regression estimate of population total of Y.

d) 1) Obtain an unbiased estimate of population mean for the data given

below:
Stratum N n Stratum mean
Large 100 8 14.875
Small 80 6 17.5
Medium 50 3 12.3333

i)  With usual notations, prove that
Var(X)_ . >Var(X,)P.A
05) Attempt any one of the following: [1x20=20]

a) Thirteen samples of size 6 each are drawn from the production process
after every three hours.

Values of means and ranges for each of the thirteen samples were as
follows:

Sample No| 1 2 3 4 5 6 7 8 9 10 |11 12 13

Mean(X) | 190 {225 |200 220 | 250 | 285 | 260 | 240 | 230 | 275 | 180 | 195 | 240

Range(R) | 45 [ 8 [ 75 | 40 | 90 | 110 | 80 65 | 55 170 | 8 | 50 70

Construct ()? ) and R chart to examine that the process is under control

[Given n=6,D =5, d,=2.534,D,=2.004, A,=0.483]. Suggest control limits

for future.
b) 1  Whatdo youmean by auxiliary variables? Explain with two examples
how these variables are useful in sample surveys. Also discuss
estimation of population mean using knowledge of auxiliary variables.

i)  Consider a population of 5 units with values 1,2,3,4,5. Write down all
possible samples of size 2 without replacement from this population
and show that samples mean is an unbiased estimator of population
mean. Also show that sample mean square is an unbiased estimator
of population mean square.

1777

[4701]Ext.-575 -4-



Total No. of Questions : 5] SEAT No. -

P837 [Total No. of Pages : 7
[4701]Ext.-579
S.Y. B.A. (External)
APPLIED STATISTICS (General)
Applications of Statistics and Theory of Probability
(2013 Pattern)

Time : 3Hours] [Max. Marks : 100
Instructions to the candidates:

1) Allquestions are compulsory.

2)  Figures to the right indicate full marks.

3) Use of statistical tables and scientific calculator is allowed.

4)  Symbols have their usual meaning.

5) Graph papers will be provided on request.

Q1) Attempt each of the following :

)

b)

State whether the following statements are true or false : [1 each]
) O0<P(A)<1
i) P(AnB)=P(A)xP(B)
i) IfR ,,=1thenR, . =0
iv) If X follows P(5) distribution then its mean is 5.
v)  The probability mass function of a discrete random variable X is :
Px) =k, X=1,2, ..., 10.
= 0 otherwise
Then the value of k will be 1/10.

Choose the correct alternative : [1 each]
i)  If the equation of plane of regression of X on X, and

X, is X, =20 + 2.2*X +0.86 X, then estimate of X when X, =20
and X, =72 will be

a) 124 b) 125.92
c) 1205 d) 125.82

P.T.O.



i If then

a) P(A)<P(B) b) P(A)

c) P(B)=1-P(A) d) P(A)=P(B)

i) Let A and B be any two events associated with an experiment.
Suppose that P(A) = 0.5 and P(A U B)= 0.9 then what will be the
value P(B) if events A and B are independent ?

a) 0.89 b) O
c) 045 d 05
iv) If X follows B(5,p) distribution with mean 2.5 then sd(X) is
a 1 b) 5
c) 25 d) 125

v) For adiscrete random variable X, if E(X?) = 25 and E(X) = 3 then
variance of X will be

a) 16 b) 20
c) 14 d) 10
c) Answerinbrief: [2 each]

I)  State the axioms of probalg{l@g:l6 and o2 =32
i)  Define probability model. =~ 5 ’

i)  State any two practical situations where multiple regression can be
used.

Iv) If X andY are two independent discrete random variables with

then compute V(3X+2Y).

v) For a certain population, the age wise distribution of number of
deaths is given in the table below.

Age group No. of No. of
(inyears) persons deaths
0-10 800 15
10-20 1200 8
20-60 2000 20
60-100 600 19

Compute the CD R.

[4701]Ext.-579 2



Q2) Attempt any four of the following : [4 x 5 = 20]

a)

b)

d)

I)  Give classical definition of probability.
i)  Discuss the limitations of classical definition of probability

One card is drawn from a full pack of playing cards. Three events A,B
and C are defined as follows :

A Ared card is drawn,

B : Aclub card is drawn,

C : King of club is drawn.

Check whether the events A, B, C are pair wise independent.

The mean, standard deviation and correlation coefficients obtained for
three characteristics X, X, and X, are given below :

X>=80, 0,=40, r,=07

X3=655, 0,=12, r,=0.65
Compute b12.3 and b13.2. ii =100.5 , o, = 25 | r, = 0.6
Explain the following components of time series.
I)  Cyclical variations
i)  lrregular variations

The data given below are the average quarterly prices of a certain
commodity (in Rs.) for different years. Compute seasonal indices by
simple average method for these data :

Quarter I ] Il IV
Year
2000 68 50 65 62
2001 65 65 55 68
2002 75 60 65 65
2003 115 75 70 95

[4701]Ext.-579 3



f) 1)  Define permutation and combination of n objects taken r at a time.
i)  Acardisdrawn at random from a box containing 10 cards numbered

1 to 10. Let A be the event that the number on the card drawn is
odd and B be the event that the number on the card drawn is less

than 5. Obtain P(A), P(AN B).

Q3) Attempt any four of the following : [4 x5 =20]

a) Inhow many ways can 6 Books and 2 dictionaries be arranged in a row
to attend a certain ceremony so that :

)  Two dictionaries are side by side.
i)  Two dictionaries are strictly in one in each corner.

b) Describe the method of estimating seasonal indices by ratio to moving
average method

c) Explainthe concept of multiple correlation and partial correlation in case
of trivariate data.

d) Explainthe following terms:
) sample space
i) event
i) intersection of events.

e) The price index numbers for year 2010 calculated with the base year
2005 using Laspeyre’s and Paasche’s formula are given by 125 and 146
respectively. Compute the price index number by Fisher’s and Dorbish

Bowley’s formula.

f)  What is time series? Discuss its uses in practical situations.

[4701]Ext.-579 4



Q4) Attempt any two of the following :

3)

b)

[2 x 10 = 20]

I)  Define discrete uniform distribution and state its mean and standard
deviation. Also give any two real life situations where the uniform
distribution is applicable. [5]

i) Define: [5]
I)  Expectation of a discrete r.v.
I1) Expectation of a linear function of a discrete r.v.
I11) Variance of a discrete r.v.

The joint distribution of (X,Y) is given below : [10]
Y 1 2 3
X
-1 2C 0 2¢C
0 C 2C 3C
3c 3C C
Find1)  the value of c.
i) P(XY >0).
i P(X>1|Y<2).
Iv) Marginal probability distributions of X and 'Y,
v) E(X)and E(Y).

Compute GFR, ASFR, TFR, GRR and NRR for the following data
assuming the sex ratio at birth as 105 males : 100 females. [10]

Age No. of women No. of births Survival factor
(in 1000)
15-19 | 500 22000 0.969
20-24 | 350 65050 0.967
25-29 | 270 62050 0.963
30-34 | 240 27500 0.958
35-39 | 260 12000 0.952
40-44 | 280 1100 0.942
45-49 | 250 250 0.928
5
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Define Poisson distribution. State the additive property of Poisson
distribution. Also give real life situations where this distribution is

applied. [5]
i)  Anunbiased coin is tossed three times. Let X be the number of tails
observed in the three tosses. Obtain the probability distribution of X.
Further obtain E(X). [5]
Q5) Attempt any one of the following : [1 x 20 = 20]
a) 1) Write a note on following mortality rates and discuss their
advantages and limitations : [10]
I)  Crude Death Rate (CDR),
I) Specific Death Rate (ASDR),
[11) Standardized Death Rate (STDR).
i)  The probability distribution of a random variable X is given in the
table below : [5]
X 2 | 4 6 8 10 | 12
P(X=x){ 01| 01| 02| 03|02 | 01
Find E(X) and V(X).
i) The number of cars crossing a bridge during a certain interval (X)

follows Poisson distribution with mean 6. Find the probability that
during a randomly chosen interval of time. [5]

I)  only two cars will cross the bridge,

I1) at least two cars will cross the bridge.

[4701]Ext.-579 6



b) 1)  Fortwo-dimensional discrete random variable (X, Y) define : [10]
I)  probability mass function of (X, Y)
I1) marginal probability distributions of X and Y
[11) conditional probability distribution of X givenY =y
IV) conditional mean of X givenY =y
i) Let (5, 0. 6) and (5, 0. 6) be independent variables.
Find : [10]
)  P[X+Y<9]
)  P[(X+Y) >8]
) P[X=5|X+Y =9]
IV) E[5(X+Y) +2].

& Xy B
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Total No. of Questions : 5] SEAT No. -

P838 [Total No. of Pages : 8

[4701]Ext.-580
S.Y. B.A. (External)
PHILOSOPHY
Introduction to Applied Ethics (Alternative Course)
(2013 Pattern) (General Paper - 1)

Time : 3Hours] [Max. Marks : 100
Instructions to the candidates:

1) Allquestions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Critically examine the arguments for anthropocentrism. [20]
OR
State and discuss ethical issues related to experimentation on animals.

Q2) Discuss the notion of patient's rights in the context of paternalism. [20]
OR
Critically discuss the arguments against abortion.

Q3) State Ringer's views on friendship. Do you agree with him Give reasons for
your views. [20]

OR

Describe the nature of corporate Ethics and explain the notion of corporate
social Responsibility.

Q4) Critically discuss the traditional views about marriage and family. [20]
OR

Elaborately discuss the significance of freedom of expression in the context
of media ethics.

P.T.O.



Q5) Write Short notes on any two of the following [20]
a) Kahlil Gibran's views on friendship
b) Land ethics
c) Relevance of hippocratic oath.

d) Mediaand violence.

Bee
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P838

[4701]EXxt.-580
S.Y. B.A. (External)
PHILOSOPHY
Introduction to Applied Ethics (Alternative Course)

(2013 ¥eH) (General Paper - 11)
(TSt TUTR)

d% . 3aH| [gegor o7 : 100
geqt © 1) | 99 qislavt sTavasE Sied.

2) SwifieEier sieh ot 1T gvifaare.

3) @RHAIS Ho& TPTalAHT TgTal.

U 1) Sk dIeTedl SN STHUTT Jiehargra fafeheaeh Uieror . [20]
fepan

U9 2)  UTCThAIETedl HEHid ST ok a1 shod-eil Tl ohdl. [20]
femen

TejuTaTean feRiEht sreuT= gihaTeren fafcheeh Tt .

uyd 3) Hiteee R i foem wien. gt creantt vewa og w2 geean faemnT

SHIUT |AT. [20]
feran

SRS S AITRETeA TR JUIH Sl STTT0T STRTHHETEAT |THINh STaTagRe!

THETAT T HA



Uy 4) Toarg snfun iga TeEsie uRuRes faamiE fifchaash @ . [20]
feRen
TETHTAT AT Hewia STeh! TaTa=amean Hgeareit Afefr <= &,

YA 5) Wrelerieh R iR wim A [20]
) Wi @t e o foem
)yt Hifaeme
¥) TRedisheds=an Yol TEgaal
q) e s e
R
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P838
[4701] Ext.-580
S.Y. B.A. (External)
PHILOSOPHY
Philosophy of Indian Saints
(2013 Pattern) (General Paper - 1)
Time : 3Hours] [Max. Marks : 100

Instructions to the candidates:
1) Allquestions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Explain the role of Saint's as socio-cultural reformers. [20]
OR
Explain Basaveshvara's views regarding Pravritti-Nivritti

Q2) Explainthe impact of Suffi and Vaishnava philosophy on Kabir's thought.[20]
OR
Explain Guru Nanak's concepts of Omkara, Nirmkara and Akala.

Q3) Explain fully saint Jnanadeva's concept of Bhakti, Para Bhakti and Avyabhichari
Bhaki. [20]

OR
Explain saint Tukarama's concept of true Dharma and Pakhanda.

Q4) Explain Bahenabai's views on Non-dualism and Maya. [20]
OR

Explain and evaluate saint Ramadasa's synthesis of Prapancha and Parmartha
in the light of modern society.



Q5) Write Short notes on any two of the following. [20]
a) Characteristics of saint.
b) Janagama - Basa-vesvara.
c) The concept of Pativratya by Bahenabai.

d) Saint Tukarama's concept of God.

Bee
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[4701]EXxt.-580
S.Y. B.A. (External)
PHILOSOPHY
Philosophy of Indian Saints
(2013 ¥eH) (General Paper - 11)

(TSt TUIR)

d% . 3aH| [gegor o7 : 100
gaar 1) §d v aisfant sy e,

2) IS 3ieh qut Ut FIifaard.

3) @RHEIE He5 3T TPTalAHT TgTa.

e 1)  Hd § AT 9 Wikl GURE STed 3 e g w0, [20]
fekan
TECTENE Sat & faw e geieRm v .
Uy 2) Hd HeNeE GHl d J9TE deasiHEre THTE T8 . [20]
fekan

T A R, AR T TTer a1 HehouHT favrg .

U99 3) Td A Wekil, TIWRH § A WehEheu T afae® fave s, [20]
feman
T THRH T SHTE! o YRGS HehouHT a9Tg .

UyA 4) 3Agd 9 U AiEae SguTaTge foem ToE w5, [20]
fehan
Tl THEFA TUaEuRTY Taad gEiehA T8 he, T sy fie T saaedvh
eI A



¥R 5)  WeleTih S iR diem e o, [20]
)  Hare cem
9) W & SEAYER
®)  SRUETSE Uiidored HehodT
q) T RN ST Hehu

Sae
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P839 [Total No. of Pages : 4

[4701]-Ext.-581
S.Y. B.A. (External)
PHILOSOPHY (SPL-1)
Indian Philosophical Approach
(2013 Pattern)

Time : 3Hours] [Max. Marks : 100
Instructions to the candidates:

1) Allquestions are compulsory.

2)  Figures to the right indicate full marks.

Q1) State and discuss major features of Indian Philosophy. [20]
OR
State and examine Carvaka's materialism

Q2) Distinguish between svarthanumana and pararthanumana. Elaborate
pancavayavi vakya. [20]

OR
Distinguish between jiva and ajiva. Elaborate the concept of ajiva.

Q3) Discuss in detail the concept of pratityasamutpada. [20]
OR

State the basic features of Purva-mimansa. Explain the concept of
vidhi-arthavada.

Q4) Explain the concepts purus'a and prakriti. State the relation between them.
(Samkhya) [20]
OR

Explain the concepts Brahman and Maya. (Advaita)

P.T.O.



Q5) Write notes on any two [20]

a) Jainaview of liberation

b) Seven padarthas propounded by Vaisesik dar an
¢) Anupalabdhi pramana
d) Viparita Khyati

BRB
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Total No. of Questions : 5]

P839

[4701]-Ext.-581
S.Y. B.A. (External)
PHILOSOPHY (SPL-1)
Indian Philosophical Approach
(2013 Pattern)

(TSt TUIR)

d% . 3aH| [gegor o7 : 100

guar . 1) 4 gy QIS AEavas .
2)  Serlishdier 3ieh qut T F9iterdre.
3) ue 3USH gvulAeTEl UgTe.

T 1) YR araH I S wigun e v w9
feman
TTaTeRET ST AR T UieTur .

U 2) TEIUHAN ST GUHEE Aidiel §E WL UareEeE STt Wigut .

feren

UYR 3) g HHUE A1 Hehoudl iR adt ol
feRan
GAHIHTET TR A A9 |, faelt siefarg senedn U .

WY 4) &N AT Tehid gl HhoUAT TAE il T Tael .
e
FEA_ SAUT =T AT Fehed T T .

[20]

[20]

[20]

[20]

P.T.O.



WY 5) HIVTETE qreier i fotgt. [20]

Sae
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P840 [Total No. of Pages : 4

[4701]-Ext.-582
S.Y. B.A. (External)
PHILOSOPHY (SPL - 1)
History of Western Philosophy
(2013 Pattern)

Time : 3Hours] [Max. Marks : 100
Instructions to the candidates:

1) Allquestions are compulsory.

2)  Figures to the right indicate full marks.

Q1) State and examine Heraclitus’ and Parmenides’ views regarding the nature of
Universe. [20]

OR
Discuss in detail Plato’s distinction between opinion and Knowledge.

Q2) Elaborately explain Aristotle’s notion of substance. [20]
OR
State and explain St. Aquinas, arguments for the existence of God.

Q3) State and discuss Descartes’ rationalism. [20]
OR
Write an essay on Berkeley’s immaterialism.

Q4) State and discuss Kant’s views regarding the possibility of synthetic apriori
Knowledge. [20]

OR

State and explain Hegel’s absolute idealism

P.T.O.



Q5) Write notes on any two of the following [20]
a) Plato’s theory of Form
b) Relation between God and world according to St. Augustine
c) Leibniz’s monodology

d) Hume’s views on causation

Sae
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P840

[4701]-Ext.-582
S.Y. B.A. (External)
PHILOSOPHY (SPL - I1)
History of Western Philosophy
(2013 Pattern)

(TSt TUIR)

d% . 3aH| [gegor o7 : 100
guar . 1) 4 gy QIS AEavas .

2) IS 3ieh qut Ut FIifaard.

3) e U GvIUlAHT TgTan.

TR 1)  faure et gieded ST URMHATESSH A ok |ig wire uiierur .

[20]
feren
el i A HTT0T T I ShelodT W=l TiaER =<t &.

U 2)  Sifeied Al 9o E Shoudl iR T8 . [20]
feman

U¥H 3) I WU FGrang ST e T . [20]
feman

Tehe! T ITSSAEER Fay fora.

Uy 4) EIGNH WG Y FHIA I FTaad shie ardl foaR |arE e gt &, [20]
feman



U9 5) Wfctet Ueht ShIvTETE Sreier St forar. [20]
) e Fieh ATRR fereEes Suush
F) A ARTIN ATl GIERHTIT 2R ST S AT daed
@) rEgfeE Fen e
g) wHRUN fawEe e O em
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P841 [Total No. of Pages : 4

[4701]Ext.-584
S.Y. B.A. (External)
ADULT EDUCATION- 11
Content, Approach, Method and Evaluation of Adult Education
(2013 Pattern)

Time : 3Hours] [Max. Marks : 100
Instructions to the candidates:

1) Allquestions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Write the efforts of J.K. Nyerere to promote the adult education in Tanzania.[20]
OR

Write the teaching methods of adult education.

Q2) Write the few strategics to improve the SC | ST women literacy in your state.[20]
OR

Write the objectives of National Adult education programme, 1978.

Q3) Write the training needs of S.C | S.T women. [20]
OR

Compare the literacy percentage in 19" and 20" century.
Q4) Write the achievement and evaluation of the adult education in last 25 years.[20]

OR

Describe the various education commission in India to promote adult literacy.

P.T.O.



Q5) Write Short notes on any two. [20]
a) Peer Group Learning
b) Literacy Test.
c) Training of Praraks

d) Management of Adult education

Sae
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P841

[4701]Ext.-584
S.Y. B.A. (External)
ADULT EDUCATION-1I
Content, Approach, Method and Evaluation of Adult Education
(2013 Pattern)

(TSt TUIR)

d% . 3aH| [gegor o7 : 100
guar . 1) 4 gy QIS AEavas .

2) IS 3ieh qut Ut FIifaard.

3) Hawiaret e Fuit FyAalAenT UgTEl.

¥vq 1) . & =AR I T Uie Henms sewdt gt weid ST forgt. [20]
fepan
Tt fPterumdier steamam ugdt forgn.

9T 2) U USARA 3T ST / 31 FHIT ATt Snerdl STHI0T STeeuaris sIgteH

feran. [20]
Rren
TR Hite Prern wriwn 1978 <h skt ferar.
97 3) o Wt / 3T Tl AfgenEdt utvteror W forgr. [20]
fhren

19 = yraeRTdtet & 20 S ITAhIIe! FeRAeAl SFFaiet gotl ol

97 4) e 25 auidic Wefieumeh Sucsth o geamma e forgr. [20]
feRan
TIGHIERAT forehTeT=al g8 WRATAIE fafaer fetun sTremmiieret queite Ui .



97 5) SRl v iR feun fere. [20]
H) HHME T T
q)  EeRal Tl
%) SReRA ST
g) Wieerume serama

Bae
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